DEGSON & TIEEEHIER , e AT IREEHHIYBRS .,

DEGSON is a professibnal industrial connector manufacturer that offers customized solutions to customers.

v
| Soes——— B EEE

BHFAE ossmary

¥k A et 3 EBRLT ¥k iaﬁ&éﬁ ¥k At I ARL T

ROB001 ISO14001 ISOB00TE-1L IATEIE04 B . & 5. ©) € 61 hailS Mty i i, 5 O] 5 B A 1309001 19014001 18.0800T- YR A

v ~ 1 i
| R FeFEEEE | S & = S SR

$x&#t{§§§a' AR Fh A e &3 ABY
ﬁ DEGSON"®

B A REFAEBRLT

DEGSON ELECTRONICS CO.,LTD. o
Add: No.1585. Xiaolin Road. Cixi.Ningbo China  Tel: +86-574-63504333 g,
P.C.: 315321 Fax: +86-574-63512345 § Cw LTI RARBRLE
bbb Sl ls i DEGSON ELECTRONICS CO.,LTD.

b vl Bl ok ool ISO8001 ISO14001 1SOB0079-34 IATF16949 252 Y. & A & C€ Ml & RoHS REAGH



e M & pEGSon’

THERERBEEEUL SEVDEATEIEE
First Lab. authorized by UL&VDE in Asia

UL. VDER; AR5 Visiting UL,VDE

NSTREy

DEGSONFEHARRFHRATRIET 19905 , B—HEHRAR , BIHRARES 7
TIEBSESEEUHIER 2 — , RTNERERATEEREVLIEEVDEIAT S LI=aE
b, FEEREBIT T @ A ® CE Bl & ok REARH EHANE, 2\SHEET TIS09001, 1SO14001, 1SO80079-34,
ISO/TS22163FIATF 169490 B{AZIAIE.

DEGSONEIF-RIGHTE. #E. XE. BAF. mEiF. R=. #5Hh. BE. tHH.
B, XE. A&, HE. BEFF 100 2/ EFRMX , 2T IWEM. &R, B, B
DS, hERE. FHEER. R, BN, BiR. R0, HEETL , REIRIFRRS.

DEGSONEBMESKREV 7T RENHENS , E#BEMLBEZ TEHPL , 29 %
DEGSONELASSHRIS. =EQHT. AR, MNHEREIER , ErteErRHER
. £mE. SUEFRHIIRS.

Brief Introduction

Foundedin 1990, DEGSON Electronics Co., Ltd. is one of the largest manufacturers
of terminal blocks and industrial electrical connection products in Asia.As a high-tech
enterprise, DEGSONowns the firstULand VDE authorized laboratory in Asia.DEGSON
products have been approved by S\. & A ® C€ il & HRoHS REAEH. The company has been granted
ISO9001, 1ISO14001, ISO80079-34, ISO/TS22163 and IATF 16949 management system
certificates.

@ RARESEFIVDEF) , ERNVDEUEREAGIGE

@ visiting VDE, VDE office gave a warm welcome
to our general manager Mr.Ding.

@ ULEER SRR S BRE AR R SR HE

@ The general manager of UL global energy &technology division
visit our company

@ VDESERE=IAT : 201057 8VDEIET,[ADEGSON
fURT "VDEIAFTSCIE=" iEH.
ULSCIR=RIAE] : 201343 ULIER[MDEGSONST %
"UL WTDP" IE$.
2016£E4 8 |, ULETAR T COTPEIS=IARREE,
20165E128 , VDERA T TDAPSLY=IA AlREH,
2017418 |, IRISkESZEH,

@ VDE Laboratory Accreditation: In July 2010, VDE
Issued the "VDE Authorized Laboratory"
Certificate to DEGSON' s laboratory.

UL Laboratory Accreditation: UL formally issued
"UL WTDP" certification to DEGSON in March 2013.
On April, 2018, UL-CTDP.

On December, 2016, VDE-TDAP.

On January, 2017, Pass IRIS system audit.

DEGSON products are very popularin China,Germany,UK,ltaly,Spain,Poland,Russia,
India, Turkey,Brazil, USA,Japan,Korea,South Africa,etc.totally more than 100 countries
and areas. DEGSON provides excellent products and service for the customers all over

the world, especially in Industrial Automation, Instrument, Elevator, Electric Power,

. - A . SHEINE AfEIE
Rail Transport, New Energy, Lighting, Telecommunication, Power Supply, Security, 9
Ship-building and SO0 on. sunce unce c“rm“”?{ I:P:urlcwarmm
DEGSON fulfills the sales network all over the world and sets up marketing centers in Bh= e SRR RS
— —— Coant Tent Dista Program (TR} —-.

Germany and Shanghai, China. Pragmatic, Sincerity, Responsibility, Innovation, B =]

i H H - s .8 o B v A ‘s
Harmonious Development, Rule and Win-win. In accordance with these spirits of Pl - - — =

: P , . i P _ COSE COBE - (g =aubild =4
enterprise for 29 years, DEGSON will keep providing more speedy, comprehensive = . ik — ]

- - Zom e AR A AR A BTN
and professional local service to our customers. 2 s =iy ey UL ETEE e T R —
j UL - CTDP VDE - TDAP EX certificate
7 VDE Prif- um‘zem:lﬂemnqslnamn [ - o |
) Py ] TESTING T :
i S |
W i _ W,
e | ] j @&
u‘ i
e il it . tré (6
UL fF458:E228872 1400H#M 165 VDE iF4 1000R#%E TUV EE# EAC iE4 CE iE# FERPEFIES
UL File NO..E228872 1400 items 165 VDE corfificates for 1000 dems TUV certificate EAC certificate CE cartificate Chinese invention patent




M5 Series

i B/% M

o FITHEEER | [P R ATIAIPET.

o REERE | SREZ=EN.

o WSS | ERFRENE. RIS BFE,
o I SHiFEEEERER.

® SHHE : PUR , PVC,

® QPSR © IPBS, IPET,

o WS =lalS,

® &AIECE1076HRME,

Advantages / Features

e Good sealing performance,with IP class up to IP 67.

= Micro connectors, save space.

e Suitable for continuous shock and vibration environment.
* compatible with same series connectors on the market.

@ Cable material: PUR, PVC.

e IP-class: P65, IP67.

@ Wire connection method is optional.

e Compliance with IEC 61076 standard.

i CONTENTS

B ERAERY , ERTLUIRENSHREEREA  THTESRNESH  BUFRETRMFK
SEFEBAHAE. TREEFAREEXRTREGENM™ M.

Circular connector series which functions as signal and power transfer are applied to
device connection in industrial environment. While shielded type and unshielded type of
circular connector are used in field assembly. What’s more, customized circular connectors
can be designed according to customer’s need.

M5 EREUEESE M5 overmolded with cable plug = =+ 02-05 EREERHRIEBHMM Circular Connectors Part Number
M5 EG#RZegE M5 Panel mounting r+= « = wsses sesseesen e 0615 OO00 - s - Ofde - OO0 - OOOOCOIE] - CEJAH
;u?wwcomm @amm’
o3, PPy Gl e
4 ESPE
M8 FEELEEAE M8 overmolded with cable plug «s» s« 18-27 - ORI il =
o A- A-Goding 0 M- Mals Connector (%) B lpte
M8 TEIHRZ2%E M8 Panel mounting «««« s« sesserseesseee 28.45 IS e
M8 BHZ23E M8 Field assembly w-weesseramssssssisassnines 46-53 e - s
| [ SH- Shielded (W) 0 M- Male (4) 1 :::nmcnlo (T A,B,D)
SitInehisided (e SAEEEanME ) For Panel (il T77L: P.R SHSHFL)
o 001:M5*0.5
o MT0.
BII75=E Assemble Style Ea7sL Mating Styls m:'f-.fla."ufl,—,a M)
BT e x:h-PVGULZMTBIm:kG bl
[ A-Assembly Typs (S8t )(Solder) O P-Push Pull (e #4Est) = i
= B-Assembly Type (8L} Scrow) 0 B-PU UL 20848 Black Cable
M12 BREIEE4 M12 overmolded with cable plug === - -+ 56-81 T 15-Soidar Type (R6) —— AN
[1P-PCE Type (180SEBIS0 99- 99
U R-PCB Type (BOEHIEE)
M12 EHRZREE M12 Panel mounting =« «s«csceeeeescenencces 82,113 E?;;:';:';'mm:'
B Style SR Back Shall :MUUW
M12 Ji7ZR % M12 Field assembly «-:ewesmreereeeennenees 114-137 “;}‘Fﬂmmmmm - ;anhmﬁgmwwu;m Emf:ﬁiu
1§ -Socket 0 § - Square (f5EEFor Panel) xx:Lanqé- (150;1 500mm)
(EES For Panel) 00 F - Front Hexagonal (Y87 OMEEFor Panal) = 1 15:450mm 1 30:300mm
0 H - Rear Hexagonal (B8 &2 or Panel) 0 50:500mm
0 W - Front Circular (AHIEIEFor Panel) (1MELEfEF)
0 N - Rear Circular (EE#For Panal) 0 AD:1000mm CA1:1100mm

#ilin :
M5 4H3k4Pin : PM-MB5A-04P-FF-SLTA01-00A(H)
o Hii W |, M5 A-Coding , 4Pin, BEPIn, BEHS , Bk, KEEIPET , PVCRASMEULISITERY , £H1.0M , FRES,

i i saseasaar ees arnans - Forexample:
Ma\ M1z ﬁmﬁ MB‘ M12 Distributor 140-143 MSmeF;Ie plug 4Pin: PM-M5A-04P-FF-SL7A01-00A(H)

Details: Plastic covered at the end of wire, M5 A-Coding, 4Pin, female socket female Pin, thread locked, straight head, IP67, PVC black kacket.
. Covered by UL2517 wire, the length of 1.0M,standard products.
M8 ﬁ%ﬁ MB Ju nction box B Y R PP PEF RPN | 45_1 52

www.degson.com 0 1



ﬁ DEGSON"

M5 Series

ik , Bk,

M5x 0.5 Male Overmolded with Cable
plug,Single end,Unshielded,Straight.

IBE

AW Technical Data

_ )

i BrEkete
Standard IEC B1078 c i PU
BA T n
. Ms, Mals, Straight CopperAlloy, Gold-plated
Pi SR
e 03.04 Pin i Copper Allcy with Nicks| Plated
mﬂ 80 G 1A max. aﬁ Silicone
MR e
R it B0V max. Cabie s t rraterial PUR/ PVC
g Tl
Insuiation resistance =100M3 Shisiding Unshielded
g
m"ﬁm A Mechanical ke 230ikmeting ryniea
ETEE —p5 -~
Ambient temperature ChiaduL b - —
it e 2]
i IPET = —
HE 03 Pin 04 Pin
Number of Pins
L] A-Coded A-Coded
Coded
W 4 ] 4 3
Bedlog Fizi
Front View
1 NS4
RSN
o A, 1A 1A
#RRE
Bl v, 8oV B0V
L
g 260AWG 26AWG
eE
" : 0.44mm? 0.44mm?2
Lt
Wire/Cable i A
s 2WH
R 38U
Wiring list = 38U
: 4BK
i3 gaf -] s
Description Order NO Order NO .
im. PM-MBA-03P-MM-SLTAD-DOAH PM-M5A-04P-MM-SLTAO1-00AH
PVC 3m PM-MEA-D3PMM-SLTANZ-D0AH PM-MSA-04P-MM-SLTADZ-D0AH
5m PM-MSA-03P-MM-SLTAIS-00AH PM-MSA-D4P-MN-SLTADS-00AH
=8 Customizsd | -
m PM-MSA-03P-MM-SLTBL-00AH PM-MSA-04P-MM-SLTEC1-00AH
e am P-MSA-03P-MM-SLTBOG-00AH PM-M5A-D4P-MM-SLTBO3-00AH
sm P-MSA-03P-MM-SLTBOS-00AH PM-M5A-04P-MN-SL7B05-D0AH
m Customizad | amsmse L e

02 www.degson.com

ﬁ DEGSON®

M5 Series

M5x 0.5 =N BRI B4k |, Bim , JF
B, Bk,

M5 x 0.5 Male Overmolded with Cable
plug,Single end,Unshiedled,Angled.

12 [EE5A

#HA#IE Technical Data

208
a2 -
bx.z I'E‘
i -
21/ s
2
L]

g‘* IEC 81078 mc “:"f‘m | PU
=31 M5, Mals, Angled TR CopperAlioy, Gold-plated
Pirgt ik ER%E
Number of Pins 03,04 Pin Metal of nut Copper Alloy with Nickel Plated
uﬁ“m.um 1Amax. BR;II Silicone
HEE E R AT E
Rated voltag B0V max. Cable jack PURIPVC
iyl Z100MA i Unshielded
B FIh
gﬁnﬂ =5m0 Mechanical (e = 100 mating cycles
ImTHEE i
Ambient lsmparature L - _
i
Pl IPET — =
§E 03 Pin 04 Pin
Number of Pins
i A-Coded A-Coded
Coded
£ 4 3 4 3
Coding TR
Front View
1 NN
Hlirzeas
Ratad current i) i 2l
iR
i vaige v 80V 80V
=ik
el 26AWG 26AWG
HliE
& o 0. 14mm?* 0.14mm?
ARkl
Wire/Cable i 1BN
s 2WH
Wiring list :ﬁ 38U
4BK
i imes s
Description Order NO . Order NO.
im PM-M5A-03P-MM-SR7AD1-00AH PM-MSA-04P-MM-SR7AD1-00AH
_ am PM-MSA-G3P-MM-SRZAD3-00AH PM-MSA-04P-MM-SR7AD3-C0AH
sm PM-M5A-03P-MM-SR7AD5-C0AH PNV-MSA-04P-MM-SR7AD5-00AH
=R - 1 =
1m PIV-M5A-03P-MM-SR7BO1-00AH PM-MSA-04P-MM-SR7B01-00AH
i an PM-M5A-03P-MM-SR7BO3-00AH PN-MEA-04P-MM-SR7B02-00AH
5m PM-M5A-03P-MM-SR7BO5-00AH PM-MSA-04P-MM-SR7B05-COAH
JEM4E C e ey

www.degson.com 03



ﬁ DEGSON"

M5 Series

M5x0.5 Mﬁﬁﬂ%ﬁ% ' % [ QEﬁ
W, Bk,

M5 x 0.5 Female Overmolded with Cable
plug,Single end,Unshielded,Straight.

ASEE

BiABIE Technical Data

EH

L5
Standacd IEC 81076 i U
E3l WEHR
Serins M5, Female, Straight R Copper Alloy, Geld-plated
PintiR EREE
Numberof Pins 03,04 Pin PPty Copper Allay with Nickel Plated
o hale RE
Ratsd Cument 1A max. e Silicons
RS Bt
Rated voltage BV . Cabla jacket material PUR/PVC
et 1k T
Insulation resistance =100Ma Shislding Unshielded
BEH
c T =m0 M I e =100 mating eyeles
EFRE =
Ambient tsmparature 25~ +80T = .
Ui
IP Class 1P&7 - —
HE - 03 Pin 04 Pin
Number of Pins
bl A-Coded ACodad
Goded
58 3 4 3 A
Coding T a 0
Front View 0~0
L 2 1
b=
Rated cumrent & L 1A
fiReE
Rated voltage v BOV =
€5l
Wire gaugs 2BANG 2BAWG
SeRE
G i 0. 4dmm? 0.14mm?
FagRraly
Wire/Cable i i
e 2WH
3.8U
Wiring list ik 3BU
' 4BK
$iisA iTae TRE
Description Order NO Order NO
1m PM-V5A-03P-FF-SLTADT-00AH PM-M5A-D4P-FF-SLTADT-00AH
_— 3m PMMSA-03P-FF-8L7A03-00AH PALM5AD4P-FF-SL7AC3-00AH
5m PM-V5A-03P-FF-SLTADS-00AH P-M5A-D4P-FF-SLTADS-00AH
= cooized | .
1m PM-M5A-03P-FF-SLTB01-00AH PM-M5A-D4P-FF-SL7B01-00AH
i 3m PM-V5A-3P-FF-SLTB0G-D0AH PM-MEA-DP-FF-SLTBI3-00AH
5m PM-M5A-03P-FF-SLTB05-D0AH PM-M5A-D4P-FF-3L7BOS-00AH
L C s

04 www.degson.com

ﬁ DEGSON®

M5 Series

Bk Zk.

M5 x 0.5 Female Overmolded with Cable
plug,Single end,Unshielded,Angled.

EEE A

HABIE Technical Data

GE R ]
205

(&‘

o3
Seria IEC 61078 o i PU
R BFHE
s M5, Femals Angled o SRS, CopperAlloy, Gold-plated
Pingt ik ERYE "
N of Pins 03,04 Pin Metal of nut Copper Alloy with Nickal Plated
e (|
Ratsd Current A Seal Siiicone
HEE B
Reted valtags B0V max. Cable jacket material PURJPVC
o
Fatliobor, reeks =100MA Shisiding Unghigided
ke
Contact resistance IR Mechanical life = 100 mating eycles
BT o
Ambient tamperature T - -
i et
1P Cl IPe7 —_ —_
L 03 Pin 04 Pin
Number of Pins
i A-Coded A-Coded
Coded
il MR
Front View OA0
L 2 1
deck
Rated current A bl a5
fobE
Hatid vaitige " B0V 80V
®iR 28AWE
Wire gauge 26AWG
B
Forcus Mt 0.14mm? 0.14mm?
FRE TR
Wire/Cable
1.BN
18N
fize o] a8y 2WH
Wiring list e aBU
A4BK
2 iTips TR
Descriplion Order NO ., Order NO .,
im PM-M5A-03P-FF-SRTAD1-00AH PM-MSAMP-FF-SRTADT-00AH
Pve 3m PAMMSA-03P-FF-SRTACI-D0AH PM-MSA-4P-FF-SRTA0I-D0AH
5m PM-W5A-03P-FF-SRTACS-00AH PW-WSA-04P-FF-SRTADS-00AH
= C -sd ! ___ ..
m PM-MSA-D3P-FF-SRTBO1-00AH PM-MSA-04P-FF-SRTBO1-00AH
PUR am PM-W5A-03P-FF-SRTRO0Z-00AH PM-M5A-04P-FF-SRTBO3-00AH
Sm PM-M5A-03P-FF-SRTBOS-00AH PM-M5A-04P-FF-BRTB05-00AH
B G P P eeeeeeeEGSELLL—————

www.degson.com 05



ﬁ DEGSON"

M5 Series

M5 x 0.5 U EIRELERE , MR
H0.5mSL,

M5 x 0.5 Male Panel Mount Receptacle,
Rear Mounting,with 0.5m wires.

EE2E0A

BEiRMIE Technical Data

12 L

M5*0.5
=

ot TSR
s IEC 61076 c PA
EF BT
5 ME, Mals : Copper Alloy, Gold-plated
Pingti® SREN
SR 03,04 Pin BT Copper Allay with Nicksl Plated
e L)
Rated Current il Seal Sllicons
HEEE W
Riated vol B0V max. Shielding Unshielded
AR rRER e
Viculaion ok =100Ma Mechanical ife > 100 maling cycles
AR — —
c s =5mi
EfTHE e i =
Ambignt tempersture ot
e 2] — —
IP Class IPET
aka g D3 Pin 04 Pin
Number of Pins
03] A-Coded A-Coded
Coded
) 4 a1 4 3
Coding EEE
Frant View
1 PRV,
PR
Rated current e 1A 1A
fEeE
Ratad v B0V BV
5l
WireBitie 2BAWG 2BANG
B
e e 0.14mm? 0.14mm?
Lt )
Wire/Gable
18N 1BK
ring S 38U
48K
fing e ime
Description Order NO . Orcer NO .
0.5m SO-MSA-DIP-MM-SFTAS0-00AH SD-M5A-DAP-MM-SFTAS0-D0AH
it Customized i

06 www.dagson.com

ﬁ DEGSON’

M5 Series

M5 x 0.5 TR ZHEIERE , REIRS% |
F0.5mS4Ls,

M5 x 0.5 Male Panel Mount Receptacle,
Front Mounting,with 0.5m wires.

HE2REA

5 REIE Technical Data

H\

=i
e IECE1076 BFRUEEE S PA
B3 WTHE o
Sert M5, Male : i Copper Alloy, Gold-plated
PinErEE EREE
Numbar of Pins 83,04 Bin Tl it Coppar Alloy with Nickel Plated
i ed ]
Ratad Current el Saal Bilicone
#EEmE i
Raled volb EOV max. Shislding Unshielded
figeg LIS
Insulation resistance =100M2 R, > 100 mating cycles
EER - _
Cantact resistance oy
EfTEE e = B
Ambient lemperalure 23~ TE
g = —
iP Class IPs7
| > 03 Pin 04 Pin
Number of Pins
@n A-Coded A-Codod
Coded
g1 4 3
Coding — 4 2
Front View
1 N N
PR
Rated current A 1A 1A
SRS
Rated voltage v, 80V 60V
i
Wire gauge 26ANG 2BANG
Hekim
& 5 0.14mm? 0. 1mm?
e
Wire/Cabie
- 1BN TN
Wiring list e 2
48K sy
48K
g ims e
el Order NO .- Order NO.
0.5m SD-M5A-03P-MM-SHTAS0-00AH SD-M5A-04P-MM-SHTAS0-00AH
“&sif cwtomized | e

www.degson, com 07



ﬁ DEGSON"

M5 Series

M5 x 0.5 FLEUEIRESIEEE |, WiakE |

TH0.5mSL,

M5 x 0.5 Female Panel Mount Receptacle,
Rear Mounting,with 0.5m wires.

EE2E0A

BEiRMIE Technical Data

125 11

M7*0.75
781

ot T RRE
- IEC 61076 c PA
B3l BT
5 M5, Famale : Copper Alloy, Gold-plated
Pingti® SREN
e 03,04 Pin s Copper Alloy with Nickel Plated
e L)
Rated Current il Seal Sllicons
WREE i
Rt ol B0V max. Shislding Unshielded
ittt ) e
Viculaion ok =100Ma Mechanical ife > 100 maling cycles
AR - —
c F rasieh =5mi
EfTHE e i =
Ambignt tempersture ot
e 2] — —
IP Class IPET
B 03 Pin 04 Pin
Number of Pins
03] A-Coded ACoded
Coded
L] 3 4 3 e 4
Coding EEE
Frant View 0O-0
2 1
PR
Rated current e 1A 1A
Wi
Fatid V. B0V BV
o+ )
Wits gasee 2BAWG 26AWG
B
o e 0.14mm? 0.14mm?
Lt )
Wire/Gable
18BN BN
ring Bk 38U
£.8K
fing e ime
Description Order NO . Orcer NO .
0.5m SD-MSA-03P-FF-SFTBS0-00AH SD-MEA-D4P-FF-SFTB50-00AH
it Customized -

08 www.dagson.com

ﬁ DEGSON’

M5 Series

M5 x 0.5 F,INEIRZIEAERE |, IREIR%: |,
F0.5mS4Ls,

M5 x 0.5 Female Panel Mount Receptacle,
Front Mounting,with 0.5m wires.

HE2REA

5 REIE Technical Data

M5*0.5

=i RTREHH
Standard IECE1078 e BA
= T
M5, Femals i CopperAlloy, Gold-plated
PinErEE EREE
Nimber of Pins 03,04 Pin o CopparAlloy with Nickel Plated
m‘gm 1A max. sl&ll Silicons
‘R El ‘EI A B0V max. “51 felding Unshisided
figeg LIS
Insulat st =100Ma Mechanical life > 100 mating cyclas
fid Lkl = =
Cantact resistance ——
EfTIRN e = =
Ambient lemperalure SNk
R — —
1P Class IP87
5 03 Pi
: n 04 Pin
Number of Pins
sl
F s A-Coded A-Coded
‘iﬂ 3 4 3 & 4
Ceding EmE
Front View 0-~0
i 2 14
PR
Rated current ) 1A 1A
iz
Rated voltage v, 80V 60V
i
Wire gauge 26ANG 2BANG
HEE
& 5 0, 14mm? 0, 14mm?
B
Wire/Cable
1BN +AN
M" i agl) ZWH
& 4BK 2t
&.BK
g ims e
e Ordor NO . Order NO .
0.5m SD-M5A-03P-FF-SHTAS0-00AH SD-MSA-D4P-FF-SHTASO-00AH
=86 Customizad T

www.degson, com 09



ﬁ DEGSON" M5 series ﬁ DEGSON® M5 series

M5 x 0.5 SR & &EE | iRE%R%E | 102 M5 x 0.5 FLNERZERE , RERE

JEFEWE . PCBIEHRE. JEFF#E , PCBIRHE.
M5x0.5Male Panel Mount Receptacle, § M5 x 0.5 Female Panel Mount Receptacle, . [
y ; . 4 ; ; 8 ©
Rear Mounting,Unshielded,PCB Soldering. Rear Mounting,Unshielded,PCB Soldering. g °
15.5
£ [8.] e el L[5 el
FAMIZ Technical Data HAEIE Technical Data
ﬁﬂﬂﬂ IECB107T8 ‘m: dag i PA gﬂ&lﬂuﬂ IEC 81078 mf “:Hﬁﬂ i PA
f'i. M5, Male T CopperAllay, Gold-plated g’}” M5, Femals SFEH Copper Alloy, Goid-plated
Pi R 03,04 Pin mm Copper Allay with Nicks! Plated mpm 03,04 Pin %‘u‘m Copper Alloy with Nicksl Piated
w 1A max. gg Silicone f‘f“‘g L 1A max. . Silicana
wﬁme BOV max. glgﬂ"'ﬂ Unshisldad %EE: tag BOV max. ?PE““ Unshielded
e o =100M0 wee > 100 mating eycles ey AR >100M0 ees > 100 mating cycies
m: e i =5m0 — — *: HI‘F <5m0 — —
Ambient tempsrature e - — mﬁﬁmumm —25~ +85C — S
Etg IPET = = m IPET = e
HE ; : 8 . :
Number of Pins cas i Number of Pins s 5
1) W
Coded A-Coded A-Coded Coder A-Coded A-Coded
c:u?m . 4 3 4 3 c:rm o 3 4 3 R 4
Front View Front View 0~D
1 54 1 2 1
naﬁ:ﬁm A, 1A 1A E me » A A 1A
e
A o - S [ - -
e ws me H#E irme ms
Description Orcler NO . Order NO . Description Order NO . Order NO .
—_ BP-MSA-03P-MM-SFT001-00AH BP-M5A-04P-MM-SFT001-00AH - SP-M5A-03P-FF-SFT002-00AH SP-MSA-04P-FF-SFT002-00AH
R<® DimensionFigure R<E Dimension Figure
25 P B — | EEm—
. ) 7
-+|; i A e ey / \ 2
v e ( ) & A+ _d —t+—] 3
o 4 S| \ ;o= ) it il \ /=
o H / | - )y )
gur. E o ool i 25 | 4+ =1 L
&
PCB HHp PCB HEfh TRERST PCB HifE PCB 5 BRERY
PCB Layout PCB Layout Panel Cut-Out PCB Layout PCB Layout Panel Cut-Out

1 0 www.degson.com www.degson.com 11



ﬁ DEGSON" M5 series ﬁ DEGSON" M5 series

M5 x 0.5 StUEIR L HEHEEE , iRIE%K%

102 M5 x 0.5 St IR L RHERE , WAl%RE h
ﬂEﬁﬁ I Eﬂ;$ﬁﬁa . 3Eﬁﬁ r ﬁﬂ;*ﬁﬁ. 2ok \ ,/"
M5x0.5Male Panel Mount Receptacle, gl ] ):l | M5x 0.5 Male Panel Mount Receptacle, I }?m‘ §
Rear Mounting,Unshielded,Soldering withoutwire. 5 el Front Mounting,Unshielded,Soldering without wire. ‘ "
15
& [28- 16 pEe %, £)148-1 5 %
B AMIE Technical Data B ABIE Technical Data
E&mm IECt0r8 Contact canmers matsrial A gﬁdm IEe Ao m"m matsrial PA
& M5, Mals Rl GopperAlioy, Gold-plated & M5, Male BT i CopperAlloy, Gold-plated
P‘“ﬂﬂg - 03,04 Pin ﬁétl'&.u CopparAlley with Nicksi Piated :MPN 03,04 Pin %’;‘m Copper Alloy with Nicke] Plated
m&m - 1Amax. g: Silicons m‘g o 1A max. g_-l Silicons
wﬁl B0V max. ﬁ dng Unshielded gﬂ% 60V max. géldnn Unshisided
e =100M@ e o > 100 mating cycles - =100M8 nuee > 100 mating cycles
m: H'F S e =5mi — == ﬁ,.. HI“ — =5mf —_ —_
Ambient imperalurs T by - — mﬁimﬂi u_.nm —25 ~ +85C — =&
o IP6T = = ey wer - B
e . . £t . :
Number of Pins sade il Number of Pins L5 it
cﬁ? 1 A-Coded A-Coded c?::d A-Coded A-Coded
= = = =| = & =
Frant View Frant View
1 1 ‘ Z 1 1 ‘ 2
mﬁﬁm A, A 1A wmwm 2 A 1A 1A
o - - o - o
ms oma #of s s
Description Order NO.. Order NO . Description Orcler NO.. Order NO .
- SD-MEA-03P-MM-SFT001-00AH SD-MEA-B4P-MM-SFTO01-00AH —_ SD-M5A-03P-MM-SHTOO01-00AH SD-MEA-04P-MM-SHTO01-D0AH
R<® DimensionFigure R<®E DimensionFigure
Pt e P ] "
/ pr / %
| n \l
'\ ! 2 ,r'll
N . / = i
RERY BERY
Panel Cut-Out Panel Cut-Out

1 2 wWww.degson.com www.degson com 1 3



ﬁ DEGSON"

M5 Series

M5 x 0.5 StUEIR L HEHEEE , iRIE%K%

IR | BT,

M5x0.5 Female Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering

without wire.

|8 @ PRV,

FBAMIE Technical Data

10

e T ket
i IEC 61076 o PA
B3l T
M5, Femals c CopperAlloy, Gold-plated
PinfHit ik ERYE
i 03,04 Pin it CopperAlisy with Nicksl Plated
TR Ls ]
Rated Current dsme Sesl Silicone
w&,,, B0V max. ﬁdw Unehielded
ke 2T E) imEs
s ulalin reaiek =100Ma M e =100 maling cycles
Eme=m <5nn — —
res|
Ambient tsmperatura R = =
Lt — —
P Class IP6T
B 03 Pin 04 Pin
Number of Pins
kil Acoded A-Codsd
Coded
#E 3 4 3 o .
Cooding TR
Frant View OO0
/ 2 »
HETREE T
Rated current % L 1A
#iesrs
Rated voltage v B0V i
i Tae e
Description Order NO.. Order NO .
— SD-MBA-03P-FF-SF7002-00AH SD-MSA-04P-FF-SF7002-00AH
R<® DimensionFigure
/ 3
[ |\ &
' / E
kY A
> - 1/
0 |
P,
RERT

14 wWww.degson.com

Panel Cut-Out

ﬁ DEGSON"

M5 Series

M5 x 0.5 FLEER & RTERE |, IRATRE |

R SRR,

M5 x 0.5 Female Panel Mount Receptacle,

Front Mounting,Unshielded,Soldering

without wire.

28 @ PEAY.

#AMIE Technical Data

6.2

e BFEkEE
Standard IEC 61078 o S PA
i WFHE 3
M5, Famale : | Copper Alloy, Gold-plated
Pingt ik SREE
Number of Pins 03,04 Pin Mestal of nut Copper Alloy with Nicksl Plated
HiEER o
Ratsd Current A max. ik Silicane
gda\ﬁme 60V max. %N Unshialded
BigmE HEw
Insulafion resistance =100Ma o > 100 mating cycles
HRIERE — =
Conlact resistance ama
iEfTiRm =
Ambisnt lamparaturs 25 ~ +8s%T == ki
NP == ==
IP Class P67
L ; 03 Pin 04 Pin
Number of Pins
s A-Coded ACoded
Coded
- IETiR
Front View OO0
y ] )
e
Rated current fr 1A
b
Rated voltage V. B0V
R RS TRe
Description Orcler NO . Order NO .
— SD-M5A-03P-FF-SHT001-O0AH SD-M5A-04P-FF-SH7001-00AH

R<E DimensionFigure

BERY
Panel Cut-Out

www.degson com 1 5



ﬁ DEGSON’

» BEEIESE | BFHPHEBETTIKIPET.

o SMNE RN | SRZEER.

o FIELSRR  REEFTRNEHEN.

o RS ERTRSTE. RAGIAATR.
» BATEHZAINERREAR,

o AL ST R R EEEE .

Advantages

® Good sealing performance ,with IP class up to IP 67.

® Dimension optimization,save space.

o Shield is optional,provide reliable electromagnetic protection.

s Wire connection method is optional, suitable for continuous
shock and vibration environment.

® Connection technology is suitabie for all application field.

@ Compatible with same series connectors on the market.

1 6 www.degson.com

o SB4HE : PUR, PVC,
o [HIPER : IP67 , IP6S,
o kT,

o e FT .

o FEIECE1076HRE,

» Cable material: PUR, PVC.

o |P-class: IP67, IP68.

# Shield is optional.

» Wire connection is optional.

e Complaince with IEC 61076 standard.

ﬁ DEGSON®

M8 Series

Ef:EEREREMAU  Circular Connectors Part Number

EEZERRRE5mSAN  Circular Connectors Part Number Reference

EEEE - vE - OOr - B - CEEEEE - EEA

Pinflif Number of Contacts
oo
03,04,05,06,08F5n(Pinli)
£ Coding ERILISE Connector Style
0 A- ACoding [0 M- Male Connector (£3%)
08 - B-Coding [ E- Female Connactor (85t
ML With or without Shielded IET7EL Contact Type
L 11 SH- Shislded (T 0 M-Male (4} R
0 Unshielded ([HE5HE) O F-Female (5)
WIS Assambie Style FERTE Mating Style
COM-Molding Type (EL8=T) 0 8- Screw ()
Bk iy Type (L) ) 0 P Push Pull (fEkrbss)
[ B-Asgsembly Type ({3850)(Screw)
£ D-Solder Type (L)
[ P-PCB Typa (180MEHEHL)
O R-PCE Type (S0MARIEHL)
CG-Grimping Type (EE#L)
DE-Crimping Cable Type (SARER
SRR
CIL-LED Type (RFLEDK] f18950)
L, Style EEME Back Shell
O P-Piug O L - Straight (B3k For Molding and Assembly)
(ffk For Malding and Asssmbly) Ol R - Right Angle (223 For Melding and Assembly)
1 8 -Socket ©1 § - Square (F5HEFor Panal)
{5EE For Panei)

Eiltm -
1.MBFLZLIHL5Pin: PM-MBB-05P-F F-SL7A01-00A(H)

O F - Front Hexagonal (Bl <SEEiFor Panal)
O H - Rear Hexagonal (Sl FaEEFor Panel)

[ W - Front Gircular (RUSHEIEEFor Panel)
O N - Rear Circular (S #{EEEFor Panel)

¥S7RMR Special coding
004 00-Standards
01~ B9-FEM S
01~889-Extended products

ERSE Quallty grade
H SR
“H* RoHS Compigint

55 WP Class.

O 4=IP54
05=IP6&5
r 6=IP 68
O7=IP&7
O B=IPEB

WKW Serial Number

000: Phantom ERRLHS

Withoul Cable (i T755: A,B,0)
001

For Panel (M1 7720 PR S(M&EL))
0001:M10%0.75

C0D2:M8%0.5

C0D3:M8%1.0

0004:M12*1.0

CI005:M8"1. 038 k)

With Cable (I T7538: M)

x

CA-PVC ULZ517 Black Cable
O B-PU UL20548 Black Cable
[0 C-PYC UL2517 Black Cable For UL
0 D-PUR UL20548 Black Cable For UL
U E-Cate 5 Cable(2Pair/dPair)
O X-Cate 6A Cabla
HH:01 - 1M~
98 - 93M

Panel with wire harness
(T ©,S(Rekat)
EET SRS UL1061

X

1 A(RER):M10%0.75

[ BURER):ME"0.5

O CRER):ME"1.0

U DRl M12*1.0
XX:Length (150~1500mm)
0 15150mm  30:300mm
0 50:500mm

(IMELE®E) O

O AD:1000mm  A1:1100mm

For BB , M8 B-Coding , 5Pin , FEERPIn , RGNS , Bk | MKFRIPE7 , PVCREBSMRULS1TERY , IRE1.0M, R,
2FH "L CNBRT L () . BT ERENS , 1 PMMBBOSPFFSLTAO100AH

For example:

1. M8 female plug 5Pin: PM-MBB-05P-FF-SLTAQ1-00A(H)

Details: Plastic covered at the end of wire, M8 B-Coding, SPin, female socket female Pin, thread locked, straight head, IP67, PVC black kacket.

Cavered by UL2517 wire, the length of 1,.0M, standard products.

2. Delete "-" , “decimalpoint ®, “() ®, “space “thanit 'sthe finish product number,such as: PMMBBOSPFFSLTAQ100AH.

www.degson.com 1 7



ﬁ DEGSON"® M8 scries ﬁ DEGSON* M8 scies

s 243
Ay = = Ay Wi T
M8 x 1 §r={pk BV ERgESL |, iy , EF ( M8 x 1 =l BB gL |, s, JEF ' ; 2
| 5 | i g
W, B3k, B, &L, G ) 0
. g Iy
M8 x 1 Male Overmolded with Cable M8 x 1 Male Overmolded with Cable \
. i i £ i £
plug,Single end,Unshielded,Straight. & plug,Single end,Unshielded,Angled. \ 3
3 3
0. p el wl®
&= | uioa | =3 | uis |
HARMIE Technical Data FiARBIE Technical Data
At RTRHER =i TS HoRE
kol IEC 61076 : . PUIPA o IEG 61076 - el : PU/PA
& MB, Male,Straight WTHE CopperAlloy, Gold-plated =3 MB, Male, Angled TR CopparAlloy, Gold-plated
m o 03,04,05,08,08 Pin mm Coppar Alley with Nicksl Plated m - 03,04,05,06,08 Pin ﬁj‘u'u.m Copper Alloy with Nickel Plated
e (] il ad]
Rated Ci t 3A men Seal Sillcone R Current 3A max. Seal Silicone
SRR s ErErE HiEEE LA R
Rated voltage B0V max, Cabie } el PUR/ PVC Rated volt B0V max. Cable jack torial PUR | PVC
eenE >100M0 oo S0 Unshislded R >100Ma inet 00 Unshielded
FEMEE =5ma m” i o =100 mating cycles HEEH =5m0 ml!li e = 100 mating cycles
EfFEE e " = EfTEE g
ol N 25~ +80°C et liparains 25~ +80C — —
s Rt
B8 1P67 — — iP Class Lt - -
Number of Pins 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin Number of Pins 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
§m A-Coded | A-Coded L
o B-Coded A-Coded B A-Coded A-Coded B-Coded A-Coded
) =] 4
2 4 2 4
Coding — " % Coding —
Front View s 3 3 Front View 1 3 1
B 3 1 3
- 3
PR R
- A 3A 3A 3A 1.54 154 il A 44 34 3A 150 1.5
HiEEER R
el . 8oV 80V 30V v 0V Rasest voltaga v OV BOV v a0v 30V
Gl 24AWG 240G 24AWG 26ANG 26AWG i 24AWG 24ANG 24ANG 26AWG 26ANG
Wire gauge | Wire gauge |
c.n:‘ﬁu 0.25mm? 0.25mm? 0.25mm? 0.14mm* 0.14mm* B 0.25mn? 0.25mm? 0.25mm? 0.14m* 0.14mm?
1WH R 1WH
o] 1BN S5l 28N Wire/Cabls 18N 184 28BN
Wire/Cable 1BN 18N 2WH 2WH 3EN 1BN 1.BN 2.WH 2WH 1.GN
=R 35U 2.WH abil 3BU AYE R i) 2WH = 3BU ANE
Wiring list 380 4BK 56Y Wiring list 18U 48K 5GY
4BK S 4BK A EPK 48K 48K &Pk
: 48K 5.6Y
5.GY ] 78U 5.6Y 78U
8RD BR BRD
m. ires ires ires ires iTees ] e g s s iRe
Description Order NO . Order NO - Order NO . Crder NO . Order NO . Description Ordar NO . OrdarNO . Order NO , Ordar NO , Order NO .
m PM-M8A-03P-MM-SLTAD1-00AH | PM-MBA-OAP-MM-SLTAD1-00AH | PM-MBB-05P-MM-SLTAQT-00AH | PM-MBA-0BP-MM-SL7AD1-00AH | PM-MBA-OBP-MM-SL7AD1-00AH i m PM-MBA-D3P-MM-SRTADT-00AH | PM-MBA-4P-MM-SRTAQ1-00AH | PM-MBB-0SP-MM-SRTAC1-00AH | PM-MBA-0BP-MM-SRTAQ1-00AH | PM-MBA-0BP-MM-SR7AD1-00AH
- am PM-M8AD3P-MM-SLTADB-O0AH | PA-MBA-DAP-MM-SLTADS-00AH | PM-MBB-O5P-MM-SLTAOZ-00AH | PM-MBA-0BPMM-SLTAD3-00AH | PM-MBA-0BP-MM-SLTAD3-00AH A am PM-MBAD3P-MM-SRZACS-00AH | PAMMBAD4PMM-SR7AOS.00AH | PMMBB-0SP-MM-SRTAO3-00AH | PM-MBA-DGPMM-SRTANS-00AH | PM-MBA-O8PAM-SR7ADS-00AH
5m PM-MBA-0SP-MM-SLTADG-00AH | PM-MBAOAP-MM-SLTADS-00AH | PM-MBB-05P-MM-SL7AOS-00AH | PM-MBA-SP-MM-SLTADS-0DAH | PN-MBA-0BP-MM-SL7ADS-00AH 5m PM-MBA-03P-MNM-SRTACG-00AH | PM-MBAGAP MM-SRIAJS-00AH | PM-MBB-05P-MM-SRTAOS-00AH | PM-MBA-DGP-MN-SRTADG-00AH | PM-MBA-0BP-MM-SR7AD5-00AH
EIHE Cusiomized o - e e i ] B Customized an wen | i e Fr
1m PM-MBA-OSPMM-SLTRO1-00AH | PRIMBADAP-MM-SLTEO1-00AH | PM-MBB-OEP-MM-SL7B01-00AH | PM-MBA-OSPMM-SL7B01-00AH | PN-MEA-0BP-MM-SL7BO1-00AH 1m PM-MBA-O3P-MM-SR7BO1-D0AH | PMMBALDAPMM-SRIB01-00AH | PM-MBB-DSP-MM-SRTB01-00AH | PM-MBA-DSP-MM-SRTE01-00AH | PVM-MBA08P-MM-SR7BO1-00AH
— am PM-M8A-03P-MM-SLTE0G00MH | PM-MBA-OAP-MM-SLYBOG-00AH | PM-MBB-05P-MM-SLTB03-00AH | PM-MBA-0BP-MMFSLTBO03-00AH | PN-MBA-0BP-MM-SL7B03-00AH _— am PM-MBA-O3P-MM-SR7BO3-00AH | PM-MEAO4P-MM-SRTBOS-00AH | PM-MBB-0GP-MM-SRTB03-00AH | PM-MBA-0BP-MM-SATE03-00AH | PM-MBA-0BP-MM-SR7B03-00AH
5m PM-MBA-DZP-MM-SLTBO5-00AH | PM-MBA-D4P-MM-SLTBO05-00AH | PM-MBB-04P-MM-SLTB05-00AH | PM-MBA-DEP-MM-SLYBOS-00AH | PN-MBA-DBP-MM-SL7B0S-00AH 6m PM-MBA-03P-MM-SR7BOS-00AH | PM-MBAD4P-MM-SR7BOS-00AH | PM-MBB-04P-MM-SRTB05-00AH | PM-MBA-06P-MN-SRTBO5-00AH | PM-MBA-0BP-MM-SR7B05-00AH
e e - e HEE R D= SH Customized | e A
m PM-MBA-UZP-MM-SLTCO1-00AH | PN-MBA-D4P-MM-SLTCO1-00AH | PM-MBB-05P-MM-SLTCO1-00AH | PMAVBA-OBP-MM-SLTCOT-00AH | PN-MBA-CBP-MN-SLTCO1-00AH m PM-MBA-G3P-MM-SRTCD1-00AH | PM-MBAD4P-MM-SR7COT-00AH | PM-MBB-DSP-MM-SRTCO1-00AH | PM-MBA-DSP-MM-SRTCO1-00AH | PM-MBA-J8P-MM-SRTC01-00AH
o p— 3m PM-M8A-03P-MM-SLTCO3-00AH | PM-MBA-D4P-MM-SL7CO3-00AH | PM-MBB-05P-MM-SLTCO3-00AH | PM-MBA-DBP-MM-SLTCOZ-00AH | PN-M8A-0BP-MM-SLTCO3-00AH Y| —— am PM-MBA-03P-MM-SR7C03-00AH | PM-MBA-DIP-MM-SRTCO3-00AH | PM-MBB-05P-MM-SRTCO3-00AH | PM-MBA-DBP-MM-SRTCO3-00AH | PM-MBA-D8P-MM-SRTC03-00AH
" 6m PM-M8A-03P-MM-SLTCOS-00AH | PM-MBA-OAP-MM-SLTCOS-00AH | PM-MSB-05P-MM-SLTCO5-00AH | PM-M8A-0BP-MM-SLTCOS-00AH | PN-MBA-CBP-MM-SLTCO5-00AH : sm PM-MBA-03P-MM-SRTCO5-00AH | PM-MEA.C4P-MM-SR7COS-00AH | PM-MBB-05P-MM-SRTCO5-COAH | PM-MBA-06P-MM-SRTCO5-00AH | PM-MBA-D8P-M-SRTCO5-00AH
m Customized o || I+ - ER Customized e =21
im PM-MBA-03P-MM-SLTDO1-00AH | PM-MBA-04P-MM-SL7D01-00AH | PM-MBB-0SP-MM-SLTD01-00AH | PM-MBA-DSP-MM-SLTD01-00AH | PN-MBA-0BP-MM-SL7D01-00AH m PM-MBA-03P-MM-SR7D01-00AH | PM-MBAD4P-MM-SRTD0T-00AH | PM-MBB-0SP-MM-SR7D01-00AH | PM-MBA-DSP-MN-SRTDO1-00AH | PM-MBA-08P-VM-SR7D01-00AH
k| oom 3m PM-M8A-D3P-VMM-SLTDD3-00AH | PM-MBA-O4P-MM-SL7DO3-00AH | PM-MBB-05P-MM-SLTDO3-00AH | PV-MBA-DBP-MM-SLTDOZ-00AH | PN-M8A-BP-MM-SLTDO3-00AH —— 3m PM-MBA-03P-MM-SR7D03-00AH | PM-MBAD4P-MM-SR7DO3-00AH | PM-MBB-0SP-MM-SRTDO3-COAH | PM-MBA-D6P-MM-SRTDO3-00AH | PM-MBA-08P-MM-SRTD03-00AH
b 5m PM-MBA-03P-MM-SLTDOS-00AH | PN-MBA-04P-MM-SL7DO5-00AH | PM-MBE-04P-MM-SLTDOS00AH | PM-MBA-OEP-MM-SLTDOS-00AH | PN-MBA-DBP-MM-SLTDOS-00AH o sm PM-MBA-03P-MN-SR7DUS-00AH | PM-MBAG4P-MM-SRIDOS-00AH | PM-MBB-04P-MM-SRTDOS-00AH | PM-MBA-DBP-MM-SRTDOS-00AH | PM-IBA-D8P-MIM-SRTD0S-00AH
EMHE Customized | 0 e [ Do e R FEM Customized e ek R
N s ———————|

1 8 woow . degson.com www.degaon.com 1 9



ﬁ DEGSON"

MB Series

M8 x 1 FLEU A B R iESk |, Bin , IEE

i Bk

M8 x 1 Female Overmolded with Cable
plug,Single end,Unshielded,Straight.

EEEEA

BEiRMIE Technical Data

ﬁ DEGSON’

MB Series

M8 x 1 FLEURL B EE S4B | Buw , 3F

i, Tk,

M8 x 1 Female Overmolded with Cable
plug, Single end,Unshielded,Angled.

84 @ PEAY.

BREIE Technical Data

{wwjy

ot TR = RTREEE
- IEG 61076 g PUJ/PA e IEG 61076 . st PU/PA
B3l M8, Fsmale,Straight o EClal CopperAlioy, Gold-plated L M8, Female,Angled Hﬂﬂ: ; CopperAlloy, Gold-plated
PingHi R RO PingH S EREE
e 03.04,05.08,08 Pin s Copper Alloy with Nickel Plated Nimber of Pins 03,04,05,08,08 Pin Metai of nut Coppar Alloy with Nickel Plated
e 6] iR fid]
Ratad Current 3A max. Seal Silicons R Current A max. Seal Silicons
ERE B EES B Rl #EEmE EESNE R
Rated vol B0V max. Cable jackst material PUR/PVC Rasd volt B0V max, Cable jacket material PUR/PVC
e ) TR figeg R
s ol =100M0 Shieiding Unshielded T =100M8 Shicking Unshisided
!!IIHEM =Em@ zm I ife > 100 mating cycles HRIRRE - =5mQ m" hanical life = 100 mating cycles
Em, blantd o —25~ +80T — — mm " —25 ~ +80T — —
RidnsE e
Bei IP67 - - iP Clacs IP&T — -
aka S 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin FHE = 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins Number of Pins
£ A-Cod Cod 8-Coded A-Coded RE A-Coded ACodad 8-Coded A-Coded A-Coded
Coded = Aaded Coded
B 4 4 2 4 B 4 4 2 5
Coding [ole] o Coding oo Y5 O D8
ERE o ol iz ]
Frant View 3 1 3\© , Ch % Front View 3 1 3@ , Ch o 2 o
8] il s} 3 030 7
5 1 5 2 1
P BB
a8 A 3A 3A 3A 1.5A 154 g A 3A 3A 3A 1.58 154
#iEeEE SRS
Fatid V. BOV 80V 30V 307 30V E " V. BOV BOV 30V 30V WV
Gl 24ANG 24AWG Z4ANG 2BANG 2BAWG LAl 24AWG 24AWG 24ANG 2BANG 2BAWG
Wire gauge Wire gauge
B 0.25mm? 0.25mm 0.25mm? D.14mm?® 0.14mm? BT 0.25mm¢ 0.25mm? 0.25mm? 0.14mm? 0.14mm?
CE g Cross sacton B Cross saclon
Wire/Cable
1.WH EREEE 1.WH
BN 1.BN ;'::‘ 28N Wire/Cable T 1.BN ;;NH 2BN
5 36N 8 3 36N
BE by 2WH or 38U A¥E e s 2WH i 38U aYE
Wiring list e 3BU e 4EK 5.BY Wiring llst s 38U Fe 4BK 58Y
et 5.0Y e :‘m 4.BK Sy 5.GY g:g
B.PK B.PK
BRD BRD
Hik TRe me T iTmeE iTHe Hok iTme iTme The TRE iRe
Deseription Order NO . Ordar NO . Ordar NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO . Order NO .
im FM-MBA-D3P-FF-SLTAQ1-00AH | PM-MBAO4PFF-SLTADIO0AH | PM-MBB-05P-FF-SLTAD1-00AH | PM-MBA-OBP-FF-SLTAQ1-00AH | PM-MBA-DBP-FF-SLTAD1-00AH im PM-MBA-D3P-FF-SRTAD1-00AH = PMMBAO4P-FF-SRTAC1-00AH | PM-MBB-0SP-FF-SR7AD1-00AH | PM-MBA-QBP-FF-SRTA01-00AH | PM-MBA-DBP-FF-SRTAQ1-00AH
— 3m PM-MEA-D3P-FF-SLTAD300AH | PM-MEAOAPFF-SLTAD3O0AH | PM-AMBB-05P-FF-SLTA03-00AH | PM-M8A 0BP-FF-SLTA03-00AH | PM-MEA-0BP-FF-SLTAN3-O0AH i 3m PM-MEA-O3P-FF-SRTAD00AH | PM-MBAOAP-FF-SR7AO3-00AH | PM-MBB-0SP-FF-SR7AD3-00AH | PM-MBAOGP-FF-SRTA03-00AH | PM-MEA-DBP-FF-SATAD3-00AH
5m PM-MBA-D3P-FF-SLTAOS-00AH | PM-MBAOMP-FF-SLTADSO0AH | PM-MBB-05P-FF-SLTAO5-00AH | PM-MBA-OBP-FF-SLTACS-00AH | PM-MBA-OBP-FF-SLTADS-00AH sm PM-MEA-D3P-FF-SRTADS-00AH | PMMBA-OAP-FF-SRTAOS-00AH | PM-MBB-OSP-FF-SRTAQS-00AH | PM-MBA-QGP-FF-SRTA0S-00AH | PM-MBA-D8P-FF-SR7AQ5-00AH
Sy Customizad T T s o N =S = B, Customized srans [ [ [ [
1m PMMEA-DIP-FF-SLTB0Y-00AH | PM-MEADIP-FF.SL7E01-00AH | PM-ABB-05P-FF-SL7B01-00AH | PM-MBA-DBP-FF-SLTB01-00AH | PM-M8A-DBP-FF-SL7R01-D0AH im PMMEA-DIP-FF-SR7B01-00AH | PMMBAD4P-FF-SR7BO1-00AH | PM-MBB-0SPFF-SR7A01-00AH | PM-MBA-DGP-FF-SRTB01-D0AH | PM-MBA-DSP-FF-SRTEO1-00AH
=R 3m PM-MBA-D3P-FF-SLTBO3-00AH | PM-MBAOIP-FF-SLTBO3-00AH | PM-MBB-O5P-FF-SL7BO3-00AH | PM-MBA-OBP-FF-SLTBO3-00AH | PM-MBA-DBP-FF-SLTB03-00AH T am PM-MBADIP-FF-SRTE03-00AH | PMMBAO4P-FF-SRTBO3-00AH | PM-MBB-OSP-FF-SR7TB03-0DAH | PM-MBA-OGP-FF-SRTBO300AH | PM-MEAD8P-FF-SR7BO3-00AH
5m PM-MBA-O3P-FF-SLTBOS-00AH | PMMBA-D4PFF-SLTBOS00AH | PM-MBB-04P-FF-SL7BO5-00AH | PM-MBA-UGP-FF-SLTBOS-00AH | PM-MSA-0BP-FF-SLTBOS-00AH 5m PM-MBA-O3P-FF-SRTBOS-00AH | PM-MBA-D4P-FF-SRTBOS-00AH | PM-MBB-04P-FF-SRTBOSO0AH | PM-MBA-06P-FF-SRTBOS-00AH | PM-MBA-DBP-FF-SRTBOS-00AH
B customized | 0000 e | e T e P Customized | 00 ewee | e w0
m PM-MBA-D3P-FF-SLTCOT-00AH | PM-WIBA-QMP-FF-SLTCO1-00AH | PM-MBB-05P-FF-SL7CO1-00AH | PM-MBA-0BP-FF-SLTCO1-00AH | PM-MBA-DBP-FF-SLTADT-00AH m PM-MBA-03P-FF-SR7CO1-00AH | PM-MBA-DP-FF-SR7CO1-00AH | PNHMBB-05P-FF-SR7CH1-00AH | PM-MBA-0BP-FF-SR7C01-00AH | PM-MBA-D8P-FF-SRTCO1-00AH
- 3m PM-M8A-03P-FF-SLTCO3-00AH | PM-MBA.O4P-FF-SLTCO3-00AH | PM-MBB-05P-FF-SL7CO3-00AH | PM-MB8A-OBP-FF-SLTCO3-00AH | PM-M8A-DBP-FF-SLTADB-00AH N am PM-MBA-D3P-FF-SRTCO3-00AH | PMMBA04P-FF-SR7CO3-00AH | PM-MBB-05P-FF-SR7CI3-00AH | PM-MBA-0BP-FF-SRTCO3-00AH | PM-MBA-DBP-FF-SRTCI3-00AH
o 5m PM-MBA-03P-FF-SLTCO5-00AH | PM-MEA-OPFF-SLTCOS-00AH | PM-MBB-05P-FF-SL7CO5-00AH | PM-M8A-OBP-FF-SLTCO5-00AH | [PM-MBAOBP-FF-SLTAD5-00AH = 5m PM-M8A-D3IP-FF-SR7CO5-00AH | PM-MBA-O4P-FF-SR7C05-00AH | PM-MBB-05P-FF-SR7CO5-00AH | PM-MBAOSP-FF-SR7CO500AH | PM-MBA-D8P-FF-SA7COS-00AH
Em Customized asenn e - prree P ﬂﬂ; Cugtomized | 0 e 1w e e e
1m PM-MBA-0IP-FF-SLTDO1-00AH | PMMBAO4PFF-SLTDO1-00AH | PM-MBB-06P-FF-SL7D01-00AH | PM-MBA-0BP-FF-SLTD01-0DAH | PM-M8A-0BP-FF-SLTD01-00AH 1m PM-MBA-OIP-FF-SR7D01-00AH | PMMBA-DAP-FF-SR7DD1-00AH | PM-MBB-05P-FF-SR7D(1-00AH | PM-MBA-06P-FF-SRTDI1-00AH | PM-MBA-0BP-FF-SRYD01-00AH
L] PUR 3m PM-M8A 03P-FF-SLTDO3.00AH | PMMBAO4P-FF-SL7D03-00AH | PM-MBB-05P-FF-SL7D03-00AH | PM-M8A 0BP-FF-SL7D03-00AH | PM-M8A-0BP-FF-SLTD03-00AH | am PM-M8A-03P-FF-SR7D03-00AH | PM-MBA04P-FF-SR7D03-00AH | PM-MBB-05P-FF-SR7D03-00AH | PM-MBA-06P-FF-SR7D03-00AH | PM-MEA-DBP-FF-SA7DO3-00AH
* 5m PM-MEA-OIP-FF-SLTDOS-00AH | PM-MBAQ4P-FF-SLTDOS-00AH | PM-MBB-04P-FF-SL7D0S-00AH | PM-M8A-06P-FF-SLTDUS-00AH | PM-MEA-0BP-FF-SLTDUS-00AH " sm PM-MBADIP-FF-SRTU0G00AH | PM-MBAD4P-FF-SR7DO5-00AH | PM-MBB-04P-FF-SRTDUS-00AH | PM-MBA-O6P-FF-SRTDUS00AH | FM-MBA-DBP-FF-SR7TDO5-00AH
B4k Customized P R N I 3 it 2 Customized | 00 e | e | e P

20 www.dagson.com wwrw.degson,com 2 1



ﬁ DEGSON" M8 series ﬁ DEGSON" M8 scie-

MB x 1 Hﬁﬂ%ﬂ%%ﬁ% ' '@'ﬁuﬁ ' ﬁﬁ ] [

M8 x 1 St REIEAIESL | i , B, L

Bk, 5k,
M8 x 1 Male Overmolded with Cable c M8 x 1 Male Overmolded with Cable 5
" F 4 El n y 3
plug, Single end, Shielded, Straight. 2 plug, Single end, Shielded, Angled.
48.| &n [N 517 48.] 2 E?
] & &
B AMIE Technical Data B ABIE Technical Data
f&mm IED G 1T0 Contact canmers matsrial A gﬁdm e mm:f m matsrial A
31 M8, Mals, Straight R GopperAlioy, Gold-plated x7l M8, Mals, Anglsd BT i CopperAlloy, Gold-plated
Pintmg e 02,04,05,06,08 Pin - Copper Alloy with Nicks| Plated nmpm 03,04,06,08,08 Pin =N Copper Alloy with Nickel Plated
TR Ls ] HiEER o
Rated Current 3A max. Seal Silicons Rasd Cument JAmax. Seal Bilicone
HEEE RS BIEE RS LB
80V max. . el PURJPVC iz 60V max. vl PUR/PVC
ke 2T E) b BigmE e
" =100M@ g Shielded oy =100M8 ki Shielded
mqﬁm =5mi flml e =100 mating cycles HRiRRE - =m0 MI hanioal ife > 100 mating cycles
ETRE s —25~+80C — — m‘n " —25~ +80T — =
RS RiPandg
IP Class L1 = = IP Class Ll = o
B : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin aad : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins Number of Pins
il A-Coded A-Coded B-Coded A-Coded R A-Coded ACoded B-Coded A-Coded
Coded Coded
bk 4 ; il 4 4
z 4 - z 4
i Ew 5 3 i I 5 a
Frant View 1 3 1 3 Front View 1 3 1 3
1 3 ) 3
5 2 5 £
HETREE T e
o A A ETY 3 1.5A 154 ) A 3A 3A 3A 154 154
#iesrs b
N faon . B0V sav 30V aov ] i i V. B0V 8OV aov a0v WV
Gill 24AWG 24AWG 24ANG 26ANG 26AWG &l 24A0G 24AWG 24AWE 26AWG 26AWG
Wire gauge Wirs gauge
T e
. 0.25mm? 0.25mm? 0.25mm? 0.14mm? 0.44mm? : 0.25mm? 0.25mm? 0.25mm? 0.44mm? 0. A4mm?
AR 1.WH FRERFISE 18N 1.WH
Wire/Cable 8k 2BN Wire/Cabie 1.BN : 2BN
1.BN ek 36N 18N 1.BN 2 WH 2WH 3.GN
SRN 1BN 2WH . 4YE s aBU 2WH SBU 3.BU 4YE
g 2WH S U 5GY Wiring list i 38U P 4.BK 5GY
i RE: 18U 4BK 8.PK : 48K 5.0Y 6PK
i, s e ; :: " i 5.6Y ek 78U
B.PK 8.RD 8RD
fiit far--2-3 Hgs it} iras iTes it ims e e Re RS
Desaription Order NO Order NO OrderNO , Order NO Order NO. Doscription Order NO Order NO Order NO Order NO Ordet NO
im PMSH-MEA-0SP-WM-SLTCOI-00AH | PMSH-MBA-D4P-MM-SLTCOT-C0AH | PMSHMBB-05P-MM-SLTCO1-00AH | PMSH-MBA-DEP-MM-SL7C01-00AH | PMSH-MBA-0IP-MVHSLTCO1-00AH m PMSH-MBA-0OP-MM-SRTCO1-00AH | PMSH-MBA-04P-MV-SRTCOT-00AH | PMSHMBB-05P-MM-SRTCO1-00AH | PMSH-MBA-OGP-MM-SRTCO1-00AH | PMSH-MBA-0BP-MM-SRTCO1-00AH
| 3m PMSH-MBA-USP-MM-SLTCO-00AH | PMSH-MBA-DAP-MM-SLTCO3-00AH | PMSH-MEB-05P-MM-SLTCO300AH | PMSH-MBADEP-MM-SLTCO300AH | PMSH-MBA-0SP-MV-SLTCOZ-00AH N — 3m PMSH-MBA-OP-MM-SRTCO3-00AH | PMSH-MEA-D4P-MM-SRTC03-004H | PMSH-MBE-05P-MM-SRTCO3-00AH | PMSH-VBA-DEP-MN-SRTCO-00AH | PMSH-MBA-0BP-MM-SR7C03-00AH
i 5m PMSH-MBA-03PMM-SLTCOS-00AH | PMSH-MEA-D4P.MM-SLTCOS-00AH | PMSH-MBE05P-MM-SL7COS-00AH | PMSH-MBADEP-MM-SLTCO5.00AH | PMSH-MBA-08P-MV-ELTCOS DUAH " 5m PMEH-MBA-03P-MM-SRTCO5-00AH | PMSH-MBA-04P-MM-SRICO5-00AH | PMSHMBB-05P-MM-SRTCOS.00AH | PMEH-MBA-OGP-MM-SRTCO5-00AH | PMSH-MBA-0SP-MM-SR7COS-C0AH
2L C iz | e s T ke e EEfE Customized e = | e
1m PUISH-MEA-DSPMM-SLTDO1-00AH | PMSH-MBA-D4P-MM-SLTD01-00AH | PNISHMEB-0SS-MM-SLTDOTO0AH | PMSH-MBADEP-MM-SLTDOT-C0AH | PMSH-MBA-DBPMM-SL7DOT-D0AH m PASH-MBA-D3P-MM-SRTDO1-00AH | PMSHHVIBA-D4P-MSRTDOT-00AH | PMISHHVBE-05P-MNHSRTDO1-00AH | PMSHHVEA-DEP-MN-SRTDO1-00AH | PMSH-MEA-08P-MM-SRTDO1-00AH
PUR |- sam PRSI WISLIDOS OUAH: | - FRAAH-MBAHE MSLTDRN- (A | rIEHAE P STOS0AH | PRISE-MSACEE WIS TOOMIO0RH | FIMSHEMUADAF AR I 00AH o | pur | S FMSSECMBACONE - MHST0- 00N | | FWARHWIRADAR MRS EO3 00 | PRI CSPIM SRFDOSTIOA | PASHMMIAGEPUIN SRIDOS TOAN |, FRSHEMBACHPWM-SRID08-J0A |
* 5m PMSH-MBA-03P-MM-SLTDDS-00AH | PMSH-MBA-DAP-MM-SLTDOS-00AH | PMSH-MBE-045-MM-SLTD0S-00AH | PMSH-MBA-DEP-MM-SLTDOS-00AH | PMSH-MBA-08P-MVHSLTDOE-D0AH # 5m PMSH-MEA-03P-MW-SRTDOS-00AH | PMSH-MEA-04P-MV-SRTDO5-00AH | PMSHMBB 04P-MM-SRTDOS.00AH | PMSH-MBA-D6P-MM-SRTDOS-00AH | PMSH-MBA-0BP-MM-SRTD0S-00AH
i Customized R i T = fEEd Customized | 0 een | == ] T == S ==
- | e —

22 wWww.degson.com www.degson.com 23



ﬁ DEGSON" M8 series ﬁ DEGSON® M8 scies

W . — BE
M8 x 1 FLA BB RIEL | BiR , M8 x 1 FLEUR LB 4tk | iR |, Bl 2
= > - :
k. i,
3
M8 x 1 Female Overmolded with Cable = M8 x 1 Female Overmolded with Cable 5 £
. . . 3 . . 3
plug,Single end,shielded,Straight . £ plug,Single end.Shielded, Angled. 2
|48.] an ;7 [48.] 2
] W o= A e
FAMIZ Technical Data HAEIE Technical Data
o [ 2 ] BT SR
Standard IEC B1078 c i PA Standard IEC 81078 o i B i PA
B T - B T i
darine M8, Female, Straight o CopperAlloy, Gold-plated S M8, Female.Angled : Copper Alloy, Gold-plated
Pi 1 Pi EREE
T 03,04,06,06,08 Pin T ar Tt Copper Alloy with Nicks| Plated Nmpm 03,04,05,08,08 Pin oo Copper Alloy with Nickel Piated
Wi A HER el |
Rated C 3A max. Seal Silicone Rated Currsnt 3Amax. Seal Silicans
wﬂi B0V max. - F“ﬁm o PUR/PVC %E?EI B0V max. mjﬁﬁl b rid PUR{PVC
e R BEEE R
eyt =100M0 e Shiglded i =100M0 S Shielded
m:lt i =5mi m e =100 mating cycles ﬂc HI“I 4 =5mi m i = 100 meting eycles
Ambient tempsrature Sk - — mﬁﬁmumm —25~ +80T — S
it e 2] PSR
P Class IPET —_ —_ IP Class IP6T —_ —_—
FHE > 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin B : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins Number of Pins
E 1] WY
Coded A-Coded ACoded B-Coded A-Coded Coder A-Coded A-Coded B-Coded A-Coded
i 4 4 2 Fo 4 B @
Coding 0 Q 0 Coding Q9
ETRE 3 s IEFTRE
Front View 31 31 © og® Front View s1 310 Oj1
o o0
5
el e
iy A, 3A 3A A 1.54 1.54 Ratwc cistront A 3A A L 154 1.5A
Wi
Rated voit W B0V BoV gy 30v a0y Rated voltage W BOV BOV 30V aov 3o0v
&ill &l
Wirs gauge 24ANG 24MNG 24AWG 28003 28AWG Wire gavye 24AWGC 24ANG 4MNG 28AWG 28ANG
eE HliE
i : 0.25mm? 0.25mm? 0.25mm? 0.14mm?2 0.14mm? i 0.25mm? 0.25mm? 0.25mm2 0.44mm? 0.14mm?
s ALY T
Wire/Cable 18N 1wH Wire/Cabls 18N 1
1BN 2BN 18N 2BN
TN 1.BN S 2WH 3.EN TEN 1.BN S 2WH 3.6N
== a5 2WH 38U 3.BU AYE E: - S‘BU ZWH ahu 38U 4NE
Wiring Rst 4BK 3BU 4BK 4 BK 56Y Wiring list 4:BK 3.BU 48K 4BK 5.8Y
4BK a i 5.6Y gg 48K 5.0Y E.GY gg
BPK 8RD 6PK &RD
fiid iTES TRE e 88 RS st TS TES TRs RS Tas
Description Order NO Crder NO Order NO . Order NO . Order NO . Description Ordar NO Ordar NO Order NO . Ordar NO Order NO
im PMSHMBA-0GP-FRSLTCO1-00AH | PMSH-MBA-04P-FF-SLTCO1-00AH | PMSH-MEB-05P-FF-SLTCOM-00AH | PMSH-MAA-DEP-FF-SLTCO1-00MH | PhESH-MBA-0BP-FF-SLTCO1-00AH im PMSH-MBA03P-FF-SRTCO1-00MH | PMSHMVBADAPFF-SRTCO1-00AH | PMSH-MBE-OSP-FF-SRTCO1-00AH | PMSH-MBA-0BP-FF-SRTCO1-00AH | PMSH-MEAD8PFF-SRTCO-00AH
| 3m PMSHMBA-03P-FR-SLTCO3-00AH | PMSH-MBA-OAP-FF-SLTCO3-00AH | PMSH-MEB-05P-FF-SL7TC03-00AH | PMSH-MAA-DEP-FF-SL7CO3-00AH | PNISH-MBA-0BP-FF-SL7CO3-00AH - am PMSH-MBA-03P-FF-SRTCO3-00AH | PMSHMBA-D4P-FF-SRTCU3-00AH | PMSH-MBB-05P-FF-SRTCO3-00AH | PMSH-MBA-06P-FF-SR7CO3-00AH | PMSH-MBA-08P-FF-SRTCO3-00AH
= Em PRMSHMBA-0SP-FRESLTCO5-00AH | PMEH-MBA-DIP.FF-SLTCO6-000H | PMSHMEE-05P-FF-SLTCO5-00AH | PMEH-MAA-DEP-FF-SLTCO5-00AH | PMSH-MBA-0P-FF-SL7C05-00AH = &m PMEH-MBA-D3PFF-SRTCHS-00AH | PMEH-MBAD4PFF-ERTCOS-00AH | PMEH-MBE-OSP-FF-SRTCOE-D0AH | PMEH-MBA-DBP-FF-SRTCO5-00AH | PMSH-MBA-D8PFF-SRTCOS-00AH
EEME Customized | 000 e e e ran B Customized _“-— L e e R
m PMVSHMBEA-0GP-FR.SLTD01-00AH | PMSH-MEA-J4P.FF-SLTDI-00AH | PMSH-MEB-D5P-FF-SL7D01-00AH | PMSH-MaA-DEP-FF-SLTDOM-00MH | PMSH-MBA-0BP-FF-SLTD01-004H im PMSH-MBA-03PFF-SRTDO1-00AH | PMSHMBADMPFF-SRTDO-00AH | PMSHAMWBE-D5P-FF-SRTD0T-00AH | PMSH-MBA-DGP-FF-SRTDOT-00AH | PMSH-MBA-DSP-FF-SRTDO-004H
am PMSHMBADSP-FR-ELTDO00AH | PMSH-MBA-DIP-FF-SLTD03-00AH | PMSH-MEB-05P-FR-SLTDO3-00AH | PMSH-MBA-DGP-FF-SLTDO00AH | PMSH-MBA-GEP-FF-SLTDI03-00AH 3m PMEH-MBA-J3P-FF-SRTDOS-00AH | PMEH-MAA-DMPFF-SRTDO3-00AH = PMSHMBBE-D5P-FF-SRTD03-00AH | PMSH-MAA-0BP-FF-SRTDO3-00AH | PMSH-MAA-D8P-FF-SRTDO3-004H
e PUR 5m PMSHMBALGP.-FRSLTDOS00AH | PMSH-MBA-D4P.FF-SLTDOS00AH | PMSHMEB-MP-FF-SLTDOS00AH | PMSH-MAA-DEP-FF-SLTDOS-00AH mﬁ-&.mmu &a | PUR Sm PMSH-MBA-03IP-FF-SRTDAS00AH | PMSHMBA-DMPFF-SRTDOS-00AH | PMSH-MAB-D4P-FF-SRTDOS-00AH | PMSH-MBA-DBP-FF-SRTDO5-00AH | PMSH-MBA-D8P-FF-SRTDOS-00AH
ML Cusiomized || | e e [~ ] AR R Customized s o
- |

24 www.degson.com www.degson.com 2 5



ﬁ DEGSON"®

M8 Series

M8 x 1 LR PR BYER AL |, % , JEFRT ,
B3k, LED.

M8 x 1 Female Overmolded with Cable
plug,Single end,Unshielded,Straight,LED .

21T pEas,

HRMIE Technical Data

(ww)yy

At RTRHER
kol IEC 61076 : . PU
B3 WTHH o
Aaries M8, Female, Straight ; CopperAlloy, Gold-plated
Pi SRS
e 03.04 Pin T Copper Alloy with Nickel Plated
e (]
Rated Current 3A max. Soal Silicone
SRR s ErErE
Rated voltags BUY mes, Cabo jacket matarial LIS
figray TR
b il =100M0 i Unshislded
FEY ks
Contact resistance il Mechanical i il mating fyrica
EFER e = =
Ambient temperature ER
g2
P Class IP6T = _
ko < 03 Pin 04 Pin
Number of Pins
§m A-Coded A-Caded
Coded
L 4 4 2
Coding EEE O
Frant View 3 1 g 9
3 1
PR
Rated current L L .
HiEEER
Rated voltage L ey oy
il 2UAWG
Wire gauge 24AWE
B
i 0.25mm? 0.25mm?
AT
Wire/Cable
1.BN Ll
% 280 il
Wiring e 3BU
4BK
fiE ome me
Deseription Crdar NO . Order NO .
1m PL-MEA03P-FF-SLTAD1-00AH PLMBA04P-FF-SLTA01-00AH
i 3m _PLMBA33P-FF-5L7AGS-00AH PLMBA04P-FF-SL7AC3-00AH
5m PL-M8A-03P-FF-SLTADS-00AH PLMBAD4P_FF-SLTAD5-00AH
TEHHE Customized e e
3m PL-MBA-03P-FF-SLTROS-00AH PLMBA-D4P-FF-SLTB03-00AH
g 5m PL-M8A-O3P-FF-SL7BO0S-00AH PLAVIBA-D4P-FF-SLTB0S-00AH
JEY Cusiomized | e e

26 Ww. dBgson.com

ﬁ DEGSON*

M8 Series

M8 x 1 FLUpL BB 4Rk |, Bl , JEFRHT .
3, LED,

M8 x 1 Female Overmolded with Cable
plug,Single end.Unshielded, Angled,LED.

I2EEE

FiAREIE Technical Data

()

=i TS o 8|
iy IEG 61076 - bl i PU
L2 mTEe ¥
5 M8, Female,Anglad : Copper Alloy, Gold-plated
PintiE ZREE
Number of Pins 03,04 Pin Metal of nut Copper Alloy with Nicks! Plated
iR fdi-]
Rated Current BA A Seal Silicons
HiEEE LA R
Rated voltage B0V max. Cable jack terial PUR | PVC
Lk ] Bk
Sl =100M0 Shiiding Unshialded
R ST
Contact resistance ~ENE Mechanical fe 100 natiig cycles
EfTEE L = =
Ambient lemperahure R
i
iP Class e = =
e & 03 Pin 04 Pin
Number of Pins
Ll A-Coded A-Codod
Coded
IEmE
Front View 3 1 o 0O
1
il
Rated cument A A A
FUERE
Rated voltage ¥ o il
=il
Wike gauge 24AWG 24MNG
RS
& 5 0.25mm? 0.25mm?
FagTa
Wire/Cable
1BN o
m’?ﬁu g 20H
Wiring S 3BU
4.8K
g ume umes
Description Order NO Order NO
im PL-MBA-OIP-FF-SRTA01-00AH PL-MBA-D4P-FF-SRTA01-00AH
v am PLMBAGIP-FF-SRIAIS 000 PLMEAGIP-FF-SRTAI-000H
5m PL-MBA-D3P-FF-SRTA05.00AH PL-MBA-D4PFF-SRTAD5-00AH
EHfkCustomized | e e
im PL-MBA-GIP-T-SRTBOT-00AH PL-MEADAP-FF-SRTB01-00AH
3m PL-MBA-D3P-FF-SRTBI3-00AH PL-MBA-DIP-FF-SRTBO3-O0AH
FER 5m PLMBA-C3PFF-SRTE0S-00AH PL-MBA-DIP-FF-SRTBOS-00AH
E.{E_ W_ ............

www.degson.com 2 7



ﬁ DEGSON"

MB Series

#H0.5mSH,

M8 x 1 Male Panel Mount Receptacle,
Rear Mounting,with 0.5m wires.

16.5 L{mm)

g =
- g
= =

R FE el
IEC 61076 ) . PA
e

M8, Male c CopperAlloy, Gold-plated

03.04,05,06,08 Pin ﬁétl'&.u CopparAlley with Nicksi Piated
od ]

3A max. Seal Silicons

BOV max. ﬁdh@ Unshielded

mss

=100M G M e =100 maling cycles

=5mn o _

—25~ +80TC = =

IP&T = —

5 3
Frant View 1 3 13
1 3
5 o2
HETREE T
S A, T ET 3A 1.5 154
#iesrs
et v BOV 80V 0V 30V 30V
Sl
Wire tion 24AWG 24AWG 24AWG 2BANG 28AWG
B
¢ i 0.25mm? 0.25mm? 0.25mm2 0.14mm? 0.14mm?
1WH
by i 18N 28BN
SLEDL S 18N B 2WH 36N
S = 2WH ;m 3.BU 4YE
Wiring list Ha 3BU P 48K 5.6Y
' 48K & e 5.6Y B.PK
8.PK 78U
8RD
i Jips imes e iTme iTme
Description Order NO., QOrder NO . OrderNO . Order NO., Order NO,
05m SDMBAUSP-MMSFTCS000AH | SDMBAOMP-MMSFTCSO00AH | SS-MEB-OSPMM-SFTCS000AH | SD-MBA-DEPMW-SFTCS000AH | SD-MBADSP-MMSFTCS0-00AH
S8{k Customized e 0 i A [ 1

28 www.degson.com

ﬁ DEGSON"

M8 Series

#H0.5mSEL,

M8 x 1 Male Panel Mount Receptacle,
Front Mounting,with 0.5m wires.

2EEA8

#AMIE Technical Data

17.8 L{mm

—

=% BFEkEE
Standard e Contact camars matarial PA
E7l WTHE ’
Sedh M8, Mala : | Copper Alloy, Gold-plated
Pinkt ik SREE
Number of Pins 03,04 ,05,08,08 Pin Metal of nut Copper Alloy with Nickel Plated
HiEER o
Rasd Cument 3A max. Seal Silicone
m B0V max. %M Unshislded
BigmE HEw
Inaulat st =100M 8 . > 100 mating cycies
HRIRERE —, —
Cart — =&m0
EfTRE e
Ambient lemperalure 23 ~THe0r — —
RiPandg - =
IP Class Ll
S 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
R A-Coded ACoded B-Coded A-Coded
Coded
ng 5 3
Frant View 1 3 1 3
) 3
§ £
e
) A 3A 3A 3A 1,58 1.5A
b
i i V. B0V 30V aov a0v WV
&l 24A0G 24AWG 24AWE 26AWG 26AWG
Wire gauge
el
: 0.25mm? 0.25mm? 0.25mm? 0.14mm? 0. A4mm?
1WH
e 16N 2BN
Wire/Cable 1BN o 2WH aGN
b i 2WH Lo 3.8U 4AYE
i 38U 3.8U
Wiring s 28U e 18K 5GY
4BK i 56Y 8PK
8.PK 78U
BRD
it iTms iTes irips Ting owe
Description Order NO.. Order NO . Order NO . Order NO , Order NO
£84E Customired | % 5

Www,.degson.com 29



ﬁ DEGSON" M8 series ﬁ DEGSON® M8 scies

M8 x 1 ﬂﬁﬁﬁfﬁﬁ& ' ﬁﬁiﬁ ' L(mm) M8 x 1 }Litﬁﬁﬁ%ﬁ& ' Eﬁﬂf% '

18.5 165 L{mm)
#0.5mS4, #0.5mSLs,
M8 x 1 Female Panel Mount gl.la M8 x 1 Female Panel Mount
Sla| " .
Receptacle ,Rear Mounting,with St Receptacle,Front Mounting,with e
. . [
0.5m wires. 0.5m wires. / S
SWT 2
'; £h ;’ 48.| an,
#AMIE Technical Data HFHAEIE Technical Data
i BrEGeE =i A
Standard IEC 61076 c i PA Standard IEC 81078 o i B i PA
f'i. M8, Femals STHE CopperAlloy, Gold-plated =31 M8, Female TR CopperAlioy, Gold-plated
P"'ﬂ!r% - 03.04,05,08,08 Pin mm Copper Allay with Nicks! Plated mpm 03,04,05,08,08 Pin %‘u‘m Copper Alloy with Nicksl Piated
iR it ] B fod |
o 3A max. el Silicons Rt it A max. el Silicons
wﬁmi " B0V max. gigﬂ"m Unshisldad !MEQGEEI tag BOV max. ?}'E“m Unshielded
s o >100M0 wee > 100 mating eycles ey AR =100M0 ees > 100 mating cycies
s = - R — —
=5ma Contact 4 =5mi
Ambient tempsrature Sk - — mﬁﬁmumm —25~ +80T — S
it e 2] — _ i e 2 — _
b IPET ks P67
k. 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
1]
B ACoded A-Coded B-Coded A-Coded A-Coded
4 4 2 4 5 §E 4 4 2 4 5
Coding Yo oV oo o AN Coding Yo oY 00 =] 46 O o8
TR il 3 ° Qs o b1z e 0 % s "
Front View 3 1 o o 0o, 0h og o § 9 Front View 3 1 o o 3l ,0n o8 & § o
3 1 o 0 o0 3 1 NE O 1 Q.0
5 2 1 5 2 1
Eela HiEeE
i A, 3 3A 3 157 154 e A aA £y n 150 154
#EEE HiRebE
i v BOV 60V aov 30v 30V gy v 60V B0V 30v v 30v
&l il
W on 24ANG . 24AWG 24AWG 2BAWG 2800 el 24AWG 24AWG . 24M0G 26AWG 26AWE
eE HliE
: ; 0.25mm? . 0.25mm? 8.25mm? 0.14mm? 0 Admm? e, 0.25mm? 0.25mm? . 0:25mm? 0.4dmm? 0.44mm?
1WH 1WH
it 18N 28N ragyradl 18N 28N
Wire/Caule 18N LB 2WH 26N Wire/Cable 18N Lo 2WH 3GN
18N 2WH 18N 2WH
oo iy 2.WH i 38U 4YE o ) 2WH o 3B 4XNE
Wiring list i 3.8U Tig 4.BK 5.0Y Wiring list i 3.BU i 48K 5.8Y
4BK s 5.6Y 8PK ! 4BK ooy 5GY 8PK
B.PK 7BU i BPK T7.8U
8RD 8RD
iR iTRE ng fag - iTme iTRE i3 iTips TR jaf = TRe ms
Description Order NO . Order NO . OrderNO . Crder NO. Onder NO . Desciption Order NO . Order NO . OrderNO . Order NG . Order NO .
_05m _ SO-MAADIP-FF-SFTASD0AH | SD-MEADAP-FR-SFTASOO0AH | SDHMBB-0SP-FF-SFTASO-00AH SD-MBA-DGPFF-SFIASI-00AH | SD-MBADSP-FF-SFTASOIOAH 0.5m | SD-MBA(SP-FF-SHTBSO-00AH |  SD-MBA-MPFF-SHTBSO00AH |  SD-MEBOSPFF-SHTBSO-0AH |  SD-MBADEP-FF-SHTBSC-O0AH | SO-MBAUSP-FF-SHTBS0-00AH
SH Cusomized | e . - | IR 7% S8 Customized I T L e

30 www.degson.com www.degson.com 3 1



‘!!illﬁiiﬁﬁlﬂl®

M8 Series

M8 x 1 St EHRERIEE |, IRER%E
JEfERL , PCBIR#E.

M8 x 1 Male Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

20

HRMIE Technical Data

MB*1.0

At RTRHER
kol IEC 61076 : . PA
B3 WTHH o
Aaries MB, Male ; CopperAlloy, Geld-plated
Pi SRS
e 03.04,05,06,08 Pin T Copper Alloy with Nickel Plated
e (]
Rated Current 3A max. Soal Silicone
- 60V max, i N Unshielded
SR >100M0 = > 100 mating cycles
FEY — —
Contact i =5m
EFER = = =
ol N —40 ~ +105T
s —
B Gl IP6T —
ko : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
[ A-Coded
Coded
L]
Coding —
Front View E 3
PR
Rated current L 3
HiEEER
Rated voltage L oo
e iTme
Description Order NO ,
— ‘SP-MBA-03P-MM-SFTOME-00AH

®Ht Cuslomized | T e e Il =t 205

R<E@ DimensionFigure

3.40
t@.‘m 1.05 ol
,‘ﬂc{ .,.%{ ] 3 ¢ =
e T e i e :
] {5 I';'__] [-.,"J—r g
i |
350 f,.lf‘g E e
PCB HHn PCB Hs PCB Hip PCB Hifs PCB Hi#p ZERY
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

32 waw.degson.cam

i!!illﬁiiﬁﬂlﬂl®

MB Series

M8 x 1 FLAEREEEE , Rk,
JEFFHE , PCBIR#E.

M8 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

< il bedoc]

FiREIE Technical Data

MI0*0.75
we.9

g:dw IECE1078 m: . | BA
w3l MB, Female MTHA CopperAlioy, Goid-plated
oo Fin 13,04.05 118,08 PIn ﬁfa.u'm Copper Alloy with Nicks! Plated
!lfadtgm e gﬁ.| Silicone
:ﬂsﬂ B0V max. mlw Unshielded
SR =100MQ R > 100 mating cycies
s =5mQa — =
o - = =
Fid 4 —
IP Class IPe7 =
ks 2 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
[ -12]
Codad A-Coded A-Coded B-Coded A-Coded A-Coded
4 4 2 4 g
c:ﬂ?u — Yo o\ o8 g5, o %o
Front View 3 1 o o 30001 O og® Jo 8 o
1 r Q o 1 3 O 01
P
. A 3a 34 A 15a 154
R
Rated voltage N BOV BOV 30V o0V aonv
e i me TmE me iTmeE
Dascription Order NO . Order NO Order NO . Order NO . Order NO
— SP-MAA-03P-FF-SFT001-00AH SP-MBA-D4P-FF-SF7001-005H SPMES-ISP-FF-SFT00T-00AH SP-MBA-DEP-FF-SFT00T-00AH ‘SP-MBA-DEP-FF-SFT001-00AH
Sy Customzed | - e e
RYME Dimension Figure
3.40 . 15
1.85 0 ; (E"
,,,%{;f;] @ 7 || 104 ©F k :
£olo 2 P R o -
i piia—= 2 i el e
I [ /[\:L‘f + {5 (428 2 a1 N £
B ’ . 3 L T g
o2 8 273 o % "
LW o
PCB Hip PCB % PCB Hs PCB Hfs PCB Hp TERY
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degsen.com 3 3



ﬁ DEGSON"® M8 series ﬁ DEGSON" M8 series

M8 x 1 SR ERLRIEE | R M8 x 1 AL ERZEEE , 5=,

21.00
JEfF# , PCBIEEE. EFR® , PCBIFHE.
=
M8 x 1 Male Panel Mount Receptacle, g M8 x 1 Female Panel Mount Receptacle, g b |
RearMounting,Unshielded,PCB Soldering. 2 RearMounting,Unshielded,PCB Soldering. g =
———
)[48-] &b 0Tl % )[48.] e ol
HRMIE Technical Data FiREIE Technical Data
Sﬁl?ﬂ\‘dﬂd IECE1076 ‘mcw i PA gifdw IECB107TE m: i PA
aﬂm MB, Male WTHE CopperAlloy, Gold-plated g’i‘ MB, Female MTHA CopparAlloy, Gold-plated
Pirﬂn% " 03.04,05,08,08 Pin mm Copper Alloy with Nickel Plated P"'*% 2 03.04,05,06,08 Pin ﬁ’u‘oﬁu Copper Alloy with Nicke! Plated
wﬂm t 3A ma. &E Silicons &tgm 3A max. gﬁ.l Silicone
wsu 60V max, m e Unshielded %E?EI 5OV max. mlw Unshielded
SR >100M 0 = > 100 mating cycles SR =100M0 s > 100 mating cycies
FpEE =5mi —_ _— Kl'l: I“ =5ma —_ —_
Eﬁ'l!. pler € o pemioEy —40~ +105T — — E'wm " —40~ +105T — o
g IP67 — = vy e - -
3 - i -
Number of Pins 0S Fin o4 Fin Number of Pins S Fin o4 Fin
W5 i) ?
Coded A-Coded A-Codad Py A-Coded A-Coded
L S L
Coding - % ¢ Coding . Yo o¥
Front View 1 3 Front View 3 1 o 0
1 3 3 1
ERak ERR
Rated current i n 3A S A 3A A
e C1]
Rasted volt v aov BV RIE? it V. aov Bov
7.3 me ik e me
Description Order NO COrder NO . Descripfion Order NO . Order NO
— SP-MEA-DIP-MM-SFTO0S-00AH SP-MEA-DIP-MV-SFT005-00AH | =i SP-MBA03P-FF-SFT005-00AH SP-MBA-04P-FF-SFT005-005H
=& customized | . " o | B4k Cuslomized T | R -
R<E Dimension Figure RYME Dimension Figure
B.50
Jé‘?'u 1 4 2.15 lf\?} e
A X ¥ | s & [T |# g .4
- B T il R A _}_
h “«"._3’ Nl £ ‘}1 ’\-’.9’ 1 B & N o
s "'\'\\ o | = a ‘*'\_\‘ Dy ‘ e oy
N ® 350 %, pig S, 7 S
PCB layout FCE layout FCE layout PGE layout
PCB H% PCB Hfm TERYT PCB H PCB HEfp TERYT
PCB Layout PCB Layout Panel Cut-Out PCB Layout PCB Layout Panel Cut-Out

34 waw.degson.cam www.degsen.com 3 5




ﬁ DEGSON"

MB Series

22.0{ref.)
IEFRil , PCBIEEE, —_
M8 x 1 Male Panel Mount Receptacle, =
[:2]
RearMounting,Unshielded,PCB Soldering. =
v [48.| &n DT 517
§ o A
BARYE Technical Data
f&dﬂlﬂ IEC 81076 W i PA
& M8, Mals Rl GopperAlioy, Gold-plated
L 03,04,05,06,08 Pin g Copper Alloy with Nicksl Plated
wewn kv 2 -
wﬁ B0V max. ﬂm = Unshielded
mm =100M8 —_ =100 maling cycles
SRR =5mf o —
res|
Amblent tamperaturs —40~ +105T = =
o IPET — =
£+ : .
Number of Pins e 04 Pin
]
_— A-Caded ACoded
c:ﬁg = @ 2@
Front View 1 3
1 3
wrRE '
Rated current o A 3A
o v v -
i3 ms s
Description OrderNO . OrderNQ .
— SRVBADIP-MM-SF7005-00AH ‘SRAVBADIP-MM-SFTOC5-00AH
m L ez o
R<'E DimensionFigure
_as0_q & 2.15 $ g
28 o % T & ﬂ'}p l,r"/ )<
picipad L4 4 { s\
T N —— A —F
q _!fr F 'f l‘.?l[ I\_ i )
. i IEﬁJ a o @
‘q(?\f | - Ié?.r 8.50 @3/
PCB Hf6 PCB Hfa LERT
PCB Layout PCB Layout Panel Cut-Out

36 Www.degson.com

ﬁ DEGSON"

M 8 Series

JEFFHY . PCBIR#E.

M8 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

i ABIE Technical Data

TR

£4 % % m

20.5(ref.)
85

©9.0
M&*1.0
[

SW10D E‘:l

o iy IEC 81078 mw‘m s PA
f:‘i‘ M8, Femals T CopperAlloy, Gold-plated
:m"'*w'umlm 03,04,05,08,08 Pin AN Copper Alloy with Nicke! Plated
Eﬁe‘am AAmax. gﬂ Silicone
E‘%ﬂ%\ﬁm 60V max. ﬁuﬂﬂ Unshislded
e =100M8 B > 100 mating cycles
mc |“| Ao =m0 = ey
m_nm —40 ~ +105T —_ R
s et - -
©HE 03 Pi i
: in 04 Pin
Number of Pins
25
o ACoded ACoded
-1 4
Coding i Yo oY
Front View 3 1 o o )
ok
Rated current i A EL
iR
Rated voltage v 6oV 60V
ik e e
Description OrderNO . Order NO-,
- ‘SRAMBAD3P-FF-SF7005-004H SRMBAD4P-FF-SFT005-00AH |
=it Customized |
RI@ Dimension Figure
o N |
fr 2.15 |
8.50 _ry' ¥ L. 3 ot
b # . ol 7 | TR
b L T T 4 % g o [ / \
T _(fgw"F'"fL : o [ -P‘“I _':_ +* _}_
b r ™ \
a.59 g of U&" e so |4
q}d& 1:00 - (';'a 6.50 Bl “‘\d
PCB Hifs PCB Hfh TERYT
PCB Layout PCB Layout Panel Cut-Out

www.degson.com 37



ﬁ DEGSON" M8 series ﬁ DEGSON® M8 series

Rl , PCBIR#E,

M8 x 1 Male Panel Mount Receptacle,
RearMounting,Shielded,PCB Soldering.

B , PCBIR#E,

M8 x 1 Female Panel Mount Receptacle,
RearMounting, Shielded,PCB Soldering.

Ve

M10°0.75
a0 ep P(S. ] . fae]gp B2 o
#AMIE Technical Data A EHE Technical Data
ﬁm IEC 81078 mﬂ bl ; PA g‘ﬁ i IEC 81078 mc ml | PA
B3 T i 3] WTHH i
darine M8, Male o CopperAlloy, Gold-plated Sed M8, Femals c Copper Alloy, Gold-plated
R 03.04,05,08,08 Pin mm Copper Allay with Nicks! Plated r‘lwplm 03,04,05,08,08 Pin ﬁ!u'ﬂ’m Copper Alloy with Nicksl Piated
iR it ] ol 5 e
Rated C 3A max. Seal Silicone Rated Gurrant 3Amax. Seal Silicans
e & e E B "
R it BOV max. il e Unghislded Rated voltage B0V max. Shielding Unshislded
s o >100M0 — > 100 mating eycles acE =100M0 ues > 100 mating cycies
s - — e i —
=5ma =5mi
s T = = L = =
it e 2] _ i 21 _
P Class IEE = IP Class .2 =
HE 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin B8 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins Number of Pins
#S E1 ]
- A-Coded ACoded B-Coded ACoded i ACoded ACoded B-Coded A-Coded A-Coded
@ 4 Sl 4 42 4 2
Coding i z 4 . ; Goding - 4o 5o N, .
Frant View 1 3 ' 5 Frant View 3 1 o o 30, Oh © og® a0 § 9,
. 3 3 4 o o o o
5 2 5 1 2 1
o | sy
sl A, 3 A ETY 150 Ehaictar A 3A A ETy 1.58 154
#EEE R
Bl V. B0V 80V v 30v Wesiivsior Il . 60V 80V 30V 30v 30v
HiiR ms ms meE s #iL ims oms s mes ms
Description Order NO Order NO.. Order NO Grder NO. Deszription OrderNO . Order NO . Order NO.. OrderNO . Order NO..
= SPSHMBAP-MM-SFT00G00AH | SPSHMBAOIPAMM-SFTCI-00AH | SPSHMIB-0SP-MASFION300AH | SPSHMBADBR-MM-SF7003-00AH = SPSHMBAOAPFF-SFT001-00AH | SPSHMBAOP-FF-SFT00100AH | SPSHMBBSPFF-SFTO0I-00AH | SPSHMSAOGP-FF-SFTO0I-00AH | SPSHAMBAUSP-FF-SFT001-00AH
26 Customizad || o | i S | mme ] =9fc Cusomized || — | - - = =
R<'E Dimension Figure R<HE Dimension Figure

3.40 3.40 ; 2.8 829!
1 : ns: 7 | % 4 i 1.95 = la; B— 8
" - / r—-] 0 S T = = —
3| ‘5'01 : : 4 _f’:",( . o o~ I Ly e “E ’L + E a =
iy (R 5 o o F (4] w () | (5 T ¢ 5
[ T \ Pt : | . Vs s L | - o s N; it %
=T LI TTEY TN | LA e "T — T 1 f l 2~ g ® = 3
e S =T : - ) K I — T “"’_T 5} T . =
8 v{& a0 g 3.60 ~ 5, A — 273 g 18| % b
¥ B | @720 . P _ S g Lz = ) » y
PCB HEfp PCB HEfp PCB Hip PCB Hifa PCB k5 TERT PCB Hfn PCB ffs PCB PCB HEfp PCB 5 TERY
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out
- ]|

33 www.degson.com www.degson.com 39



ﬁ DEGSON"

MB Series

JRilg , PCBIR#E,

M8 x 1 Male Panel Mount Receptacle,
RearMounting,Shielded,PCB Soldering.

ﬁ DEGSON"

M 8 Series

i , PCBIRHE,

M8 x 1 Female Panel Mount Receptacle,
Rear Mounting,Shielded,PCB Soldering.

|28 © PEAY, | .

FBAMIE Technical Data

8 @ PEYS | .

i ABIE Technical Data

Elftdmd IED G 1T0 Contact canmers matsrial A gﬁuw e Contard camiers matarial PA
& M8, Mals Rl GopperAlioy, Gold-plated & M8, Femals T CopperAlloy, Gold-plated
P‘“ﬂﬂg - 03.04,05,06,08 Pin ﬁétl'&.u CopparAlley with Nicksi Piated :m e 03,04,05,08,08 Pin mm Copper Alloy with Nicks] Plated
m‘ﬁ“ ot 3A max. g: Silicone %‘g s 3A max. g Silicone
wﬁl 60V max. :‘II!G = Unshielded gd“" BOV max. %HM Unshisided
s =100M8 = > 100 mating cycles e Z100M8 an > 100 mating cycies
mﬁmm T - =5 mm“ =5m0 = ey
ey - —40~ +105T = — iy O —40 ~ +105C — =
P s, 2 = = B P87 = —
ol 03 Pin 04 Pin 05 Pin 06 Pin HE 03 Pin 04 Pin 05 Pin 06 Pin
Number of Pins Number of Pins
1] Eo 1]
Pl A-Coded ACoded B-Coded ACoded i ACoded A-Coded B-Coded ACoded
L] 4 : P 2,
2 4 2 4
Godng Emm 5 3 Cading ETE 5 3
Front View 1 3 1 3 Front View 1 3 1 3
1 3 1 3
[ 2 5 s
el 4 fliean
e A 7S 3 A 154 - A 3 n Y ‘ 158
il el
i v 8oV sV 30V 3ov Bcsizi M V. 60V 60V 30V 30V
e ams ms s s . ims oma ims Tms
Description Order NO.. Order NO. OrderNO .. OrderNO . Description Ondar NO . Order NO. Order NO.. OrderNO .
— ‘SREH-MBA-IP-MM-SF7003-00AH SRSH-VBA-OIP-MM-SFTO03-008H SREHMBB05P-MM-SFTI03-008H SRSHMBAOBP-MM-SFTOI3-004H — SRSHMBAD3P-FF-SF7001-00AH ‘SRSHMBA-O4P-FF-SFT001-00AH ‘SRSH-MBB-05P-FF-SF7001.004H ‘SRSH-MBADSP-FF-SF7001-00AH
25t Custornized | ...... | I = = 5 =it G ged 0 | 00000 e R [ e
R3® DimensionFigure RI@ Dimension Figure
12.50 el 12.50 2 =
2 | X o | g X 2 .40 | & ‘_ {/ |
[=] " : S ' a 3 : S
{:’ J|¢r§—¥ o= § % Do ."ii i) L J Lr‘a. “. o %» § Ml
ol oy = : ' — = ok Y g | J
8 1es | [F \% g o] o 340 \%ﬁ‘ \.ie?p B 185 % & E ‘_ [T | 1
- ‘)% \& K : v “\\5 \% - A :5 :% I
4 . 7201 ' N " | 82404
PCB i PCB H5 PCB HffR PCB HEfh ZERY PCB Hif PCB Hith PCB HEfh PCB £ ZERY
PCB Layout PCB Layout PGB Layout PCB Layout Panel Cut-Out PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

40 Www.degson.com www.degson.com 41



ﬁ DEGSON" M8 series ﬁ DEGSON® M8 scies

R BT,

R, BRATHE.

17.5

M8 x 1 Male Panel Mount Receptacle, S M8 x 1 Male Panel Mount Receptacle, ° ] Bl s
Rear Mounting,Unshielded,Soldering 2 Front Mounting,Unshielded,Soldering 2 = F
without wire. without wire.
SW7  swio
ACOEAe ACEZA
FAMIZ Technical Data HAEIE Technical Data
ﬁﬂﬂﬂ IEC 61078 mcﬂﬁ i PA gl&lﬂuﬂ IEC 61078 mf“:ﬂﬁﬂ i PA
f'i. M8, Mala T CopperAllay, Gold-plated g’}” MB, Mals SFEH Copper Alloy, Goid-plated
P"'ﬂ!r!g - 03,04,05,08,08 Pin mm Copper Allay with Nicks! Plated mpm 03,04,05,08,08 Pin %‘u‘m Copper Alloy with Nicksl Piated
wc IA max. gﬁ Silicone %‘gm JAmax. BR;II Silicone
wﬁﬂ B0V max. Mm =100 mating cycles %E‘EI 0V max. e vaid e = 100 mating cycies
maam >100Ma — — i Z100MR - -
p— = _ _ R £5m0 — =
Ambient tempsrature T - — mﬁﬁmumm —40 ~ +105T — —
'32?: 2.2t = = IP Class 1Pz — ==
FHE > 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin ks : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins Number of Pins
1] ]
Coded A-Coded ACoded B-Coded A-Coded Coder A-Coded A-Coded B-Coded A-Coded
£ 4 SE A y
IR IRE o =l S| 6
Front View 1 3 | 3 Front View 1 3 1 3
A A 1 3 :
5 2 5 P
o | s
Hee ey A, 38 3A A 1.54 Rated cimront A 3A 3A A 154 1.5A
e
Rated voit W, B0V BoV gy 30v Him:ﬂc W BOV BOV 30V aov 3o0v
HiiR ms ms meE s ik s ms ams ms imes
Description Order NO Order NO . Ordar NQ Order NO . Desoription Order NO . Order NO . Order NO . Order NO . Crdar NO .
= SDMBACIPMMSFTIB00AH | SDMBADIPAMSFTOOR00AH | SDMBBOSPMMSFTOOS00AH |  SDMBAOSRMMSFTONS-00AH = SDMBAOGPMMSHTIZ00MH | SDMBAOIPAMSHTOZ00AH |  SDMSBOSPMMSHTOOR00AH | SDMBADGAMMSHTIOZ00AH | SD-MBAOSP-MM-SHFO0200AH
B Customized | e | Sy o A - ] =8 Customized | - R = N
R<'E Dimension Figure R<HE Dimension Figure
’ A% ' T
: > = o -~ i “
S o
e # dodo ol |8
2 2
RERT TERT
Panel Cut-Out Panel Cut-Out

42 www.degson.com www.degson.com 4 3



ﬁ DEGSON® M8 sorice ﬁ DEGSON® M8 serice

M8 x 1 AL ERERERE  ReRE% ,
EREE BT L.

185 M8 x 1 FLzl B iE i ' AR '
IR | BT,

16.5

M8 x 1 Female Panel Mount Receptacle, E 2 M8 x 1 Female Panel Mount Receptacle, ° 2 2
o3 P = &
Rear Mounting,Unshielded,Soldering z|%|® Front Mounting,Unshielded,Soldering 2 N
without wire. without wire. -
SWT
HEE2EcAR EE2ECAR
BARMIE Technical Data B REIE Technical Data
E"E IEG 61076 mﬂ PA f‘d‘m s IEGB1076 mc B S PA
B3l M8, Female Rl CopperAlioy, Gold-plated 3l M8, Female BTHE | CopperAlloy, Gold-plated
P""ﬂﬂg " 03,04,05,06,08 Pin ﬁi&lm!ni'.u Copper Allay with Nicks! Plated :m o 03.04,05,08,08 Pin Em:u'oﬂm Copper Alloy with Nickel Plated
mgm - 3Amax. a Sllicons ﬁd‘g s 3Amax. sl&ll Sillcons
wl S0V max. f}m e > 100 mating eycles ﬁdﬁl B0V max. m‘? e > 100 mating cycles
i >100Ma — = IR >100M0 - =
mﬁmm ging - - mmu Fng - -
Em,“" o —40~ +105C — — m’m " —40~ +108C — —
P s 7.4 = — ity 1P87 = —
aka : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin P : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins Number of Pins
T k)
Coded A-Coded A-Codad B-Coded A-Coded A-Coded Coded A-Coded A-Coded B-Coded ALCoded A-Coded
4 4 2 4 5 B 4 2 4 g
c!dﬁo p— Yo oV oo 0 4g o a8 G?&‘igna - Yo oV oo [+ e O 8
Fran View 3 1 c o 39 4 Ch (e o°f 4 § 9 Front View 3 1 0o o 30 4 On % og°f 4 § o
3 1 o 0 4 o_ 0 3 1 M0 O \ 0._o0
Hl Fi 1 il 2 1
PR PR
oz A, A 3A 34 154 154 it A 3 A 3A 154 15
nﬁ“ v, 80V sov 30V v aov m' v, 6OV 8oV v 30V oV
fiE ms me e e iyms ot ime s ms Tme oms
Description Order NO.. Order NO . Order NO . Order NO . Order NO. Descripton Order NO.. Order NO . Order NO . Order NO . Order NO .
— SOMBAQGPFF-SFTO01-0AH | SDMBADWPFFSFI0I00AH | SOMEBUSPFFSFIDIO0AH | SDMEADSPFF-SF/IDI-D0AH |  SD-MBADBP-FFSFTUCI-OAH — SDMBADIPFFSHTIOZO0AH | SO-MBADOIPFFSHTOCZO0AH |  SDMBBOSP-FF-SHTOGZ00AH |  SO-MBAQEP-FF-SHTDZ00AH |  SD-MBADBPFF-SHTO0200AH
B Customized | e o e R T #8{k Customized | e = - - R P =
RYJ@ DimensionFigure R<I® Dimension Figure

“108£ 01

©8.1£0.1

RERYT RERY
Panel Cut-Out Panel Cut-Out

44 www.dagson.com www.degson,com 45



ﬁ DEGSON"

MB Series

M8 x 1 $tIVZERMEL. IEFE® , 46.5 REF

IBETiER , Bk,

M8 x 1 Male Field Assembly Plug.
Unshielded, Screw Connection,Straight.

0|84 @ PEGS, |

FAMIE Technical Data

(ﬂ".a

8W13.5 5W12.8 SW13.6

R TS katel
i IEC 81078 ot ] PA
31 M8, Male R GopperAlioy, Gold-plated
mﬁ Pirs 03,04 Pin ﬁéﬂl!&-u CopperAllay with Nicksl Plated
= same. ue -
w'ﬁ E&a” 6OV max. ﬁuw Unshielded
e e >100Ma wee > 100 maling cycies
maa_ £5mD = —
Amiblent tamperaturs —40 ~ +85T A —
s tper = -
B 03 Pin 04 Pin
Number of Pins
L1
Goded N A-Codad
HR
Cooding TR 2 4
Frant View 1 3
1 3
HETREE T
Rated current % A Ll
#iesrs
Rated voltage v 80V a5
R ams T
Desription Order NO . Order NO .
- PB-MBA-03P-MM-SLT001-00AH PB-MBA-04P-MM-SL7001-00AH
S{® Component partdrawing
3]
B gaal
slaeva ‘
B
‘ e e
) T ﬁ\]\ L’ )l prassing screw

male insert

46 wWww.degson.com

— @)

ﬁ DEGSON"

M8 Series

M8 x 1 FLENEIZA L. IEFR ,

IRETIERE , Bk,

M8 x 1 Female Field Assembly Plug.
Unshielded, Screw Connection, Straight.

o |48 & DT ¥ .o

A BE Technical Data

214

40 REF
= ¥ ™
—
— |
= * -
SW135 swize sWi3

‘g;?‘;,,“ IEC 81078 mﬂm S PA
?:L MB, Femala m Y CopperAlloy, Gold-plated
Aol 03,04Pin =N Copper Allay with Nickel Plated
:ﬁd‘gm SAmax. g_-l Silicone
!M%UE\EW B0V max. gldnq Unshielded
mm =100M8 mwm > 100 mating cycles
Ot dtancn <sma - =
e trsranse a0~ +es = =
e IP6T = —
Num 2’%! Pins Ll 04 Pin
B A-Coded o
G:l;nng > DA
IETmR
Front View sq \o of
R.mm f an an
m- . Bov B0V
oosmpton . R
= PB-MEA-03P-FF-SL7001-00AH PE-MBAD4P-FF-SL7004-00AH

S4® Component partdrawing

FELk —

female insert

ERRL

pressing screw

WWW,degson com 47



ﬁ DEGSON" ﬁ DEGSON®

M8 Series M8 Series

M8 x 1 §tRXIAARREL. Bl 47 ReF
IRETERE , Bk, "
hY

M8 x 1 FLENEBESEEL. Bl .
WRETIEERE , B3k,

47 REF

M8 x 1 Male Field Assembly Plug. alw : Q ]]] M8 x 1 Female Field Assembly Plug. o[l |
Shielded,Screw Connection, ‘i 5 Shielded,Screw Connection, S
Straight. swi Straight. -
SWH4
A £h ;’ « [48.] an
#AMIE Technical Data HFHAEIE Technical Data
ﬁdﬂﬂ IEC 81078 ‘m: et i PA g‘ﬁm IEC 81078 mf “::m i PA
f'i. M8, Mala STHE CopperAlloy, Gold-plated g’}” M8, Femals SFEH Copper Alloy, Goid-plated
R 03,04 Pin mm Copper Allay with Nicks! Plated mpm 03,04 Pin %‘u‘m Copper Alloy with Nicksl Piated
w 3Amax. gg Silicone ?‘f“‘g e 3Amax. g;ll Silicane
w&m SOV max. gigﬂh'ﬂ Shielded !MEQ?EI B0V max. ?PE““ Shielded
e o >100Ma wee > 100 mating oycles ey AR >100Me ees > 100 mating cycies
p— - _ _ R =5m0 =i o
Ambient tempsrature il - — mﬁﬁmumm —40 ~ +85C — —
gtg IPBT = = m IPET = e
T - 04 Pin 5 ' 04 Pin
Number of Pins S Number of Pins e
1] ]
Goded A-Coded A-Caded Coded A-Coded A-Coded
B 4
ool - z ¢ cading —" %o o¥
Front View 1 3 Front View 3 1 o o
1 3 ) 1
W Hireeas
Rated currant & St A Ratad current i) W ol
e
s - o | - -
R me E-
Description OrderNO, okl Description S Ddsco:
bt PBSH-MBA-DGP-MM-SLTA01 -00AH FBSH-MaA-D4P-MM-SLTO01-00AH —_— PBSH-MBA-03P-FF-SLT001-00AH PBSH-M3A-04P-FF-SLT001-00AH
S{&® Componentpartdrawing SH®E Componentpartdrawing
piEar |
seal
R | ERes
pressing screw / pressing screw
B
1
sttt =) S <
E: -‘-.I ) 3
male insert pinch ring Ak \%)‘I} pinch ring
famale Insert  ~Z.L=—

48 www.degson.com www.degson.com 49



ﬁ DEGSON" M8 series ﬁ DEGSON® M8 scies

M8 x 1 $tIVFEREL. IEFEm ., a7 Rer M8 x 1 FLXIVAEREREL. JEFR R

B, Bk, Bl Bk,
O —
M8 x 1 Male Field Assembly Plug. = M8 x 1 Female Field Assembly Plug.
Unshielded,Soldering Connection, — Unshielded,Soldering Connection,
Straight. SW13 sW11 swise Straight.
¥ [48.] & ol / [48.| 2n
SAYIE Technical Data HAEIE Technical Data
ﬁdﬂﬂ IEC 81078 mcm i PA gixlﬂﬂﬂ IEC 81078 m[“:ﬂﬁﬂ i PA
f'i. M8, Mala STHE CopperAlloy, Gold-plated g’:” M8, Femals SFEH Copper Alloy, Goid-plated
PR 03,04,05,08,08 Pin g Copper Allay with Nicksl Plated R 03,04,05,08,08 Pin e Ll Copper Alloy with Nickel Piated
w 3Amax. gg Silicone f‘f“‘g iz IAmax. . Silicone
wﬁlm . B0V max. gigdlnﬂ Unshislded gf&dml B0V max. ?I’Eldm Unshislded
ot Do 2100Ma . > 100 mating cycles EEh >100M8 il > 106 mating cycies
amE <5mn — — e <5m0 = —
Ambient tempsrature il - — mﬁﬁmumm —40 ~ +85C — —
pESE ier - - P Gt a7 = =
o 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin e 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
O::IE : A-Coded ACoded B-Caded ACoded c:gd ACoded A-Coded B-Caded A-Coded A-Coded
wH 4 4 4 2 4 5
G:dino % y c:rm Yo of 00 o 450 58
TR 5 3 MR 3o O e
Front View 1 3 3 Front View 3 1 o o 3l ,0n o8 & § o
1 3 3 1 o o [ e )
5 2 5 4 P~
o A 3 A 3 1.5 154 e A A 3 E'S 154 154
RM-F%" W B0V BoV gy 30v a0y R’m W BOV BOV 30V aov 3o0v
g s ms meE s ims L s ms ams ms me
Description Order NO | Order NO . Ordar NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO . Cirdar NO .
- PAMBA-O3PMM-SL7001-00AH PAMEA-D4PMM-SLT001-D0AH PAMBE-DSEMM-SLTD0N-D08H PAMEA-DEPMM-SL 7001 -008H PAMEADEPMM-SLT001-008H = PA-MBA 03P FF-SLT001-D0AH PAMBA-DIPFF-SLT001-008H [RA-MBB-05PFF-SLTD01-00AH PiEA-DEPFF-SLTO01-004H PAMAEAOEPFF-SLTD0T-008H
S{&® Componentpartdrawing SH®E Componentpartdrawing

=M

sleeve

ERgEE

1] pressing screw

3 _ EREs

gl pressing screw

Astms

Stalmmsk female insert "=

male insert

50 www.degson.com www.degzon.com 5 1



ﬁ DEGSON® M8 sorice ﬁ DEGSON® M8 serice

M8 x 1 (e HlipiALEEL. il , M8 x 1 AL IIFELEEL. B,
- 48 REF
EiEL , 8. 52 REF BiEl , Bk,
M8 x 1 Male Field Assembly Plug. ] M8 x 1 Female Field Assembly Plug. - E =
"‘_ . - - s
Shielded,Soldering Connection, = H Shielded,Soldering Connection, =
Straight. ~J|* Straight.
EviTe SW13 sSwiz SWi4
HEE2EcAR EE2ECAR
BEiRMIE Technical Data BiREE Technical Data
ﬁiSl fard IECE107T6 mﬂ PA m“ IECB1078 mcm kel PA
s‘ﬂn M8, Male o EClal CopperAlioy, Gold-plated Q:L M8, Femala Hﬂﬁ: ; CopperAlloy, Gold-plated
P""ﬂﬂg " 03,04 ,05,08,08Pin ﬁi&lm!ni'.u Copper Allay with Nicks! Plated :m o 03,04,05.08,08 Pin Em:u'oﬂm Copper Alloy with Nickel Plated
mgm i 3Amex. a Sllicone ﬁd‘g s 3Amex. sl&ll Silicons
wl GOV max. lg-hfldhc Shielded :;Ed“l BOY max, %W Shielded
s >100M0 ﬁml RID > 100 maling cycles IR >100M0 el > 100 mating cycles
mﬁmm S a - - mmu sl = e
Em” ey o —40 ~ +85T — — m’m " —40 ~ +85T — —
i P67 - - g P67 — =
N : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin FHE : 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins Number of Pins
T k)
Coded A-Coded A-Codad B-Coded A-Coded Coded A-Coded A-Coded B-Coded A-Coded A-Coded
L 4 E- 4 4 2 4 B
Coding p— & o Coding Yo oV [o s} o i O [0
5 3 IEmIAE 3a o8
Frant View ! 3 1 3 Front View 3 1 o o 3\Q 4 On g A© 8 9y
1 3 5 N8 3 1 ;: 0 0 4 20 Q ’
R e
e A, ETY 3A 34 15A 154 Rt A ETY 34 3 158 154
nﬁ“ v, 80V sov 30V v aov m' v B0V 8oV 3oV a0v aov
i g me i e i ot mea s i imme Jme
Dascription Order NO . Order NO . Order NO . Order NO . Order NO. Description Order NO . Order NO . Order NO . Order NO Order NO .
= PASH-MBA-OZP-MM-SLT001-00AH | PASH-MEA-DAPMM-SLTD01-00AH | PASHMES-OSP-MMESLTO0-00AH | PASH-MAADBP-MM-SLTO01-00AH | PASH-MBA-DEP-AMM-SLTO0N-00AH = PASH-MBA-03P-FF-SLT001-00AH PASHMBA-DAPFF-SLT001-00AH PASH-MBB-05PFF-5LT001-00AH PASH-M2A-06PFF-SLT001-00AH PASH-MBA-DBP-FF-SLTOM-00AH
S{® Component partdrawing Z4MW Component partdrawing
Eﬁl
A %N
?ﬁ shielding ring | = ERRE
sloava —
WS R ) pressing scraw
| | . ﬁg‘? K - pressing screw J
- yGQ)E S
)} I | Atk |
ﬁm&e = -‘jm Z B ] female insert

pinch ring pinchring

52 www.dagson.com www.degson.com 53



ﬁDEGSOJW M12 s0rie

BEFEESRSEBHAN  Circular Connectors Part Number

ﬁ DEGSON’

B EERRRREHEMA  Circular Connectors Part Number Reference
opfn - wm2[] - [ e - D01 - CIDIOIEIEIE] - CC]AH

M Special coding
DO4ERER 00-Standerds
=i 01 - 9eER
Pinftk Nurnber of Contacts 1 ~ 85-Extended praducts
oo
03,04,05,06,
08,10,12Pin(Pini) BEGS Quallty grads
HT SR
'H* RoHS Complaint  —
£ Coting
0 A-A-Goding
o B-B-Goding
0 B-D-Coding S, Connactor Styls S P Clnas
0 §-8-Coding
0 T=T-Coding O M- Mals Conmactor (£:35) D4mipss
0 X-X-Codling [ F- Femals Connecior (5§55 O5=1P&5
O6=IP86
O7=P&7
o8=Pes
TR Wth or without Shielded MFRSE Contact Type Jk® Sarial Numbar
L 0 8H Shiskded (JEE) 0 W - Male {£3) e 000: Phantom SRUBHE
0 Unshlsided EFBE) O F-Femals (&) Without Cable $0.T5E: A,B.D)
Unshield
001
Shield
001; Gable OD: 4.5~6.0mm
001: Ceble OD: §.0~7_Smm
LA, Assomble Style 7550 Mating Style Fn;::_r;&m PR, SO0
O M-Malding Type (fL88E) 0 8 - Serow (iRES) B OUZ:M16"1.5
O AR bly Type (HE8ET)(Sclder) O F = Push Pull (iiriist) O 003:M1291.0
0 B-Assambly Typs (3T Scew) rﬂl Cable (XA M)
0 D-Solder Type {#Res) T A-PVG LL2817 Black Gehle
£ P-FGB Type (180RNREHF) il rsroldd
T SUL2464
0 R-PCB Typo (00T <L) 0 BPU 20648 Black Cable
O G-Crimping Type (st $ g:dﬁlm-ﬂmusu
7 E-Crimplng Gabie Typa (MM 0 C-PVE LIL2817 Black Gable For UL
a
DL-LED Type (LEDKREED O X-Cate 6A Cabls
K01 - 1M~
o B |, B5PHERRRTIAIPEE. » £85HE : PUR, PVC. 99- 99M
= AiGERES, WE. BF . KATESE, o B IP6B, IP68K, ;-u%::;:;)?
o WA EIMIEAYIERSE | WILE, * GRS, iy e B FIEIDROR: UL 1061
O P-Rlug 0 L - Stralght (B For Molding and Assernbiy) %
o TGRSR ﬁﬂﬂllfiﬂﬂﬁw. o R, {IE5L For Molding and Asssmbly) U1 R - Right Angla (8L For Molding and A iy 0 AR :PEY
o ARG,  ER TS, RN BEFE, o SBERA AR, O § -Socket O & - Sguers (MEFor Panel) o zm:::::.:
o H o
o ERATEMESMNEERA. & FrEIECS 10760, {ERR Pox Pl £ F - Front Hewagonal (At7#aEEFor Panal) m:mm {150~1500mm)
« IS EERACERERE. O H - Reser Hexagone! ([ 8/ AE8For Panel) st il
0 W - Front Clreutar (SIS or Panel) (1MR1.I:E.@
O N - Rsar Clreular {S41EEEFor Panel) O AD:1000mm D A1:1100mm
Advantages Features
&8 -
® Good -seallng_parromm-,w IP clags up to .IP fia. @ Cable material: PUR, PVC. 1. M1ZHSEIESPIn: PM-M12A-05P-FF-SLBA01-00A(H)
# Used in the signal transmission data transmigsion, ® |P-class: IPG8, IPGBK. S SRR |, M12A-Coding, 5Pin, SEBEPIn, ESE , Hik , BrkeE@Ipes , PYCEBIMEULIS TEHRM , K1.0M , FER.
powsr supply stc. @ Coding is optional. 2% . MBS . ()" . " BDBRESEE 10 : PMM12A0SPFFSLBAC100AH
® Wilth different coding,pravent error connection, # Shield Is optional. For example:
# Shield is optional, provide reliable electromagnetic ® Wire connection method is optional. 1. M12female plug 5PIn: PM-M12A-05P-FF-SLBAO1-00A(H)
PI'DtBCtbﬂ- ° Complam with IEC 61076 standard. Dretails: Plastic covered at the end of wire,M12 A-Coding, 5Pin, fomale sccket female Pin, thread locked, straight head, IFE8, PVC black kackat.

e Wire connection method is optional,suitable far
continuous shock and vibration environment.

# Connection technology is suitable for all application fisld.

@ Compalible with same seriss connectors on the market.

Covared by UL2617 wire, the length of 1.0M, stendard producis.
2. Delete ** , “"decimal point ", "() *, "space "thanit' sthe finigh product number,such as: PMM12A05PFFSLBADY D0AH.

54 Wrw. degaon. cam wWww. dagson.com 55



ﬁ DEGSON"

M1 2 Series

M12 x 1 gF=Ua B Es ek | B | 3F =
B , B3k,
3 &
M12 x 1 Male Overmolded with Cable © e
Plug,Single end,Unshielded, Straight. 3
—
48.] an
BiANIE Technical Data
e b e
b 1EC 81078 e fsul | BU
R TR
Sari M12, Mela,Siralght i al Copper Alloy, Gold-plated
HREN
Numbsr of Fine 03.04,05.08,08.10,12 Fin Nestal af nut Zinc Allay with Nickel Plated
SR Bm
Ratad Currant A e Seal Sllicone
mmsz 2o smpae -
i 2R g
Inaulation reslstence Z10080 Shiskling Unehlglded
”‘E_' <Emo “,”':-'. > 100 meting cycles
m. e e —25~ +80T —_ —_
|Pc:|mu P63 —_— =
S 03 Pin 04 Pin 05 Pin 08 Pin 08 Pin
Number of Pins
L )
bkl ACodad A-Coded ACoded ACoded ACodad
Gm 4@ * 4(@ q{ﬁ\.\*
Front View [ I ] I{. .3
1 ™ 1 z 88
L
K i A 4A a4 a4 A 28
BERE
Ratod voltage v 250V 250V a0V v v
= =
Wire gauga Z2AWE ZZANG Z2ANG 24MM3 4ANG
f )
Cross section 0.34mm?2 0. 34mme 0. 34mam 0.25mnt By g
Wira/Gable i 1WH 1WH
1BN . 28N 2BN
41BN 2WH 36N
. 2WH 4.GN AYE
WWiring st 38U S U 4YE 5GY
4BK 48K BPK
4BK BPK 78U
s.Qv 78U 8RD
E i 3 s RS e e s
Description Order NO . Ordar NG - OrderNO , Ordar NO . Order NO .
1m PVEMT2A D3R SLEADT 00AH PVATZADIPABA LA 00 FRHATZA D5 M SLBAD 0OMH P 2A-00P-MIU-ELBA0T-00AH P24 CBR-NILSLEAD! 00AH
P am PAHM12A 03P W ELBADI O0AH PHEMEA-DIPAB SBT3 O0AH FAHA12A J5P-HM-BLEAS-00MH PHHHZA6P-M-ELAACE-00AH PRI 28PN BLAACH-O0AH
Eul PR 1200 MV-SLAALS-D0AH PR T2A-DAP-MVHELAADS-O0AH PR 12805 MM-SLEADS-O0AH PRWH2A06P-WR4-SLAAOS-00H PR 2A-CAPVM-SLAACS-D0AH
m cummhﬂ ............... [ (R T T
m PR 20 0P WNHELIE! DA PHMTA-IPAA SLBBO IO P10 D5 MM-ELEE 00N P 2ADEP-M-ELIERN-00AH PUA2A8P-WHBLEE! DA
PUR 3m PRM 1 2A-03PMM-S1 RRCSLO0AH PRERT2A-04PA8 5L AB0S-008H PRAM12AD5P0-B1 ARISO0AH PRUAH2A08P-W84-51 AR03-D0AH PR 2A-DAPMRLSLRRCS-D0AH
6m PAEM1 25 08P-WN SLEBS O0AH PAELH2AMPABASLERDS OMH R4 ISP ML SLBE05 00 PHLH2A 06P-MU-ELARS 00AH PHMA 2A- 8PN SLER0S 00AH
m cummhd ................ T [ ey
1m PHEM12A 00R - SLACD100%H PHEMT2A P M SLECTT-004H PRAM12A D5 MM SLECO1-D0AH PHAH2A 06P-MI-SLACH 004 PHN1 25 08P VAL SLACD1-00°H
am PRENT 25 00PN EL ACTA00AH PAELHZA AP SLACIA-00AH PLAT2A DR -5 ACOR-00AH PAH2A O6P-MI-ELACHS 0MH PN 2 CAP-NISL ACTR-O0AH
il | PVG Bm PR 1 ZA 03P ML PV T2A MM HSLACOS D0AH PRHATZA DSPHM-ELBCOS D0AH PRRHZADEP-R-SLACTS-00AH PR 250BP-MRMALBCOS-008H
=5t Customized e e e e
m PAEN124.08F MR SLEDOT-00RH PAEMTZA UM SLED0T-00AH R0 06 HM-SLEO0-D0AH P 24 06P-M-ELAD01-00AH P25 CBP.MLSLED0T-008H
3m PR, PR 1 | PRLA128, PR A DGR NS SYB-NAH PRI
ShalPUE sm PHHM1 24 03P-MMSLEDOS-00H PR T2A- P SLACOS-008H PRHA12A-05P-HM-SLED0S-00AH PHHHA-D6P-MI-SLADNS-00AH PR 24 BRI SLEDOS-00AH
ek Custombzed | 0 e | e e e

58 Wwrw. degscn, com

ﬁ DEGSON®

M12 series

M12°1.0

3 ;
M12x 1 e AREIERBNIESL , faik , 3 EX lﬂ%
BE, B3k, |
= e s
. o
M12 x 1 Male Overmolded with Cable =l L
Plug,Single end,Unshielded, Straight. 3
K=I
|28 s
) =y
BiRPIE Technlcal Data
e rRbE
i [ECB1078 . i B PU
A BIHA
i M12, Wale,Siralght o ok Copper All oy, Gold-plated
Fi"'im:m " 03.04.05,08.08,10,12 Fin m‘m Zinc Alloy with Nickel Plated
Rated Current il S gg Sllicons
mmax s— ammen rumeve
insulstion reslstanca =100M2 "mi Unshilsided
mm <Emo E‘m? s 100 mating eycles
EMRE Sl
Anblert, lampareture e = ==
IP Cless IPER —_ —
= ; ; g :
Number 6TRING 10 Pin 12 Pin 05 Pin 04 Pin
L]
i B-Codad D-Coded
bt 3 4 3
5| o i
Front View e5e /
1 2 =]
e
Rated currant e iy, 104 b i
MERE
Rated voltage V. 0V v 60V 250V
a5
Wirs gaugs 26ANG 26AWG 220G 280G
. 0.14mm? 0. 14mm? 034mm? 034mme
FERE 1BN 28U
WinkiCabla e g BWH 40N pns 1BN
ey ::(" :’:: EPK YW :'$ 2%H
Wiring Bet ; TBK BOY ; 3BU
T.8K B.GY 4BK
ARD 10¥T 4BK
9RD 10MT Gy
1.GYPK  12RDEU
73 wes eps irpe o -Lo)
Descripion Ordsr NO.. Ordor NO . Order NO . Ondar MO .
im PAHAZA-10PARASLEADT C0AH P 2A- (2P WN-SLAACH 00AH P2 CEPMALSLEADT C0AH PAHATZD-00RMIASLEADTOH
_— am PAHBTEA-IPARMELAAT-00H PV 2A-125-WN-SLEACO0AH P25 05P-MBESLEANS O0AH AT DORMESLEATE-DOAH
sm PHHRT2A-TIPARSLAATS-00RH FVHM 2A- 2P SLBACS-D0AH PHHMT2B-05PMM-SLBAIS C0AH PHEMITZD- 4P SLAAS OO
Eﬂm mmd L T T P ™~
im PAHUTEAP-AMELIBI-00H UM 20 12P-N-ELEEC-DOAH PRH125 05PN SLEB! O0AH PRHATID-DIRASSLBE0TO0AH
- am PhERTEA AP A SLABI3-00AH RN 2A- 125 N5 B3 D0AH PAR125 05PN SL AR O0AH PAEMED-OIMA L BBI5 COAH
&m PALRZA- 0P ELABIS COAH PARMH A (3P W-ELBROS00AH PAAM28-C5PMALSLABOS C0AH PHERTZD-04RMASLEBDS COMH
Eﬂﬂ: f d o B R (N . =
m PHLBTZA-TCP- VW ELBCOT00AH PRIV 2A-12P-WN-SLECD 00°H PYAM128 05PMALSLACTT 00AH PAEMTZD-D4R M- SLECT-004H
| e am PRERHZAAIPARASL ACDE-00AH PARM2A- (2P AN ACTB00AH PAIH 28 05PN SLACTIO0AH PRHITED-0dPMSLACIA 00H
" sm PNMTEA TUPAMSLACIS-00AH PRV ZA-LZWN-ELECOS 0 P12 5P MM SLECTS 00AH PHHMTED-OOFMMSLBCS O
il Gustomized = v e =
1m PHHAIZAA PNV ELACOT-00AH M 2A- 2P ELEDOT00H PAANZE C5P-MALSLADO1.00H PAHMTZD 4R A SLEDOT-00AH
B8 | PUR am PRLATEA-1 £1B003-00RH PREMI2A-1 2P I ED030AH | PRLTZD-D4RASA-SLBOI-O0AH
' sm PHEMIZA-1IPAMSLADRS-000H PYHM2A- 12PN SLEDEOS-I0AH PYHM1Z5-05PMMESLADOS-008H PAHMZO-D4RMIA-SLACOS-000H
EfH Customized o F e | I e =
www. degeon.com 57



:E:llﬁiﬂﬁlﬂ'ﬂ

M1 2 Saries

‘5ill£!ﬂﬁﬂ""®

M1 2 Series

a o |
M12x 1 StUAR RIS RS, | B | 3 [wn
bl
B, 5L, iy
@
M12 x 1 Male Overmolded with Cable i -
Plug, Single end,Unshielded, Angled. 3
48,
.
| warwmor I P
BiANIE Technical Data
e T bt
Standard 1EC 81078 Contact oarrers matsrlal Y
R TR
Sari M12, Mela,Angled i al Copper Alloy, Gold-plated
HREN
Numbsr of Fine 03.04,05.06,08,10,12 Fin Nt af nut ZincAllay with Nickel Plated
SR Bm
Rstad Currant A e Seal Sllicone
EnE TR
Rtad voltage ZIRV g Cable |acket matsriel PURAFVG
BEE i
Inaulstion resistance =100Ma Shiskding Unghielded
AL i =
ST ks e Niachaical ife > 100 mating cytes
meax S = =
i iPes - -
H 03 Pin 04 Pin 05 Pin 08 Pin 08 Pin
Number of Pins
L )
- A-Coded ACaded #-Coded ACoded ACodad
L) e — ]
- @ 4 ?:i.)a o ot
Front View [ BN | ?{. .23 7. : 3
LN 1 2 88 ;08
L
Rated current % " b % A
WA
Rated voltage Vv 250V 50V B0V 30w E
= =
Wirs gauge Z2AWE ZZANG Z2ANG 24MM3 4ANG
AR GMF i 0.34mm?2 0. 34mme 0. 34mam 0.25mnt By g
Wira/Cable
1.0 1WH
BN 1.8N . P
sk s 2WH st e
liat : X
Wiring o :: avE sey
4B BPK 7BU
s.Qv TBU 8RD
] baf- 0] s ome Eap1-3 far:
Description Order NO . OrdarNO . OrlerNO , OrderNQ.. Order NG .
m PR A BN SREAOHIAH FAET2A D4P-0 SREADT C0AH FIHMT2A 0PN SREADT.OAH FAHMIZA08F- M- SREATT-00AH P 2A CARMISREAOTI0AH
Mo 3m Pl 24 03P MR ERAADIIOAH PR ZA-DAP SRR DA P 2A-05P-RE-BRAALC-O0AH PR 2A-DEP-LIA-ERAATE-00AH PHM 25 D8PWVREBRAADIIOAH
Eul PRAMT 2053 MAESRBADS00AH P E2A-04P-M-SRAADS-O0RH PR 2A-05PA-SREADS-00AH PREM 28-D6P-MI-SRAACS-00AH PR 2ACPMRE-SRBACS-O0AH
RN Customized || e | e | = T s e
im Pl 2403 PN SREE0T-000H PRHAT 28D SREE 100AH PR 2ADSP-AH-SRABT-00AH PhH 2A-0P-#A-5FREE0 1 -O0BH P 1 24-08PWRE-SREE01 -000H
PUR 3m PR 2A-D3PMRE-SREB03-00AH P 124-04P 50 SRERDS-OOAH PhA-LT2A05P A SRABIDOAH PR 24060 -W-SRARO3-00AH PR 2ACAPRI-SRARNA-0AH
Bm PR 2A-C3PMRE SRRA0E-00MH PR 24 D4R ML SREB05-00MH PRAMA2ADEP R SHABIS-O0AH P 28 CRP M- SRAROS-O0RH PR 2A-08PWRESREANE-00AH
el L — = T
m A2 3P MAFSRECTT 0P PAHN12A P14 SRECT 0RH P W12 057N SRECOL IOAH PAHMIZA 06714 SREGIN-00AH PHM1ZA QR MM SRECOI 00
| PVe 3m PR 23R MR SRACTAO0MH PR T2A-04P JBA SRACIC- OO PR 2A05PREE SRACO-O0AH P 20P WA SRACIO0AH PR 28 08P WRISRRCHSOMH
Bm PR 2AC3PMRASRECIS-00eH P 125D 4PV SRECOS-D0H PR 2A-05P R BRBCOS-00AH PRH2ADEP-HI-BRICHH-00AH PR 2408 WRA-SRACIS-00AH
=l Customized R e
m PR 2A.COR NV SREDOT-00AH FAEN12A 4P 1A SREDOT-0AH Fiv+AH12A 05N SREDOO0AH PAHMIZA06F- MM ERED01-00AH P M1 22 0PV SFEDOTO0RH
3m PR 28 03P MRBRADNA-D0EH P 128 D4PAM-SREDIG-D0MH PR 2A05PH-SRBD000AH PRV 2ADEP-MM-ERAD0-008H PHM1 28 DPVRSRED03-008H
Ml PUR am P 2ALGPMVESRBO0S-008H P 1 2A-D4P-MM-SREDOS-004H Ph-W1 2A-05P-AI- SREDOS-00AH P 24-5P-i-SREDOS-00AH P 2AD5PYRE-SRID0S-00AH
ML Custombzed | 0 e | e [ T L ke

58 Wwrw. degscn, com

& ¢ |
M12 x 1 fHUp R RSk |, ik | 3F biieg
B, L. I
&
M12 x 1 Male Overmolded with Cable B =
Plug, Single end,Unshielded, Angled. 3
LY /
.I.g-ll m
BiAREIE Technical Data
ok Brakiste
Standard 1E0307E Contact caners materlal kA
] TR
Sert M12, Mels, Angled Conbat ; Gopper Alloy, Gold-plated
Hmru Pins 03,04.,05.00,08,10,12 Pin m‘“‘mnu, ZincAllay with Nicke! Plalad
Ratiad Currant Afmas. a Sllicone
R =L e
Restax voltage AT Cabls |acket maters! Ll
EERE B
Inauletion resistence 210010 Shiieiding Unghielded
ol 1) =8ma ““?_ w® =100 mating cycies
‘Amiient temparature Sy = =
sy tPes - -
£ . ; : ;
10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins s
L]
i B-Codad D Coded
il 3 4 3
Ceding EEE F/._; a \} B
Front View e5e /
1 2 2
e
Rated purrant e 1BA 1,64 48 an
MERE
Rated voltage W, v w B0 50V
S
Wi paigi 26AWG 26AG 220G 22AWG
Qﬁl 0. 14mm o 14mm? 0.34mne 0.34mme
=L e
WiraiCable 18N 28U N 8/ 18N
o) el 3MH 46N BWH 1.BN
s ol e 5PK BYW i 2WH
Wiing Bet i a.GY TBK BOY ; 3BU
: i ARD 10T ABE ABK
S.RD 10.VT 5GY
11.GYIPK 12RD/EU
R R o) s s
Description Order NO.. Order NO . Order NG . Ordar MO .
1m PRIM12A-10PMSRAADTCOAH P 2 2P VRHSREAOT00AH PO ZB-06PMI-SREAC C0MH P 20PN SREAT CORH
BVG am PREM123-10PSAERIANZ-008H PRANH 221 2P N-BRAMDIN0AH PVH 1 2B-D5PABA-SRAAII-D0AH PAVHATZD-DAP A SRENISO0AH
S PR 124-10P-0-SRAADS-00AH PhidH 24-12PWd-3RAA0S00AH P 2B-05PMIA-SRAANG-D0MH PR 120-04PM-SRAADS-00H
Eﬂm M e ammwew L amames b e ™~
im PRV 120-10PARLERIED -COAH [PRHV 241 2P - BREB01-00AH P 1 2B-05 P BA-SRPED 1-00H PRHATID-P SRS 1 C0AH
PUR 3m PREM128-10P-L0-SRABEI-O0MH PRRH 24-12P0-SREGD-00AH PR 28-D5PUEA-SRAROD D0AH PR 12008 IA-SRABII-CONH
Bm PREMT28-10PIMSRAB0S-C0MH PN 2 2P SREE0B0AH PR 2B-05FABA-SREB0G O0MH PRHA D4R M-SRABOS-C0AH
=l ¢ d — e I mmaee WL i i
1m PHEM 12A-10P-WM SRECOT-T0AH A 24129 VM- SRICON O0H P28 05 M SRECTT00AH RN 120 03P MM SRECOT-00AH
x| Pve am PR 241 0PIALSRACOS-O0AH P 2 2P SRACTA O0H P/l 2-L5PABASRECIGOMH PR ED-04P BA-SRADIOWAH
3 sm PR 128 10P-R-EIRBCOS-00AH PRANT 2A-1ZPWIM-BRACOE-00AH PR I2B-EPMA-GRECIS 00RH PR TP G RECS-00AH
FERit Customized e e i
1m PREM 120 10P-MSREDOT-00AH PUHNH 24 12P VA SRADOL00MH P2 5P M EREDOTOMH PREM120-04R M SREDOT-00AH
X | PUR 3m PR 128-10P-M-SRAD0E-00AH P 241 2P W-BRACOONAH P 2B-D5FMM-SREDIZD0AH PRHATD-0P-MA-ERFDI3-00AH
. Sm PREM128-10P4-SRID0S-00AH P 25-12P-Wiv-SRE005-008H P ZE-D5PMIM-SRED0T00AH Pk 120-05P-IM-SREDCS-00AH
EfIfE Customized = e | e =

www. dagson.com 59



ﬁ DEGSON"

M1 2 Series

M12*1.0
EY
M12 x 1§l B e dERESL |, Bl R
b
&, BL.
. &
M12 x 1 Male Overmolded with Cable ©
. . o =
Plug,Single end,Shielded,Straight. :
'
48,
o Al e
BiANIE Technical Data
e T bt
Standard IEC 81078 Pk bk i PA
R TR
Sari M12, Mela,Siralght i al Copper Alloy, Gold-plated
HREN
Numbsr of Fine 03.04,05.08,08.10,12 Fin Nestal af nut Zinc Allay with Nickel Plated
SR Bm
Rstad Currant A e Seal Sllicone
EnE TR
Rtad voltage ZIRV g Cable |acket matsriel PURAFVG
BEE i
Inaulation reslstance =100M2 Shiskling Shlalded
AL i =
”‘E_' <Emo R »100 meting cycles
m. e e —25~ +80T —_ —_
P clmn P63 —_— =
tH 03 Pin 04 Pin 05 Pin 08 Pin 08 Pin
Number of Pins
L )
- A-Coded ACaded #-Coded ACoded
oa = —
Coding 4 3 41 3 4( :i.)a e l\"'
Frant View e ® ,{. .,
1 ™ 1 z 88
L
Ptoiiymitiie A 4A a4 aA A 28
WA
Rated voltage Vv 250V 50V B0V 30w E
= =
Wire gauga Z2AWE ZZANG Z2ANG 24MM3 4ANG
ik
e Hon 0.34mm?2 0. 34mme 0. 34mam 0.25mnt By g
AT e 1. 1WH
WiralCable 1BN ) 2EN ZBN
18N 2WH 36N
i i 2WH T a.GN AYE
Wiring llst 4BK 3BU 4XE EGY
4.8 BPK
4BK B.PK TRU
Sy 78U 8RD
] baf- 0] s ome Eap1-3 s
Description Order NO . Ordar NG . OlerNO OrderNQ.. Order NG .
m FASHMIZADFMMELEATIONH | PHEHATZADPAMELIATIOON | PUSHMIZADSFMNELEAI0AN | PHSHMIZADIFMISLBADHIAH | PUSHTZAJS-WIMSLEADIO0PH
Mo 3m PRISHM 12803 M08 BAO0AH PRSH-R 2A-D4P-HE1 BANC-008H PRISH-M 24-05P-SIN-E RADS-O0AH PARSHM 1 28-DEFMEA-B] AAD3-00H [PRASH-M 128-0APS M-8 BALS-O08H
Eul PRASHHM 128 03PR-SLBADS-O0AH PRISH- 2A-04P-RI-SLAANS-O0MH PRSH-M 2A-05P-MIV-SLBAISD0AH PRESHM1 28-05PM-SLAAS-00AH [PRASHH 12A-D8P-V-SLBADS-I0AH
m :uwmhﬂ ............... T e
im PRISH- 125 T3P0 84-SLERD 1004H PRS- 20 DPA R ELAR-00AH PRISH-M 24-05P-LVHELES01 -00AH PAMSHM120-DEF-M-ELEB0-000H [PRISH-M 125030 84-SLEE0 1-00AH
PUR 3m PRASH-M 12A-09P A8 SLBROA-O0MH PIESH-A 2A-0uP-N- 51 ARDO0AH PRSH-NH 2 05P-W-S1 BROSDOAH PRESHM12A-D3PMEI-S] BR0S.00AH PRASH-M t2A-D8PRAA-BL BRO-O0MH
Bm PRASHM 128 03F R8-S BBOS-O0MH PRISH-AT2A-04P-MBA-5E SR06-008H PRISH-RH2A0FP MALELEROS-D0AH PRESH M1 2A-05FMBA-SLERGS-O00H [PRASH T 28-09R 58-S BROS-COMH
m cu“ﬂmhd ............... T [ ey
m PUSHMIZA MM SLECT O0AH | PHSHANZADIP M SLECD D0AH | PHEHMIZAGPABISLECHIOMH | PMSHMIZAJSRMBFSLECDIOOA |  PAISHMIZAJSRNM SLECH O0AH
) — 3m PASHMADAGFIMSLI00IAH | PREHATIAKPAMASIACOS0AH | PRSHMIZAOSPARNGIBCHUAH | PMSHMIZADGAABASLECIAI0AH | PUSH-MIZA0SPMIA-SLACIOOAH
&m PREBH-M 128 13P-MM-BLBCOS 00AH PMIBH-WT12A-04P-RIM-BLACOS-00AH PMBHM2A-05P-MIM-ELBC05-00AH PRMEHM122:05PMM-SLBCOS C0AH PRASH-M125-09P-MM-BLECOS-00AH
fEfE Custombzed R e e
m FUSHMIZAGRIMELEDDIAH | PWEIATZAMPMASLI00I00AH | PMSHMIZAORMMELEDIOAH | PMEHMIZADSRMMISLED0I00A | PAISHM12A D3R SLEDDHIDAH
S| PUR 3m PRASH-M128-03P0M-BLEDOS00AH PIISH-AM 1 2A-04P-K-BLAD03-D0AH PRBH-M 24 0FP-MM-SLAD03-000H PREZHM128-DERM-SLACO3-C0AH PRASH-M 128 03P-MM-BLEDO-00AH
5m PRASH- 128-03P5M-SLED0500AH PIISH-H 2A-04P-AW-SLADO-00AH PRSHHM 25-05P-WIM-SLED0F-00AH PRESHHM 2A-06PMBE-SLAD0G-00AH [PhASH-W t28-08P-M-SLEDOS-00AH
Sl Custombzed | 0 e | e e

60 Wwrw. degscn, com

ﬁ DEGSON"

EY
M12 x 1 St B B EEIRSL |, B B
>
&, 5L,
: 5
M12 x 1 Male Overmolded with Cable °
. p . E
Plug,Single end,Shielded,Straight. =
7
48
r
BiAREIE Technical Data
e T
Standard 1ECH U7 Contact carmsrs materisl FA
] TR
Sy M12, Mele, Stralght Conbad vedaiad Gopper Alloy, Gold-plated
Pi""ﬂ*r: . 03.04.05,06.08,10,12 Pin mut ZincAlloy with Nickel Plalad
Ratiad Currant Afmas. a Sllicone
R =L e
Ratad woltage 2RV Cabls ackst materisl FUR/PVG
F | mE
Inauletion resistence 210010 Shiieiding Shislded
e <fma mruun > 100 mating cycles
EFEE s
Amiiont temparatura bt = =
ey tPes - -
H 10 Pin 12 Pin 05 Pin 04 Pin
Number of Ping
L] BCod D-Coded
Coded e
b 3 4 3
Ceding EEE F/._; a \} B
Front View Y
1 2 =2
e
il A 164 164 FIS an
R
Rated voltage W, v w B0 50V
S
Wirs gaugs 26AWG ZEANG 220G 2aWe
it 0. 14mm o 14mm? 0.34mne 0.34mme
mgmE Croag saction
‘Wira/Cable
i il 1.BN 18U SEH W
W awH 40 ::": ;f‘: 2WH 2WH
Wiing Bist
aPK YW TEK oY 38U 3,00
:: fc'::;_ 9.RD 1ONT 4BK 4BU
11.EYIPK 12.RDBU 5EY
7. iJms iTeas Jme T
Description Ordar NO . Ordor NO . Order NO . OrdarND .
tm FAESHMT2A-10P-MHSLBADH0AH PUEHM2A- P SLEAOHI0 PTG 12505V SLIADT-00NH FAESHAZD-0/PHSLIATHOOAA
BVG am PR 24-10P-WIA-ELBADS-00AH FRSHH12A-17P0 5L RADA-008H PMEHM 12B-05P A BL AT O08H PR ZD0PNVI LS BAN-00MH
S PSHAH 2A-10P-Wid-SLBAOS-00AH PRSHM 24 12P -3 BA05-008H PMSH-A 12805 VEBLEADS-O0MH PMESHRHZD04P-MV-SLAADSO0AH
Eﬂm M L emmew L e e -
im PSR- 2410 84-5LA801-000H PHASH-MI2A-12PNRELRB0H-000H PMEH-H 1280520 M-8LABD 1 C0AH PR D4R -SLABT IO
PUR 3m PReSHAH2A-10P-Wi4-SLBROS-00AH PRSHMI2A-12P I8 5R03-008H PMSHM 12B-05P 0 BLAROR-O0AH PRISHAH ZD-04P M-S ABDS O0AHI
Bm PRS- 21 0P-WIM-ELEROS O0AH PRASHAM 28- 12 WS BE05-008H PAASH-A 128 05P A SLABDS C0AH PRSH I 20 G4P S ARG 00AH
Eﬂﬂ: { 4 ooy B R s S . =
m PMISHAZA-10P-W-SLECH 00 PHSH M2 T2 MM SLICIT 00 PMSHN12E- 0PV SLECOT-O0AH PMSHNHZD-04P ¥ SLECOT-DIAH
| Pve am PRESHH 281 0P-RI-SLACEAH PRASHM 28-T2P 0SS RON-00AH PRASH- | 2B-05PMMSLACIAH PRESH D (4P AIESL A0S (0AH
" 5m PVESH-AT2A-10P-WiW-SLBCOS-00AH PRASHHV124-12P MM-SLACIE-008H PMEH-H 128057 MVIBLACOS-D0AH PRSI ZD-AP- MV SLACOS-D0AH
FEAIHE Customized o - [ e =
m PUISHM2A 1P NBH-EL 8001 00AH PUSHMI2A 120 ELEDOT 00PH PIGH-H 12805~ MW SLADCT-D0AH PAEHAHZD 04PN SLADCT-00AH
BE. | PUR 3m PhBHhH2A-10P-h-BLA0-00AH PRESHM124-12PMM-SLR003-00RH PMEH-N 12B-05P MV BLADDB-D0AH PRESH I ZD-04P M- BLADCE-D0AH
. Sm PRS- A1 0P-WR4-CLBD0G-00AH PRASHHM 124 12P-hI-ELB00S-00H PMSHM 12E-05PHV-ELEDOE-D0AH PRSIV ED-04P-MV-SLADOS-00AH
=il Customized e e -




ﬁ DEGSON"

M1 2 Saries

M12 x 1 §F B EEERESL |, B, B
=ik,

M12 x 1 Male,Overmolded with Cable

0'SE

i
Plug,Single end,Shielded,Angled. ]
48,
BiANIE Technical Data
e b e
Standard IEC 01078 Contact carrers mataral P
®al L FaLad
Sari M12, Mela,Angled i al Copper Alloy, Gold-plated
RS
Numbsr of Fine 03.04,05.06,08,10,12 Fin Nt af nut ZincAllay with Nickel Plated
SEER .|
Ratad Currant Frdutk Seal Sllicone
WEHE AR
Fistad voltage 250V max. Cablo jnckot matersl PUR{PYC
i 2R g
Inaulstion resistance =100Ma Shiskding Shisided
s WA =
i <Emo st > 100 meting cyclas
BRI — 25
Amblent temperature e = =
st
IP Class L = =
tH 03 Pin 04 Pin 05 Pin 08 Pin 08 Pin
Number of Pins
L ]
Coded Atadal Aaded AGoded ACoded
L] s —-.
Coding " 4 3 4 3 e 3. 3 Sa l\"
Front View [ I ] I{. .3
1 b s 1 H 88
L
Rated current % i " w % Ly
BERE
Ralad voltage v 250V 250V B0V oV wv
i 2ANG 22808 Z2AWE NG 24ANG
Wirs gauge
f )
Croag section 0.34mm?2 0. 34mme 0. 34mam 0.25mnt By g
1.6M 1.0 19H
Wira/Cable 1BN 2BN ZBN
1BN 20H 3.GN
Nk P 2MWH S a.GN AYE
Wiring fist 38U : 4YE 5GY
4BK 4BK BPK
4BK Srs 78U
a.aY
78U BRD
E i 3 s RS e RS es
Description Order NO . Ordar NO . Omder NG | Order NO . Order NG .
im PHSHAHZAIPMMSREADIOOA | PREHMEZADRAMEREADHONH | PMSHMZACSRMMISRAMMIOAN | PUSHMIZADGRMMSREADIIONH |  PREHMIZAIERNM-SRAADHIOAH
o am PRSHAHZADPAMMSRBATHON | PRSHAIZADIPAMERIATIO0H | PMEHMZADSPMMERANGION] | PMSHMIZADGFMMEREADGIOAH |  PWISHHMIZADAPAM-RAAMIG00AH
sm PMSHMIZAGIPMMSRMDS 0N | PRISHAMIZADIP-AMSROAISI0MH | PMSHRHZACSP SO0AH | PHSHAMI2A-06PMMFSRBADSIOAH | PMISHHMI2ADEPAM-SRAAS 00AH
2l Custombed | 00 e | e O [ — f—
m PUSHMZATPMMSREENIO0H | PREHMIZADFAMERIBIN0AH | PMSHMZADPIMISREEIMIAY | PUSHMIZADGAMMEREEONIAH |  PMEHMIZAEPUM-SRABOHIOAH
- 3m PHSHMIZAGIPMMSRARII 00N | PUSHMIZADPAMERENIAH | PMSHMZAGPMMSRARIBIOA | PUSHMIDADPMMSRIB0SI0AH | PMSHMIZA ISP MM-SRABOO00AH
6m PHSHMZACIPMASREBOS OO | PREHMIZADIPAMEREGIMAH | PMSHMIZACPMUSREGIAN | PMSHMIZADGRMIASREBISIOAH |  PRSHMIZA(EPLM-SRABIS 00AH
m cummhd ................ T P,
m PMEHMZAGIPMMSRECOI 00 | PREHMIADF-AMSRICOHMAN | PMEHMIZACSPMMSRECIIO | FUSHMIZADSRMMSRECOIO0H | PMSHM12A JEP-WM- SRAC!-D0AH
v - 3m PHSHAMIZAGPMASRACIG00AH | PRSHALTADIPAMERICIANAH | PMEHMZAGPMMSRACISOAH | PMSHMIZAGRMMGRACIION |  PMSHMIZA DRPAAM-SRACONIOAH
Bm PRSH-M ZA-JIPA-SRECS-(0RH PRV IA(MPARA-SRACOS(0AH 5-00AH PMSH-MI2A-OGF § PREHHATIA (SR AM-SRB005 (0AH
ERME Customized e e sannas
m PISHAZASF MM SREDOLO0AH | FRGHMIZADIPAM SRID0HMAH | PMEHAHZACEPMMERSDITO0AH | PUSHMI2A6RMMSREDOIO0H |  PRSHMI2ADEP-NM SREDO!-00AH
3m PAIGH MZAJOP MAAGREDIG O0MH | PRS- LA DAP- ki SFRSD00-00AH GO | FISINEAE T PR A SO D]
S JPUR sm PHGHAHZAGIP-MMEREDIS00AH | PRIBHMIZADIP-AMEREICSI0AH | PMEHMIZATSPMMSRIDISOOAH |  FMISHAMIZAD6PMMBRECOSO0A |  PMGHHMIZAD0P-WM-BRADIS-00AH
EhlE Custombeed | 0 e | e e e [

62 wWwrw. degscn, com

ﬁ DEGSON*

M1 2 Series

M12 x 1 SR iR |, Big | B
&, Tk,

M12 x 1 Male, Overmolded with Cable
Plug,Single end,Shielded,Angled.

B

B MIE Technical Data

wiine_|
| e
 —
E
y /!

0'se

(ww)y

ok Brakiste
Standard 1E0307E Contact caners materlal Eh:
?j‘b W12, Mele,Angled cﬂm“uﬁ D Gopper Alloy, Gold-plated
Pi""ﬂ*r: . 03.04.05,06.08,10,12 Pin mut ZincAlloy with Nickel Plalad
Ratad Currant Arm a Sllicone
R =L e
Ratad woltage 2RV Cabls ackst materisl FUR/PVG
EERE B
Inauletion resistence 210010 Shiieiding Shislded
e <fma m, IR > 100 mating cycles
EFRE e
Amblent temporatre bt = =
SR
IP Class 1P6s = =
¥H 10Pin 12 Pin 05 Pin 04 Pin
Number of Ping
L] BCod D-Coded
Cored ed
L] 3
4 3
Coding a2 8- o
EmmE F/_; |
FrontView e5e )
1 ] ]
e
oo Bk A 16A 1.5A 4n 4A
MERE
Aaiod vaing . v v 8oV 250V
S
Wirs paige 26ANG 2EAWG 220G 228G
; B B.44mme o.14mm2 0:34rm a:34mm?
AR 1.BM 2BU 188
WirsiCabla 18N 28U AWH 46N : L
awH 4N ' 2WH
fizi B e 5PK YW 2 WH
Wiring st i x TEK BGY ; .06
- o - -
LEYPK  12RDMBU AGY
73 WRe s irpe o -Lo)
Description Crdsr NO.. Ordar ND . Order NO.. OrdarNO..
m FASHAMI 2 1P V-SREADT-D0AH PUSHNMIZAAZ-MA SREADT-00AH PAISHAN 2 05N SRBAD1O0H PASHANZD-DIP M SREADHO0AN
_— am PG EMIZA- 1OP-IH-EREATR D0AH PAMSHNMIZA 12PN SREAIS- 00 PAESHHAZE-0SP VI SREATI.00AH PRS- 20DV SREAT00AA
sm IS 2AIOP-VIH-SREAIS-00AH PHSHMIZA-12P-M SROATS-00AH PASHHAI1ZE-0PV SRAADS 008 S ZD-DPMV SREATS 00N
Eﬂm c‘w a0 emmew L e e -
m M1 24 10F-AM-SREB01-D0AH PRREAYTZA 125 SREEDIO0AH PAEH-AHZE-05 M SREE01-008H PUSHAZ0-IRAMSRAETIONA
- 3m PN 2A 0P NIH-SREDO3 00AH PHEHNM12A 125 SROBOS 00 PASH-AI125 0GP 0 SREB03 00 PN 20 LM SREBII00N
&m PUSHAHZACPNM-EREBOS 00AH PHSHMIZA T2 SREBOS-00AH PASHHAIZE-05P M SREBCS 00AH PREFBHZD-DPMM SREEE00AH
Eﬂﬂ: d ooy B I s S . =
m S M1 ZA 0P V- SRECOT 00AH PASH 122 12P- M SR 00RH PMEHAHZE- 057V SRECOT T0AH PHSHMIZD 0P MM SRECOT 204
am PHSHEAHZAAOP -SRI 0AH PHSHMIZA- 12PN SRACII-COAH PASHHAHZE-05P- M SRAGIG00AH PHEHHH 20 4P M- SRACCRI0AH
I“I VG &m PRSHM AR .20 s008H PRESH-A 2B-05P - SRECHS-NAH F
& Cusiomized o T e =
m FIMEH M2 0P VM- SREDD1 D0AH FRACAYIZA T2 N SREDU-00AH PASHHAH 22067 VM SRE0OTO0AH PAEHAN 20 DI MM SRED0T-T0AH
4m PRASH L AR L 20 WEOOAH PRISH-iH 28058 PRESHIHID 4P SR
o R sm PMSHHMIZA-1OP-VH-SREDOS-00AH PHSHM1ZA- 2P\ SRS 00AH PHBHHZE-0SP-MISRECS-00AH PHSHIZE-P-MIVIGRB0US-D0AH
fEMIFE Customized R T = i I -

www.dagson.com 53



ﬁ DEGSON"

M12 x 1 AL R R EE AR | B, dF

B, Bk

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded, Straight.

B REA

ERBIE Technical Data

BZF

Ty

b7 - i
Standerd IEC 01078 Contact carrlors matarial L]
sl M12, Famals, Straight W Copper Alloy, Gold-plated
mﬁm 03.04,05.06,08.10,12 Fin ﬁj‘uﬁm ZincAllay with Nicke! Platad
'!‘g ks dAmax. g Sllicone
E‘E‘FE 250V max. w‘;’% PUR/PYC
HignE i
Ingulation reslstance Z10080 Shislding Unehlglded
M <Emo m“ i > 100 meting cycles
EFEM — 25
i 25~ +80T = =
[iE a2
IP Ciasa ) = _
03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
Gﬁd Atoded ACoded Atoded ACoded Atoded
ol it T TR e
Coding Yo o 30 o 4G O 4o
Front View L_J) ao 3\c or 30 (a olr
Negriit 1 Bl 1 Pt 38 04
EERE
St A 4 1 4 24 24
HERE
Rated voltage v, 250v 2500 B0V v 20V
i
s gl 2ANG 22AWG 2Awe HANG 24aWG
A
. 0:34mm? 0.34mnm? Odmme 0 2smn? 0:25mm2
[T o T 1H
Wira/Cable 18N : Sk 2BN
B ZWH 36N
oo air 2 Sh 36N 4YE
Wiing Bt 3BU 4xE 5GY
4BK 48K &PK
4BK BPK 78U
s5.QY ;
78U &RD
i, 3 fog=ci] Eap gt o] e s
Description Order NO . Order NO . OnderND . Order NO . Order NO .
im M2/ 00P-FF-ELEADT C0PH PR ZAOIP-FT-SLBAD 00N PAHWIZADER-FF-SLAADT-00AH PV ZACOPF-SLBAD-00AH P12 08P FF-SLBAD1 0P
- am PLEMIZA05P-FF- LA OH PHENTT2ACAP-FF-SLBAT3-00AH PRAHA12ADEP-FF-ELBADR-00AH P 2ACERFF-BLAAT-00AH PRHMI2A-D8P-FF-SLAAD- 00
sm PIMIZA00P-FF-SLAMS-00RH PHENTIZAOHP-FT-SLBATS-00AH PAHA12A05P-FF-SLBADS-00AH PV ZACOPFF-SLBADS-00AH PRHME2A-08-FF-SLANS-00M1
m cw ----- v e [ e e
im P 2A-065-FF-SLEB0T 00PH PHEHHTZAO4P-FF-SLB801-00AH PRHM12A05P-FF-SLEB01-00AH PR ZACEP-FF-8LIB01-00AH P12 08-FF-SLEEO1 00
e 3m PR M1ZA-057-FF-SLABCH 00AH PHRNTI2A04P-FT-5LBE0B.00AH PAHAIZA0GP-FF-SLEBOS00AH P ZA- 08P FF-5L B3 00AH PHAMI2A- D8 F-SLABO3-00AH
6m P27 08P FF-SLEBOS 00MH PAETIZAOHP-FF-SLBR05 00AH PAHMZAOGP-FF-SLEB0S00AH PAHAH 2A.CHP FF-SLEBOS-00AH PHMIZA08P-FF-SLEBOS 00N
m GW Pr—— - B e P .
im PIAM12A05P-FF-SLBC01 00AH PHENTT2A0AP-FT-ELBCOT 00 PAHAZAOGP-FF-SLECOT00AH PV ZA 0B FF-SLECOT-00AH P12 D8P FF-SLACOT00H
am FIaMI12A 08 FF-SLBCINOLAH PARTIZA04F-FF-S ACOSCORH PAh2A0BP-FF-SLACTH00AH PivHAH2A CORFF-EL BCIB.004H P27 08P FF-SLACORO0AH
Lo i sm PAMIZA P -5 00 PAMITIZAOAP FF-SLBCO5-COAH PRHMIZADSP-FR-SLBCTS 00AH PV 2A-CBPFF-SLAC5-00A PRHAZA6PFF-SLBCOS 00AH
BB Customiznd s S i =
im PR M12A 05P-FF-8L2D01 I0AH PHENIZADAP-FF-SLAD0 00N PAHA12ADEP-FF-SLED0T00AH PV 2A COR FF-SLT 0081 FI12A DER FF-ELACO100AH
ik 3m FIMIZAJ3P-FF-SLIDTR00AH PHENTIZAOAP-FT-SLAD03-C0AH PRMIZADERFF-S. A PVHAH ZA.C6P-FF-SLC03-008H PIMIZAD8r-FF-SLADCA-00AH
% 5m PHRMIZA-0RP-FT-SLADS00AH PHENTZAO4PTT-SLE00S00AH PRHM1ZADSP-FT-SLODO00AH PV 2A-05PFT-SLECKS-00A PR L2A-00P-FT-SLADOS00AH
R Customized | 0 e e [ S [ =T =

64 www. degscn, com

ﬁ DEGSON"

M1 2 Series

M12 x 1 P B e e | Bl 3F
B, 5.

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded, Straight.

R

BiAREIE Technical Data

M1i2=4.0

X413

{wwpy

e Brediie
i IECB1078 iyt = PU
»l M12. Famals, Stralght Copper Alloy, Gold-platad
Pirkt iR
il o 03,04.,05,06,08,10,12 Pin Zinc Alloy with Nicke! Plated
WA
Ratad Cument S Slilcone
HREE AR
Retad s Cablo |acket mestatil FHBTEYE
igRE
Inaulation resistance £100M0 Unshielded
f.o L] ) i
2 + raadak =Bmo = 100 mating cycles
EFEE —p5
Ambient temperature EReL =
MRS
IP Clana P88 —
¥H 10Pin 12 Pin 05 Pin 04 Pin
Number of Ping
L]
i Atoded B-Codad D-Coded
L 2] L] 3,
Coding a¥a 0 ?{
F E?\Fn it ( g
@ ; E‘\— 1
e
Rated purrant e 1BA 1,64 48 an
MERE
Aaiod vaing v, 0V v 60V 250V
S
Wirs gaugs 26ANG 26AWG 220G 280G
Ak
’ o.14mm? B.14mme 0.34mm? 034mm?
FERE .
Wirs/Cabla 1.8M 28U ;‘::1 :g: 18N 1BN
TWH 46N £ 2WH
fresa ) e 25 5PK B e 2WH
Wiring st ] TEK 8.6Y ; 38U
T.8K B.GY 4BK
2.RD 1aNT 4.BK
9RD 10T Gy
GYPK  12RDEU ;
73 wes eps irpe o -Lo)
Descripion Ordsr NO.. Ordor NO . Order NO . Ondar MO .
im PALM2A- 10P-FF-SLBADT COAH PUMTZA 12 PR ELBAN OO Ph-M1 2505 FFSLAA!-00AH PAHMH2D-0P-FF-SLAAH D0AH
_— am PHHM2ASOP-FF-ELEADG-COAH PR 12P P ELBAD-O0AH A1 2505 FF-BLAAC-O0AH PAHMH2O-0PLFF-SLBACS-O0AH
sm PHHM2A10P-FF-SLAADS-C0AH PVHMT2A 1P SLAADS00AH PHHIN25-05P-FF-SLBACS-00AH PRHVI2D0MP-FF-SLAACS-00AH
Eﬂm mmd L ammwew L aaames b e ™~
im PHHIZA AFFF-ELABN O PRHATA 2P SLEBIO0AH AN 2505 FF-BLAECH-0AH PUHMH2DPLFF-SLEE-O0AH
am PALMHZA 10P-FF-5 SB00.00AH PAMT2A (2P FF 51 BB 00AH Ph-A1 25060 FF-GL A0S 00AH P 2D DMPFF-5L B3 00AH
s &m PALM2AAOPFF-SL 8R0S COAH PR 12P T SLABOS COAH PHI 2505 F-GLAR0S-00AH PARMH2DO4PFF-ELEBOS OUAH
Eﬂﬂ: d ooy B e = S [ o
1m FHMIZA 10P-FFELECIH-00AH P28 12P FF-SLC0100AH A1 2805 FF-SLECT 00 WD 4P FF-ELBCO- 00AH
am PARMHIAACPFF-S ACIO IONH PRAM2A-12PF-51 ACOG00AH PAI 2505 FF-5 ACTA-0PH PAHLHDOMP-FF-5 ACTA 00AH
s | PVG sm PREM2A0P-FRSLBCTS00MH PRV 251 ZP-F-SLB00S-00AH V- 2505 FFELBCT5-00RH PRERHZDMPFFLCOE00AH
R Customized R e
1m PAHM2A10P-FF-SLEDO-00MH P2 127 FF SLECOM 00AH PHA1 2805 FRELEDOH00 PREMH20 04P-FF-SLAD01 00AH
am PAMI2AI0P-FF-SLEDI3 008H PVHMT2A1ZPFF-SLEC0S00AH PN Z5-05P-FF-SLEDGHI0AH PAHMI20-0P-FF-SLADM-I0AH
L - PUR sm PHHMI2AI0P-FF-5LADOS008H PIYHMTZA 2RSS 00AH PAHi 2E-05P-FF-SLEDOS-00AH PRHWHZD4P-FF-SLEDOS-00AH
EfH Customized - T | I e R =




ﬁ DEGSON

M1 2 Series

M12 x 1 LR AR BUEB 403Gk | B, 3F

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded,Angled.

EAREIE Technical Data

TRt

Standard

g

Series

PingtEa

Number

of Pins

EEFRIR
Rated Current
HMERE
Rated voltage
IR

Insulation resistance

e pE

Contact
IE{TiE)

resistance

Ambient temperature

[k
IP Class

g

Number of Pins

IEC 61076

M12, Female,Angled

03,04,05,06,08,10,12 Pin

4Amax.

250V max.

=100MQ

=5mQ

—25~ +80C

P68

IR F AR

Contact carriers material
imFATE

Contact material
SRIRE

Metal of nut

B

Seal

EBARANRE AR

Cable jacket material

R
Shielding
NS

Mechanical life

M12*1.0

PU

27.9
&
DEGSON
—H—
[ e— &
o
— =
3
3

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

PUR/PVC

Unshielded

> 100 mating cycles

B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
izl
f 3 4 3 4 4/5 o\6
Codin
o EmE © 0 o oy
Front View 3
1 2 IR 1 o_0O
2 1
EBR A A 4A 4A 2A 2A
Rated current
R BEE V. 250V 250V 60V 30V 30V
ated voltage
. &l 22AWG 22AWG 22AWG 24AWG 24AWG
Wire gauge
E?'%EE'% %‘ﬁﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Wire/Cable Cross section
1.WH 1.WH
1.BN
BN 2.WH 28N ggr:‘
R 1.BN 2WH : 3.6N 4YE
Wiring list 3.BU 3.BU \
4BK 3.8U 4.YE 5.GY
d 4.BK 6.PK
4.BK 6.PK 7BU
el 7.8U 8RD
i i8S iT8S 1TSS TS TES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
im PM-M12A-03P-FF-SR8A01-00AH PM-M12A-04P-FF-SR8A01-00AH PM-M12A-05P-FF-SR8A01-00AH PM-M12A-06P-FF-SR8A01-00AH PM-M12A-08P-FF-SR8A01-00AH
PVC 3m PM-M12A-03P-FF-SR8A03-00AH PM-V12A-04P-FF-SR8A03-00AH PM-V12A-05P-FF-SR8A03-00AH PM-M12A-06P-FF-SR8A03-00AH PM-M12A-08P-FF-SR8A03-00AH
5m PM-M12A-03P-FF-SR8A05-00AH PM-M12A-04P-FF-SR8A05-00AH PM-M12A-05P-FF-SR8A05-00AH PM-M12A-06P-FF-SR8A05-00AH PM-M12A-08P-FF-SR8A05-00AH
F#L Customized | e —
m PM-M12A-03P-FF-SR8B01-00AH PM-M12A-04P-FF-SR8B01-00AH PM-M12A-05P-FF-SR8B01-00AH PM-M12A-06P-FF-SR8B01-00AH PM-M12A-08P-FF-SR8B01-00AH
PUR 3m PM-M12A-03P-FF-SR8B03-00AH PM-M12A-04P-FF-SR8B03-00AH PM-M12A-05P-FF-SR8B03-00AH PM-M12A-06P-FF-SR8B03-00AH PM-M12A-08P-FF-SR8B03-00AH
5m PM-M12A-03P-FF-SR8B05-00AH PM-M12A-04P-FF-SR8B05-00AH PM-M12A-05P-FF-SR8B05-00AH PM-M12A-06P-FF-SR8B05-00AH PM-M12A-08P-FF-SR8B05-00AH
F#{L Customized | e ——
m PM-M12A-03P-FF-SR8C01-00AH PM-M12A-04P-FF-SR8C01-00AH PM-M12A-05P-FF-SR8C01-00AH PM-M12A-06P-FF-SR8C01-00AH PM-M12A-08P-FF-SR8C01-00AH
A PVC 3m PM-M12A-03P-FF-SR8C03-00AH PM-M12A-04P-FF-SR8C03-00AH PM-M12A-05P-FF-SR8C03-00AH PM-M12A-06P-FF-SR8C03-00AH PM-M12A-08P-FF-SR8C03-00AH
FRe 5m PM-M12A-03P-FF-SR8C05-00AH PM-M12A-04P-FF-SR8C05-00AH PM-M12A-05P-FF-SR8C05-00AH PM-M12A-06P-FF-SR8C05-00AH PM-M12A-08P-FF-SR8C05-00AH
=4k Customized | e —
m PM-M12A-03P-FF-SR8D01-00AH PM-M12A-04P-FF-SR8D01-00AH PM-M12A-05P-FF-SR8D01-00AH PM-M12A-06P-FF-SR8D01-00AH PM-M12A-08P-FF-SR8D01-00AH
a PUR 3m PM-M12A-03P-FF-SR8D03-00AH PM-M12A-04P-FF-SR8D03-00AH PM-M12A-05P-FF-SR8D03-00AH PM-M12A-06P-FF-SR8D03-00AH PM-M12A-08P-FF-SR8D03-00AH
i 5m PM-M12A-03P-FF-SR8D05-00AH PM-V12A-04P-FF-SR8D05-00AH PM-V12A-05P-FF-SR8D05-00AH PM-M12A-06P-FF-SR8D05-00AH PM-M12A-08P-FF-SR8D05-00AH
I"E%um Customized | e ceeaee T e

66 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 LR BB 4tk |, iR |, 3F

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded,Angled.

ség

EAREIE Technical Data

;3
- IEC 61076

Yl M12, Female,Angled
Series

PinftE

Number of Pins
R

Rated Current
HERE

Rated voltage
B

Insulation resistance
AR R <
Contact resistance Sl
IEfTIRE

Ambient temperature

FHiRER
IP Class

g

Number of Pins

03,04,05,06,08,10,12 Pin

4Amax.

250V max.

=100MQ

—25~ +80C

1P68

AR

PU

Contact carriers material

I FATE
Contact material
SRZE
Metal of nut
L]

Seal

ERUTHNER AL

M12*1.0

27.9
=
DEGSON
——
[ c—) &
—> e

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

PUR/PVC

Cable jacket material

R
Shielding
S

Mechanical life

Unshielded

> 100 mating cycles

(ww)q

R A-Coded A-Coded B-Coded D-Coded
Coded
izl
Codin
¢ il
Front View
EERIR A 15A 1.5A 4A an
Rated current
R HEBE V. 30V 30V 60V 250V
ated voltage
. LAl 26AWG 26AWG 22AWG 22AWG
Wire gauge
Croﬁ%;ﬁéﬁon 0.14mm? 0.14mm? 0.34mm? 0.34mm2
FRL/ERY
Wire/Cable 1.BN 2.BU
1.BN 2BU (LB
AWH AGN 3.WH 4.GN AT 1.BN
e ' | 5.PK 6.YW 2WH
Wiring list 5.PK 6.YW 3.BU
7.BK 8.GY 3.BU
7.BK 8.GY 4.BK
9.RD 10.VT 4.BK
9.RD 10.VT 5.GY :
11.GY/PK 12.RD/BU .
i 1TE8S TS 1TE8S TS
Description Order NO . Order NO . Order NO . Order NO .
m PM-M12A-10P-FF-SR8A01-00AH PM-M12A-12P-FF-SR8A01-00AH PM-M12B-05P-FF-SR8A01-00AH PM-M12D-04P-FF-SR8A01-00AH
PVC 3m PM-M12A-10P-FF-SR8A03-00AH PM-M12A-12P-FF-SR8A03-00AH PM-M12B-05P-FF-SR8A03-00AH PM-M12D-04P-FF-SR8A03-00AH
5m PM-M12A-10P-FF-SR8A05-00AH PM-M12A-12P-FF-SR8A05-00AH PM-M12B-05P-FF-SR8A05-00AH PM-M12D-04P-FF-SR8A05-00AH
E#{k Customized e —
m PM-M12A-10P-FF-SR8B01-00AH PM-M12A-12P-FF-SR8B01-00AH PM-M12B-05P-FF-SR8B01-00AH PM-M12D-04P-FF-SR8B01-00AH
PUR 3m PM-M12A-10P-FF-SR8B03-00AH PM-M12A-12P-FF-SR8B03-00AH PM-M12B-05P-FF-SR8B03-00AH PM-M12D-04P-FF-SR8B03-00AH
5m PM-M12A-10P-FF-SR8B05-00AH PM-M12A-12P-FF-SR8B05-00AH PM-M12B-05P-FF-SR8B05-00AH PM-M12D-04P-FF-SR8B05-00AH
E#1k Customized -
m PM-M12A-10P-FF-SR8C01-00AH PM-M12A-12P-FF-SR8C01-00AH PM-M12B-05P-FF-SR8C01-00AH PM-M12D-04P-FF-SR8C01-00AH
A PVC 3m PM-M12A-10P-FF-SR8C03-00AH PM-M12A-12P-FF-SR8C03-00AH PM-M12B-05P-FF-SR8C03-00AH PM-M12D-04P-FF-SR8C03-00AH
cree 5m PM-M12A-10P-FF-SR8C05-00AH PM-M12A-12P-FF-SR8C05-00AH PM-M12B-05P-FF-SR8C05-00AH PM-M12D-04P-FF-SR8C05-00AH
=#{k Customized — e
m PM-M12A-10P-FF-SR8D01-00AH PM-M12A-12P-FF-SR8D01-00AH PM-M12B-05P-FF-SR8D01-00AH PM-M12D-04P-FF-SR8D01-00AH
A PUR 3m PM-M12A-10P-FF-SR8D03-00AH PM-M12A-12P-FF-SR8D03-00AH PM-M12B-05P-FF-SR8D03-00AH PM-M12D-04P-FF-SR8D03-00AH
e 5m PM-M12A-10P-FF-SR8D05-00AH PM-M12A-12P-FF-SR8D05-00AH PM-M12B-05P-FF-SR8D05-00AH PM-M12D-04P-FF-SR8D05-00AH
i%ﬂ,{t Customized T 1 o

www.degson.com 6 7




ﬁ DEGSON*

M 1 2 Serias

MA2*4.0

2
M12 x 1 FLEC Rk BN EB AL R | HH””HH ”””m
=3 —
L]
i
M12 x 1 Female Overmolded with Cable =
Plug,Single end,Shielded, Straight. 3
—
45.16 PEATY
= i A
EiANIE Technlcal Data
i Rk
Siandard IEC #1020 Contact carrlers matertal ]
BH | Fik il i
Sex M1Z, Female,Stralght o al Gopper Alloy, Gold-plated
Pird i Lo L]
NumBer of PIng 09,04.08.06,08.10,12 Fin Sitel ot Zinc Alloy with Nickel Plated
Lbh dA max. g SHlcone
wauE p— sl —
g L3
Inaulalion reslstance Z100M2 Shisiding Shislded
B <8mo m:u i > 100 mating cycles
mwm e Y = =
ey Ipss = =
03 Pin 04 Pin 05 Pin 08 Pin 08 Pin
Number of Pins
p o)
. AGodsd ACoded A-Coded ACoded A-Coded
L ] g 5
codino | g (5&\; Yo oY @) Y6 D‘ ao
Front View = P T e 2 or
\,-\9/' ZOL/.I z\l?fﬂl:j“ 001 ‘?Bo'l
MR
Rated current A A A 48 24 A
WERE
At it v 250V 250V 8OV oV 30V
=
Wire gauge ZZANG 2200NG ZZRNG 248N 24MNC
| 5]
s EAThAX fe 3 0.34mm? 0. 34mim2 0,34 025mmé 0.25mm2
Wire/Cabla o wWH TWH
1EN y 28N ZBN
1.BN 2WH 36N
A - 2wH B aan e
Wiring st 8K 3By A¥E £6Y
48K £.PK
+.BK GPK 7.8U
8.GY 78U 2.RD
53 JRE RS pe ams IR
Deswription Order NO.. Ormler NO.. OrlsrNG . OrdarND . Ordet NO .
1m PMSHMIZA 0P FESLBA0T00M | PMSHMIZADIFFRSAAOI00A | PRSHAIZADGRFRSLAACIOON | PHSHMIZACORFRSLBADIOOAH |  PMSHII2A0ERFRSLAAN00AH
G m PMEHMIZADPFFSIBADI00MH | PMBHMIPADIPFFGIBAB00AH | PMSHAMZADGAFFSAATIO0AH | PMSHMIZACGPFFELBADGO0SH |  PLISHMIZADEP FF-SLAAJGO0AH
wn PMISH-M 2A-0P-FR-SLAAOGD0AH PMISH-M 1 28-04P-FF-SLEA0S-00MH PRASH-A 2A-06P-FF-SLAAS-I0AH PHEHM 12A-COPFF-SLBADS-00AH PRSH-M 2A-D0PFF-SLAADE00AH
Emm mmﬂ e - e L
m PVEH12ADPFT-SLEB0100M | PMBHMIZADIPFR-BLB00N00AH | PUBHAWIZAOGAFT-SAB0I00AH | PHSHMIZACEPF-ELEB0N00AH | PRSHAIZAD6PFF-SLEB0100AH
PUR am PisH-H 2A-03P-FF-S1AR0ANGAH PWISH-M 124 04P-FF-81 BROA00AH PRASH-MH 2A-06PFF-81 ARCRINAH PRSHM E2A-08PFF-B1 BBOG-O0AH PRSHA 2A-DAPUFF-SLARGS00AH
m PMSHU AP FTSLBB0S00H | PMSHMIZAMPITSIS0500H | PMSHAMI2AQRTRSISE050AH | PMSHMIDAGAFF-SLER0SOIAH | PMSHMIZADSPFFSLEBS00AH
Eﬂlm MM a0 e e B
1m PMSHMI2A QP FFSLECOI00AH | PMSHMIZACIPFRGLACOTONH | PMSHMIZAOSRFRSLECOIO0AH | PHSHMIZACERFRSLAC0AH | PMSHMI2A08P FFSLACOI00AH
- 3m PMSH M ZA00PFRSLACRM0AH | PWGHM IZADSPTSIACONMIAH | PSHAMT2AQPFR-GLACIS00AH | PMSHMIZACIATFSIAGIG00AH | PMSHMZADSFFSLACIHI0AH
* Bm PVIZH 2300P-FF-SLacos0AH PVIBHH 122 04P-FF-8LBCTs-00AH PREH-M 28 0P F-BLBC05-008H PHIZHHM 12A06PFF-BLBCIS-00AH PRISH-M 2A-DEPFF-BLBCOS-00RH
TR Customized s e T e
m PMEHMT2A 0P FRSLEDOI00AH | PMBHMIZADIPFRSLAO0TO0AH | PRSHAMZADGRFT-SLA00100AH | PMEHMIZACEPFFSLEDOTO0AN |  PMSHMT2A06R FRELI00N00AH
| PUR am PVISH-M 28-00P-FF-SLADIR-00AH PWVIBH-M 124-D4P-FF-8L8002-00AH PRSHAM 1 22 D5R-FF-SLAD0G-D0AH PHEH-M 122 DFPFF-BLADG-D0AH PREBH-I 2A-DBPFF-SLADOS-00RH
= 5m PIMSHM12400PFF-SLADOSO0AH | PMSHHMIZE-04PFT-SLED0S 00 | PRSHAMIZADSPFT-SLADOS00AH | PHSHMIZACOPFF-SLEDOSDOAH |  PRISHIIZADMPFT-SLADOS-00AH
Bl{k Customizad R e e R

68 wow. degaon, com

ﬁ DEGSON®

M 1 2 Series

Mi2%10
i i R IR
M12 x 1 LU BN B 4THE L S |, R | HHlHN |H||"”
=3
a
B
M12 x 1 Female Overmolded with Cable e
Plug,Single end,Shielded,Straight. H
T
45- 4B PEe[% |
- %
£iRMIE Technlcal Data
Slandard IEC &1078 . e i P
BR HWTRE
Bark M12, Female Stralght C 2Rl Gopper Alloy, Gold-plated
Pil b7 L1 ]
Numisar of Finé 03:04;08,00.08.10.12 P g Zine Allay with Nicks! Flatsd
B i ]
Rated Cumant 4 mak. ridien Slilcone
iR HHE
Rated voltoge AN (pn! Geble jariet malaral FUREY
g i
Insulstion resistance =togMo Shislding Shisided
i1 :
Contact reslstance il Machanical IFfe 2100 maineg cy e
L - R = z
E#'ﬂ \PES = —
S 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
L ]
Ko A-Codsd B-Coded b-Coded
E 1] - -
‘ EEE o 1000 B D\
Front View Oo [ DD VS
" 1
IR
ndel A 1,58 1.54 44 A
e
Rated vottage LA 3oV E BOV 250V
5]
Wira gauga 26ANG: 2EANG Z2ANG 22AWE
c'“;m. 0.1 dmem 0.14mm?* 0.34mm?2 0.34mm?
EIARER 1.BN 28U
Wire/Cable 15 2all IWH 46N o 1YW
IWH 46N 2WH 2WH
. EPK BYW S S0 38U ;
Wirng Hat TBK 8.6Y T-BK BGY S 206
aRD 10T S.RD 10NT ) 4BU
MGYIPK  12ROBU S&Y
-7 3 g 2] s s s
Description Order NO . Onder NO . Onder NO . Order NO .
im PARSHM 12 KP-FF-SL3A01-00AH PASH AN 24 12°FF-SLAADHO0AH FASH 2805 FF-SL8A0T-00AH RS 20 HPFT-SLAAD COAH
PG 3m PREH N 24-10P-FF.8] BAD00AH PRMSHEH 2A-120-FF-5{ BADS-00KH PRASH b 25057 FF-5 AAT-008H PMEH R 2D-04PFF-51 BARI-O0AH
Sm PRESHM 1 24-10P-FF-SLAAG-00AH PRISHM 25-12P-FF-ELBA0S-008H PRSHVH 28-05P-FF-SLAAGE-004H PRESHH 2D-04PFF-SLAADG-00MH
m mm T e o ey
im PRIEHM 1 24-10P-FF-8! BR01-00AH PMSHM 24-12P-FF-5LBB01-008H PMEHN FB-05P-FF-5L8801-008H PRSHH 2004 P-FF-51 SB07 -S0AH
PUR Bm PMBH M1 24-10PFF-3 ARG O0AH PMEHKH 24-12PFF-5] 8A05004H PRESHN 28-05P-FF-31 AR03-00%H PRESH b 20-04PFF-81 ARGA-00AH
&m PRiSHM{ 24-10P-FF-SLER0S-00AH PRESHM 28-12P-FF-5L8R05-004H PRISH N 28-05P FF-5L SR05-O0AH PRISHAH 20 4P P51 BR0S-COAH
m Custorzsd a0 U T e T e I T T e
m PASHM{2-10P-F SLBCI-004H PMEH M1 2/ 125-FF-5LBCO1-00MH PMSH W 28050 FF-SLACHT-00AH PMSH 120 MPFF-SLACOT O0AH
T am PAISHMT 2 0P-F-SLBCI300AH PUSHM 21 2P FF-BLACT3 00AH FAISHEH 2B (5P FF-SL A0 0AH PSS 20 O4PFF-E1 3603 00AH
= sm PRISHM 1 25-10P-FF-BLBCHS-00AH PRSHMI 2A-12PFF-BLBCOS00AH PRESHHV 2B-05P-FF-BLBCOS-00AH PRSI 2004 P -BLB00-00AH
TERKE Customized o s e [T e
1m PASHAM 24 0P SLED-00AH FAIEH M1 2A-12°FF-5L8001 00MH PMSH M 2805 FF-ELI001-00AH PASH A 20 (HRFF-SLB00T-O0AH
. | PUR am PRIZHM 1 26-10P-FF-BLADAAD0AH PREHM1 2A-12P-FF-ELB003-00AH PMEH 28-05P-FP-BLADNG-00AH PRSI 2D P F-ELA00-00AH
= Sm PRISHM 1 2A-10P-FT-3LB005-00AH PSHMN2A-12P-FT-5L8005-00AH PRESHH 25-0FP-FTF-5L8005-00AH PRSI 2D-J4PrF-SLB00S-00AH
52k Customizad e = e = )




ﬁ DEGSON"®

M1 2 Series

M12x 1 HFURR B RS |, B | R .

N &
3L, I , = Tk, |
= —_— s b
M12x 1 Female Overmolded with Cable — M12 x 1 Female Overmolded with Cable =] PF|.
Plug,Single end, Shielded, Angled. 3 Plug,Single end, Shielded, Angled. H
(—

ﬁ DEGSON*

M1 2 Series

M12x 1 FLFCRBYFREETESL | Bl , BERR .

e,

EAMBIE Technlcal Data

- BT,

$iAWIE Technical Data

o

TR TR
Standard feCm s Contaci parrors matarial B Standard L Contact carriors materfal i
B e Bl By
M12, Female Anglad L Copper Alloy, Gold-plated M12, Femals,Angled ekl Copper Alloy, Gold-plated
Pl Plrétiy & 2REm
DN 03,04,05,08,08,10,12 Pin N Zinc Alloy with Nicks! Plated s O 03,04,05,08 ,08,10,12 Pin oy Zing Alloy with Nicks! Plgted
R Em HEE = ]
Retod Current AA rriay. Seal Silicone Peatod Curmant AAmax. Sl Sllicene
HERE A BT HERE R TR
v 250V max. i SO PURZPYVEC e 250V macx, e PUR/PVC
HiREE R SR B
Irikliation reskkanc A1oaus Shisiding Shiwked Inaulation realstnce FNOME SHialding Ehinidad
HMEEE [ e AE R
o =Smi Mecharicsi il > 100 mating cyclies c =5m0o Aecharical it = 100 mating cycles
EEN = EHan o
Ambient tsmparaturs =36t — — Ambiant tamparsture SR RON =" ==
b 2 | ]
IP Class 1Rad = = e Cines 1P68 — -
03 Pin 04 Pin 05 Pin 06 Pin 08 Pin 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins Number of Pins
v o]
o A-Coded A-Goded A-Coded ACodsd i AGoded AGoded B-Codsd D-Cuded
f=] — — A (=10 [
Coding %5 B\‘\“ 20 oy 3f/o 5 %" 45 D8 Cading fr— < o o fat] o oo
Fromkies o] 0 Q o%0 ’LC' o7 FrontView o Bo ottt L o¥o
o 28 94 2 4 5004 oSy ‘ 22 A
MERERIE i
. A 4A A 4A A 2 - A 154 158 A 4A
W il
s v 260V 2607 8oV aov v ol W v 20V 20V aov 2807
e 22AWG 200G 2AWG ANNG 2400G i 204G 26AWG 200G DANG
Wire gauga Wire gauge
R R
il O O:34mm? 0.34mm? 0.34mme 0.25mm? 0.:25mm? L o 0 44mm? O.1dmm? 0.:34mm? 0.34mm?
BRI 1.WH 1WH Wira/Cabie
Wire/Cable 1.BM : 18N 28U 1.BN 28U 18N
41BN - ZWH £EN Sen Skt e e 4GN i 1w
kg 2WH 36N AVE b 5PK BYw ' 2WH
Wring Bt 3BU gl 3.8U il i Whng Bst EPK oYW i i 38U
4BK 4.8 BPK 7.8K sy = 48K
Lo BEK 78U s Sl 9RD 1ovT AU
5.8y 78U 8RD GYFK  1ZRDEU hoy
i ues ITERs RS s 7= s iTps RS
Description Order NO . Order NO.. OrderNO . Order NG . Order NO. Description Ordar NO . Ordar NO . Order NO . Order D .
im PHEHMZACIRFT-SRIADIO0AH | PRSHAMZADIPFF-SRRATIOON] | PMSHAMIZACSPFRGROATICON | PMSHAMZACCRFF-SREADIO0AH | PMSHMIZA08RFF-SREADI-00AH im PHEHAMI2A1CRFF-SREATIO0H PMSH-H12A- 27 SRANT-00AH PSE-HH25-05P-FF-SRBAD1-C0AH FHISHMI120-01P-FF-SRRAD1-00AH
- 3m PHEHAMZAGSPFE-SRENIG00AH | PUSHMZADIPIF-SREAGGION | PHSHMIZAOR FRSROAISIOAH | PMGHMIZADGPFF-SREADSO0AH | PMSHAMZA08P F-SREAIS 00AH - am PHSHA2A 1CRFFSREATSO0AH PMEHMI2A- 2R SRR 00AH PAISH 2B 06P-FF-SRBAIS 00AH PMSHN120- 0! FF-SRBAD3 00AH
&m PIVSHANZAMIPFE-SREAIS00AH | PUSHWHZAIFFRSRAGI0A | PHSHAMI2ACOPFT-SRA05MOA | FMSHANZADORFESREAISI0AH | PHSHATZACSR F-SRIAIS 00AH Bm FHBHAM12A-1OFFF-SREAIS00AH PMSH- W12 IZPFF-aRAAS-00AH FASHMIZE-EP-FF-SREAGS- WA FUSH120-0!F-FF-SREA05 00PH
=3 T i T R b= = = T T e
m PHEHMZACIPFFSRIBOI00AH | PMBHMZAOIPFF-SREBOIO0AH | PMEHMIZACSR-FT-SRABIIO0AH | PMEHMIZADGPFF-SREEVIOON | PHESHMIZADEPFF-SRBNT.00AH 1m PHISHM1ZA1CRFF-SREBIIO0AH PHEH-H12A- 129 FF-SREE01-00AH PMEH-M125-05P-FF-SREB 00AH PHISHM12D-DIP-FF-SREB100AH
. 3m PUEHAM{ZAGPFFSRIBIS00AH | PMSHAHZADIPFFSREBCMIAY | PMSHMIZAGRFRERIBIB00AH | PMSHAMIZAOGRFF-SREE0G0AH | PHSHAMTZADS, FF-SRIBI00AH . am PMGHAMT2A1CPFF-SREBIMI0AH PASH-M12A-12PFFSRIB0-00AH PAER A ZB.05P-FF-SROBI 00AH PHASHM120-04P-FF-SRABG.00AH
&m PREHAZAGIPFF-SRIBG0MAH | PRSHMZADIPIT-SREGS0MH | PHSHMIZAOR FI-SRIBE00AH | PMGHMIZACGRFT-SREBOS00AH |  PHSHAMZA.0BPFF-SREBIS 00AH &m PRISHA12A 1 CRFT-SREBS00AH PMEH-M12A- 2P FF-SREE5-00AH PAISHMHIB 05 T-SREB05 00AH PHASH N12D-O4F-FF-SR8505.00AH
m aamare . - e amae Eﬂk e e R ——— -
m PHGHMIZAGPFF-SRICOIOIAH | PMSHHVIZADAPFT-SRECOROMN] | PMSHMI AP FT-SRECTIOAH | FHESHAZACERFT-SROCOHION | PHGHMTZAGEPFF-GRECOTOMH im PHEGH 9 128 CFFF-SRECOII0AH P A IZSRECTIIA PG HATIE-OSP-FF-SRECT 00AH FUGHN LZD-04FFF-SRBCO DA
m PHGHMTZAISPFT-SRECIS0WH | PRSHMIZADIPIT-SFECI0 00N | PMGHMIZADSPIT-SRCIS00AH | PWEHMIZADGPFF-SROCIGIAH | PHHMIZATEPFT-SRECOS 00H am PRISHMI2A 1R FF-BRECOS I0AH PHER H12A-12° - SRECH-00AH PSR 128 05P-FF-SRECTCOAH PMASH M 120DIF-FF-SRBCOR0GAH
M. Ve 5m PMSHMIZAGSP FF-SRACOS0AH | PMSHNHRADIP FF-SRBCO5 000 | PMSHMIZAOSP FT-SROCS000H | PMSHMIZA0GRFF-SRECISI0A | PMSHMIZADEP FF-SRCOS I0°H s | PVC 5m PHISHA12A 10R FF-SRECOS 00AH PMER H12A- 1277 SRECTS-00AH PAIER W28 05P-FF-SRBCOS 00AH PUISH 120047 FF-SRBCS 104
m Customized rmne renmr sy wrarnr prene mm Customized PO renem rermne rrsam
im PREHLMZAGPFFSREDOTIAH | PRISHAH2A MPFT-EREDOTO0H | PRSHMIZA0SP FT-SRADI 0CAH | PMSHMI2ACEPFT-SREDOTIGAH | PRSHAH2A DR Fr-SRaD0t 00H im PRISHM12AAOF FF-SRADOL.00AH PMEH H12h (2T EFEDN 00 PAEH 2B 05T ERD01 00AH FRASH N12D-DIP-FF-SRE00T 00AH
am PASHMIZACIPFT-SRIDIMOAH | PMSHVIZAMPIT-SREDOOOMN | PMSHMIZAJSPIT-SRADISI0AH | PMSHAMIZACSAIT-SREDIGION | PMSHHMIZADERFF-SRIDIMMH am FHSH12A-1CPFF-SRED0S00AH PMSH-HLZA-IZ R SRECI-00AH PV HHHIB 0P FF-SREDOM0AH FMSHA1ZD-04P-FF-SREC0300
ME PR 5m PO HATZAPT-SRADIS0AH | PMIHHVITZAAPT-GRECOG00N | PMSHHVIZACOPTT-GRDISI0AH | PIGHHWIZAJSPT-OREDISI0A | PMGHEMIZ08P4T-SRIDIS00AH S¥a | PUR sm FHESHN12A- CRFF-BRE00500A PR HH2A- 2P T-GREDU-00AH PSR HATIZE-05P-T-SREDOS-00AH FUSHTZD-MP-F -SR0S0
£8 — — — ik o e _— o

?0 wrw. degeon.com



ﬁ DEGSON*

M 1 2 Serias

M12x 1 STEUREIEB RS, | 8w, 3F

BE, Bk

M12 x 1 Male Overmolded with Cable

Ll

=1
T

o
: ; o g
Plug,Single end,Unshielded,Straight. 2
f; ‘ i
(481 & PEA[¥,
o A e P
EiANIE Technlcal Data
:_‘EM IEC 81078 m: : “I a PU
i M12, Male, Siralght nram GepperAlloy, Goid-plated
mm 03.04 Pin ﬁmﬁu‘m Zinc Alloy with Nickel Plated
e 12A max. g Sllicona
gﬁ‘% 630V max. wﬁ"m PUR/PVC
e Wi Z100M2 m Unghialdad
B <8mo m:u i > 100 mating cycles
mwm L = =
g Ipes = =
03 Pin 04 Pin
Number of Pins
o SCoded T-Codod §Coded TGotod
Coded
L]
Coding EmE @ 5 iy
Front View QE@ , /
o et I 128 124 124 128
an V. B30V sV B30V IV
'Mr?:gugn 16AWE 16AWG 16ANG 16ANG
& ﬂiﬁ“ 1.5mm? 1.5mm? 1.5mm? 1.5mm®
ERARTRAN
Wire/Cable 1.BK1 18N
1.BK1 1BN i o
Wiring lst 3.BK3 3.BU ABKS anu
4YE/GN 4BK
4EIGN 4BK
i iIps g TS TS
Desaription OrderNO . Order NO.. Order NO.. Order NO..
m PRM125-0APAI-SLANH O0AH PR ZFC3PSM-BLBANT-00H PR 25-04P MIM-SLEAIM-O0MH PRAHRM2TA04P 0 M-2L BAIA-D0NH
s am PREM12500P M-ELANIH00AH PREMIZECIP-UVHSLBAC-00AH PVMIZS CPAN-SLAN M PRHZEPHNSLEATH I
sm P23 0P M BLANIS 00 PAMIZICaP NSO 0P PVAMIZS O ELBATS OV PRAMTZFOIPHNELENE
!“m d [ L -
im PREM1Z5 03P SI-ELER-00H RN ZEC2PHVISLER-00AH PRAMIZS CIPARSLEBOICOH PRMIZEOPMN-LER00H
i m PREM123 03P H9-SLISTR00AH PRMIZICIP VBB PAMIZS WP SLEBIZ00AH PRAMIZROPHNELESIEOH
m PAEN125 03P M-SR 00AH I MIZECEP VLA 00°H PRAMIZS 04P 1 SLEB0S 00AH PANMZTOWP MM SLEB06 00
EWHL Customized PR e e i

72 wow. degaon, com

ﬁ DEGSON’

M1

2 Series

M12 x 1 §t={ B e AL | Bk |, JF

BE, Bk

M12 x 1 Male Overmolded with Cable
Plug,Single end,Unshielded,Angled.

BiRBE Technlecal Data

1D ELR

I.m.,.\_..,..

0L ZIN

R
s [EC 81078 ift it RO PU
?«wm M12, Mals, Angled wmﬂ ot GopperAlloy, Gokd-pated
P"’"Em:m 03.08 Pin nﬁif.u.m!m Zinc Alloy with Nickel Plsted
m‘g“ m 12A max. g Silicons
HERE RS
Retad voltoge SRl M Gobla jocket motersl PNBLEYE
EigEE
Inaukalion realstance =100mMa Shieiding Unghlalded
-] x
EEE <Bmo N i > 100 mating cycles
EFEE a
Amblent tsmporature AL = =
ke ipea = =
S 03 Pin 04 Pin
Number of Pins
nE $Godod T-Codod & Coded T-Coded
Cadad
E 1
Coding R i 5
&, =
- A 128 124 124 122
BUERE
Ratad ke v. B3OV BV 30V sV
'."'Ima:u 16AWE: 16AWE 1GANG 16ANVE
m::ﬁl 1.5mm?* 1.5mm? 1.5mm? 1.5mm?*
EERRAT
Wire/Cable 18K1 18N
1BK1 1BN e i
Wiring st 48 Al SEKY 38U
4YEIGN 4BK
4YEIGN 4BK
e TRes oReg TR e
Descripiion Onier NG Order NO . Onder NO-. Order NO.
im PRI 28-3R M M-BRAMT -O0AH [PRA-MTZT-03P MR-SREAD -00AH PR 2S04 PIMK-ERAANH -D0AH P ZT-04P A SRANY 00AH
- am PRHAI12S QP HN-SREACE-00AH PHANZHEP WNSRBAT00AH PH-AHTZS OIP-MV-SREACH00AH PHEM ZT-04P-M SREADS-00AH
sm PHHATZS TP MNFEREAS-00AH PR Z-OSP NSRBI 00 PRHATZS LN SREADS TP H PNEMT ZT-04P- WA SREADS-0H
m d — L s e e
im P-AH125 G HN-GREBN-00AH PHHZEEP VMSREB0100AH P25 PN SREBCT DUAH PHEM2T-04P MM SREE0T O0AH
St n PHHAIZS CP-HN-SREBIS-00AH PHMZEP VN SRIBTR0AH PRHATZS AN SREB03IRH PEMZT-04P-/M SREB0S-00AH
&m PH-AH2S QP NN SFEB05-00AH P ZF05° VI SREB05 00AH PR W12 (47NN GREBOS D0AH M ZT-04P 4 SRAE05-00AH
M Cusinmized s e [ mEme [ i

wWww. dagson.com 73



ﬁ DEGSON*

M 1 2 Serias

M12 x 1 FL.EC R BYEB iR | B8R, 3

BE, Bk

M12 x 1 Fermnale Overmolded with Cable

.

M2

[

i~
. . . 3
Plug,Single end,Unshielded,Straight. ]
A Pl
(481 & PEA[¥,
o A e P
EiANIE Technlcal Data
i TR
Biandard IEC 81078 ok s sl P
i M12, Female, Stralght nram GepperAlloy, Goid-plated
mm 03.04 Pin ﬁmﬁu‘m Zinc Alloy with Nickel Plated
e B
Raled Current dEnme. Sl Sflicona
gﬁ?ﬁm §30V max, ik PUR/PYC
e Wi Z100M2 m Unghialdad
B <8mo m:u i > 100 mating cycles
mwm L = =
g Ipes = =
03 Pin
Number of Pins
o SCoded T-Codod §Coded TGotod
Coded
L]
Coding — 40 ] w0y
o et I 128 124 124 128
FERE
Rstad voltage V. BI0V B3 s3aavy =41
<)
Wiragauge 16AWE 16AWG 16ANG 16ANG
& ﬂiﬁ“ 1.5mm? 1.5mm? 1.5mm? 1.5mm®
ERARTRAN
Wire/Cable 1.8K1 18N
1.BK1 1BN api W
Wiring flst i R 2B 4BU
4YEGN 4BK
A.YE/GN 4.BK
- pe e e T
Dostription Drdar NO . Order NO . Order MO . Order NG .
m PR 28-3R FF-SLAADN -O08H PR ZT-L5P-FF-SLAAM-D08H PRl 25-PFF-SLAADT 008H PvHMH ZT-04P-FF-SLAAD-C00AH
Pve am PR 25 0P-Fr-EL 800 P ZT-08P-FF-SLEADG-C0AH PR 25 Fr-SLBADS-I0AH PHVH ZT-04P-FF-SLAADG-D0AH
= P25 (P FRELBANS 00PH P ZT-03P - SLBAD5 SO PN S 0PRSS A PN ZT-O4PFF-BAA0S 00
!“m d [ - emuea -
im PRS- FrElabo 008 P T33P -5 LeE -C0AH P 250 F-SLEBE01 -C0AH P ZT-04P-FH-ELART-CO0AH
PUR am PR ZE-I0P-F F-ELEBG-008H P ZT03P-F-SUESI-00AH P ZEEP--ELBBIE-00AH PR ZT-04P-FF-SLAB0G-00AH
sm P 125 00F FF- SL8A0S COAH P M1ZT.03P FF-SLES 00AH P 125 04R P SLARS 00 PV 27047 FF- &LBR0S COAH
W Customizad e - — —

74 wow. degaon, com

ﬁ DEGSON’

M 1 2 Series

M12 x 1 FLC A BLEadiESL | Bk |, JF
B&E , S,

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded,Angled.

1D ELR

BiRBE Technlecal Data

Guwiy

N [EC 81078 ift it RO PU
?«wm M12, Femals,Anglad wmﬂ ot GopperAlloy, Gokd-pated
P"’"Em:m 03.08 Pin nﬁif.u.m!m Zinc Alloy with Nickel Plsted
m‘g“ m 12A max. g Silicons
ms — S e
EigEE
Inaukalion realstance =100mMa Shieiding Unghlalded
sREE <Emo iifo > 100 mating cycles
EFET s
Amblent tsmporature AL = =
G IPea = =
S 03 Pin 04 Pin
Number of Pins
nE $Godod T-Codod & Coded T-Coded
Cadad
E 1
Codny EmE 28
Front View %};@
- A 128 124 124 122
an v. B3OV BV 30V sV
'."'Ima:u 16AWE: 16AWE 1GANG 16ANVE
m::ﬁl 1.5mm?* 1.5mm? 1.5mm? 1.5mm?*
EERRAT
Wire/Cable 1.BK1 18N
1BK1 1BN s i
Wiring st 48 Al 8K 38U
4YEIGN 4BK
4XE/CN 4BK
e TRes oReg TR e
Descripiion Onier NG Order NO . Onder NO-. Order NO.
im PREM 25-03P-FF-SREAN -D0AH PR 12 T-03P RS RAA-00AH PREWVM2S-D4PFF-SRAADM -00NH PR LIT-0AP A SRAM-00AH
- am PAHWIZE-00PFF-SRAAT-00AH PAHITZT-P-F-SREACS00AH PAFMIZS04PFF-SFRaAT 00N PR IT-04PFF-SREAC-COA
sm PhHMIZE0aF-FF-EREAD-00H PAEM 1203 FFSREATS 00 PAEMZS DR Fr-BRAAE-CORH PRI ZT-APF-SREACE-CO
m d -— 0 s e e
im PAHVHZ00PFF-SREPO1-00AH PhEA 1203 FF-SREBCT- 00 PRFMHZE OP_FT-GREBIT CORH PRENIZT-OIP F-SFERT-COMH
St n PRHMIZE-00P-FF-SREEC3-00AH PN 03P FF-SRAB0-00A PREMIZS 0P-FF-SRB0A PN T4 FF-SREEE-00A
&m PAEMIZS 00 FF-GRIB05 00AH PN 12T 0O FF SRB905 008 PREM1ZS DIP_FF_SRO805 00AH PREMIZT-OAP-FF-BRER06-00AH
BN Cusinmizad s e mEme [ i

wWww. dagson.com 75



ﬁ DEGSON*

M 1 2 Series

M12 x 1 =R BY B RESL |, Bl
B, 5.

M12 x 1 Male Overmolded with Cable
Plug,Single end,Shielded,Straight.

|5 @ PEF

EiANIE Technlcal Data

T
e

oy

{wwh

iR wrdtEEe
Standard IEC 81078 " PA
B’ L i ad b
Sexica M12, Male, Siralght okt vl Gopper Alloy, Gold-plated
Pink S f. L]
Number of Fing S dl Motzd of rut Zinc Alloy with Nicks! Plated
e e Bm
Raled Current PRSI Sl Sflicona
s ESfiSh IR B
g e SOVAG/60V DG i PURIPVG
BRLE P
Inaulalion reslstance Z100M2 Shisiding Shislded
ERaE R 7
<8ma i > 100 mating cycles
BiFER =
Amblent tsmparaiure ST = —
et =13
IP Class IPET —_ e
b 08 Pin
Number of Pins
L L)
Coded
o
s EmE
Fron View
Rl
Rated curment % 0.54
Ratsd votmge b 50V AC 60V DC
5]
Wira gauge 2BANGE
]
Cross ssclion 0:A4mm?
1.WH
FRERTRAT 306
Wire/Cable sy
il 46N
Wirlng list SWH
BN
7MWH
88U
g baL oy
Dessription Order NO .
m PISHMIZX06P MV-SLTN-008H
i 3m PMSHM1E08P-MVHSLTXDS-C0AH
Sm FVEHAHZX0BPMM-ELTXT05-C0AH
S8 Gutorzed | =

76 wow. degaon, com

ﬁ DEGSON’

M 1 2 Series

-
|
M12 x 1 FLURRENER AR, | Bl IR
BE&E, L.
; &
M12 x 1 Female Overmolded with Cable =
Plug,Single end,Shielded,Straight. 3
BiRBE Technlecal Data
Eﬁ\dml IECHER Contect carlars matsrial
gﬂh M12, Femals,Straight m ot GopperAlloy, Gokd-pated
P"’"Em:m 0B Fin nﬁif.u.m!m Zlnc Alloy with Nicks! Plstsd
ot A 0.BAmax -
e soncrsovoe i
fﬂﬁﬁ realatance =100ma Shielding
SRBE <Emo ctcrioa it > 100 mating cycles
Atblent temperature Nl =
Es..: IPET !
g
Number of Pins oHn
L]
Coded
L)
Cuding p—
Frant View
R
Reated cument L 0.5A
m W S0VAC/B0VDC
Wirmn 2RAN
Crosa seslon B
1WH
Lt 206
WirafCabla 3WH
etk 4EN
Wiring Bist 5WH
LA ]
TWH
a8l
ok et
Dagoriplion Crder NO .
im PRASHN DL-DAP-FF-SLTA -00AH
- am PASHAH 2 08RFF-SLI03-00AH
5m PMSHM2X08P FF-SL7KS 00AH
= -

wWww. dagson.com 77



ﬁ DEGSON

M1 2 Series

M12 x 1 TR BLEB 4Rk |, g | 3F

FFilk . B3k, LED,

M12 x 1 Male Overmolded with Cable
Plug,Single end,Unshielded,Straight,LED.

SALTSPRAY

s

EAREE Technical Data

M12*1.0

09t

(ww)7

Tl IHF AR
Standard IS Contact carriers material PU
g i HFAR H
Series M12, Male,Straight e Copper Alloy, Gold-plated
PinftEi ; SRIRE i -
Number of Pins 04,05 Pin Metal of nut Zinc Alloy with Nickel Plated
e wE -
Rated Current o Seal Silicone
MEBE EBAEShRE AR
Rated voltage AV GRS Cable jacket material FURIAS
“BRFEIE > R .
Insulation resistance =0 Shielding Unshielded
#EfeeapE HtlE )
Contact resistance e Mechanical life glcdiatngcycice
BTR o
Ambient temperature 2= e - -
BriPER
IP Class e - -
L
Number of Pins
A
A- A-
Coded Coded Coded
Cﬁﬁg 4 3 4 3
EEE
Front View
1 ~ 2 1 ~ 2
R A
Rated current i b &
HEFRE V. 250V 60V
Rated voltage
. LAl 22AWG 22AWG
Wire gauge
S . 0.34mm? 0.34mm?
Cross section
FRL/EB Y
Wire/Cable AE U
: 2WH 2
e ’ 3.8U
Wiring list 3.BU
4.BK
4.BK
5.GY
fitig i8S 1J8s
Description Order NO . Order NO .
m PL-M12A-04P-MM-SL8A01-00AH PL-M12A-05P-MM-SL8A01-00AH
PVC 3m PL-M12A-04P-MM-SL8A03-00AH PL-M12A-05P-MM-SL8A03-00AH
5m PL-M12A-04P-MM-SL8A05-00AH PL-M12A-05P-MM-SL8A05-00AH
=% customized | -
im PL-M12A-04P-MM-SL8B01-00AH PL-M12A-05P-MM-SL8B01-00AH
PUR 3m PL-M12A-04P-MM-SL8B03-00AH PL-M12A-05P-MM-SL8B03-00AH
5m PL-M12A-04P-MM-SL8B05-00AH PL-M12A-05P-MM-SL8B05-00AH
FHL Customized | e

78 www.degson.com

ﬁ DEGSON

M 1 2 Series

M12 x 1 StTUB BB RSk |, Bim , 3F

Pk , &3k, LED,

M12 x 1 Male Overmolded with Cable
Plug, Single end,Unshielded, Angled,LED.

BEAREIE Technical Data

TR
Standard
ES])

Series
Pinft#
Number of Pins
EERI
Rated Current
HERE
Rated voltage
BRI

Insulation resistance
AR R

Contact resistance
IEfTIRE

Ambient temperature

PSR
IP Class

g

Number of Pins

IEC 61076

M12, Male,Angled
04,05 Pin

4A max.

250V max.
=100MQ

<5mQ

=25~ -£80C

IP68

I FEARTR

Contact carriers material
AR

Contact material
SRIEE

Metal of nut

Seal
EBUTHNER AL

Cable jacket material

R
Shielding
S

Mechanical life

M12*1.0

0'ge

(ww)7

PU
Copper Alloy, Gold-plated
Zinc Alloy with Nickel Plated
Silicone

PUR/PVC

Unshielded

> 100 mating cycles

L)
A A
Coded Coded Coded
izl
N 4 3
Codin
¢ il
Front View
1 2
-~
Eorh A
Rated current ) i il
HEBE
Rated voltage V- 250v 6ov
. LAl 22AWG 22AWG
Wire gauge
HEE . 0.34mm? 0.34mm?
Cross section
FRLR/ERY
Wire/Cable 1.BN (=
: 2WH 2w
o) ' 3BU
Wiring list 3.BU
4.BK
4.BK
5.GY
i T8RS iTE8S
Description Order NO . Order NO .
im PL-M12A-04P-MM-SR8A01-00AH PL-M12A-05P-MM-SR8A01-00AH
PVC 3m PL-M12A-04P-MM-SR8A03-00AH PL-M12A-05P-MM-SR8A03-00AH
5m PL-M12A-04P-MM-SR8A05-00AH PL-M12A-05P-MM-SR8A05-00AH
=% customized |
m PL-M12A-04P-MM-SR8B01-00AH PL-M12A-05P-MM-SR8B01-00AH
PUR 3m PL-M12A-04P-MM-SR8B03-00AH PL-M12A-05P-MM-SR8B03-00AH
5m

TEFIH Customized

PL-M12A-04P-MM-SR8B05-00AH

PL-M12A-05P-MM-SR8B05-00AH

www.degson.com 7 9



ﬁ DEGSON"

M 1 2 Series

M12 x 1 FL (R BB SRS, | B |, 3F
B, 53k, LED.

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded,Straight,

LED.

I

EiRME Technlcal Data

MA2*4.0

¥13

(wiw}y

73 SRR
Standard IEC #1020 Contact carrlars materlal F
gf;'“ M1z, Femals, Stralght mﬂm - GopperAlloy, Gold-platsd
:m 2 04.05 Pin ﬁne?u.m Zinc Alloy with Nickel Plated
“Fl “I - dA max. gg SHlcone
HELE Bl
Rated veitage s Cablo jackst materal FURIFYG
e S Z100M2 “M Unshlaldad
S A i
Contact resistance el Mechanioal e > 100 mating cycies
EiTEE el
Amblent mparaturs L = =
PP ER
IF Class IFE8 — —
8 04 Pin 05 Pin
Number of Pins
o]
. ACodad ACoded
il 3 4
Coding —_— ¥ a‘ BLE
Front View 3 oo A a9a
2 5
EERE
Rated curmsnt 4 i il
HERE
Ratad voitage v, 2500 8w
B
Wiis palige 2AWE 22ANG
e I 0. 54mm? 0. 34mm
ERERTRAY
Wira/Cable 1.BM ]
Son 200H
Wiring Bt 28U £
g 48K
: say
it Tiag 1T
Dasaption Order ND . Order NO .
im PL-M12AD4P-FF-SLAADT-00AH PL-M12A-08P-FF-SLAMI1-00AH
- am PL-M12A-04P-FF-SLBAZI-I0AH PL-M12A-05P-FF-SLEACT-OUAH
5m PLM12A4PFF-ELBADS-00AH PL-W12A-05P-FF-ELEADG-G0AH
B Cmtomad | 000 e [
1m PLW1ZAD4PFF-SLABOT-00AH PL-M12A-05P-FF-SLEBO1-00AH
_— m PLM1ZA-J4P-FF-SLEBO3-00AH PL-M12A-05P-FF-SLEBO3-00AH
5m PL-M12A D4P-FF-8LBBOS G0AH PL-W12A-06P-FF-ELBB05 00AH
“m L wad |l 0 aaees e

80 wow. degaon, com

ﬁ DEGSON®

M1 2 Series

M12 x 1 A B AiEsL | B, 3F

B#& , B, LED.

M12 x 1 Female Overmolded with Cable
Plug,Single end,Unshielded,Angled,

LED.

BiRIE Technlcal Data

1B

O'SE

{wun

o Mrkein
ol IEC 81078 - e PU
gl HTee L
Sert M12, Famale, Angled ; ol Copper Alloy, Gold-plated
PirkHif R SRER
v 04,05 Pin et Zinc Alloy with Nickal Plated
mﬂ fed Cument dAmax. g Sllicons
Wi BN
Posiact i 250V max. Cable jacket metarel PUR/FYC
e L
Inguletion reslstanca =100Me Shieiding Unahlalded
g ssn 2
o iy =Emo Mechanical e = 100 maling cycles
ETRE i
Ammblent tsmperature 2 = =
L]
IP Class 1Feh = =
i 04 Pin 05 Pin
Number of Pins
L] Atoded A Cardod
Caded
L 1
Coding 3 4 3 4
EEE o a o] g 0
Front View »0 O om0
e 2 1
=R
Rated current A 4A A
e
Reted voltage v 250¢ B0V
#Bn
Wire gaugs 22AWE 2AWE
c ]
{Sresaa Baolon 0. 34mmt 0.234mne
FEARRT
Wira/Cable - 138
2WH
e 2w
Witng llst 1B A8
48K
4BK
5GY
%3 g e
Descriplion Order NO Ordar NO .
im PL124.04P-FF-SREAN-00AH PLA12A-05P-FF-SREAD-00AH
- am PLMIZA-DIP-FF-SREADIO0AH PLAd124-05P-FF-SRBAN-OGAH
Sm Pl-M125-04P-FF-EREADS-00AH PLAX12A-05P-F F-SRRADS-00AH
m d s e
m PL-M124-04P-FF-SRABO1-00AH PLAd12A-05P-FF-SRAE01-00AH
PUR e PLANZADIP FONREAH PLARTZA05P £ F-SRABU-00AH
&m PL-WH24-04P-FF-SREBOS-00AH PLA12A-05P-FF-SRBA05-00AH
WAL Gustombzad | e |

Www. dagson.com 81



ﬁ DEGSON*

M 1 2 Series

Limm)
M12 x 1 3TN ERREREEE | (R .
#0.5mSEk.
M12 x 1 Male Panel Mount Receptacle, ——
. = ; —
Rear Mounting,With 0.5m wires. —
M16*1.5/PGH ¢
BAEEE Technical Data
ghn"m IEC 61076 ﬂl: ml ll;-'lﬁl'l p— PA
?lrl;!n M12, Male STHH CopperAlloy, Gold-platad
Kurrior ot Pirs T,04.06,00108,19. 12 Fin S Zing Alloy with Nicks! Platsd
e Akmey o] Sillone
Retad voltage 230V gy, 5:,,“ Unshielded
Fm reslztance =100mo a‘mm.. =100 mating cycles
i Lt 2 = -
Contac eaizmncs £5m0
Amblant tamparsture —25~ BT = —
E’c:? P68 = o
g : : ; . ;
P
Number of Pins 03 Pin 04 Pin 05 Pin 08 Pin 08 Pin
cﬁﬂ A-Coded A-Codad A-Codad A-Coded ArCoded
oded
L] -
L ]
Front View | [ BN | 7 . .3 7 » ’ 3
1 1 - 1 a (N ) 2 ; .‘C‘!Z
REERE
Ratadl cument 7 = “ 2 A 2
e
Rated voltags s 280 260 OV aov v
il
Wirs gaugs Z2RNG 22RNG 2R 24ANG ZAAWG
i)
e 0.34mm? 0.84mm? 0.34mm? 0.26mm? 0.25mm?
1WH
AR - 1WH 28N
‘Wire/Cable 1.88 . 28N 3.GN
18N 2WH
28U 209 aBu AGN ANT
Wirng el it 28U 4¥E 56Y
’ 4.5K A 6PK &PK
sav 78U 7.80
8.RD
] g Lo ies ise s eas
Dessrigtion OrderNO . Order NO . Order NO , Order NO . Order NO .
s o.5m SDNM2A D3P W-SFAAR-00H 0124 04PN SFRASC-O0AH S0-M12 05PN SFBASD00AH ‘SD-MT2AD6P MV-SFSAS0.00MH ‘SO-M12A-06P-MNHSFBASIIGAH
S Customized ] e |
TS 0.5m SO-MH2APR-SFERSI-00AH ST 2A0P-M W -SFBEE0-00AH SO 2A05PMIA-SFERS0-00AH SO EA-00PI-SFERE0-00AH SO 2A-08PAINHEREBSII0AH
R Customized [ ] .7 T [ R

82 WWW.deq 80N, Gom

ﬁ DEGSON*

M 1 2 Series

Lmm)
M12 x 1 SHIEERRERRE | HERE .
H#0.5mS4E.
M12 x 1 Male Panel Mount Receptacle, =—
Rear Mounting,With 0.5m wires. ——
DY |
BAEE Technical Data
“m . IEC 61076 . o5k S PA
gﬂ M12, Male BTHE Copper Alloy, Gold-plabad
i P 03,04,05,08,08,10,12 Pin syl Zing Alloy with Nicks! Plsted
Reta] Cusrrant Amax e Slilcona
Retad voltage 250¥ max. F‘m‘ Unshislded
Insulslion reslstance F10nme: *Mm*l ¥ > 100 mating cyclss
maem Zo g il _
E:EE: tampersture = - -
eres o - -
Number et Plns 10 Pin 12 Pin 05 Pin 04 Pin
1
s A-Coded A-Codad B-Coded D-Coded
= E
Coding %o Taey e & ? 4 33
EHE LT 4 e ” - ™
Fromt View ..9'. R (e ° e,
B
gl A 158 1.58 44 @
Wi
Bl v sov aov 8oV 250V
il
et ZEAVG ZBANG ZZANG 2ANG
cmﬁﬁl D.44mma 0.4mm? 0.34mm? 0.34mm?
18N
1.8N 28U
28U AWH
Eeb e 3WH 46N 1.BM
Wire/Cable 46N EPK S 18N
) 5.PK &YW s 20WH
Wiring llat BYW 7.BK i 38U
7.8K Bay 4Rk <K
s.GY 9.RD 8.6Y
%.RD VT
10VT 1.G¥FK
12ROMEU
e TRs iIes s iIes
Descriplion Order NO . Order NO . Orier MO . Order NO..
- 05m SDAHZA-10P M SFRARD-00PH ‘SDMT2A12PMN-SFRABO 00RH ‘SOM2E05P- M- BFRABI-O0AH ‘SD-M12D- 4PV SFIASD 0AH
m mmm . T T T T T
B— 05m SOMZAAOPMESFERE0-00AH SO-M1ZA2PMM-SFESC-00RH ‘SDMTZE-05P-MN-SRBS0-00MH SO-MTID-0P-VM-SFEREH00MH
m Mmm - (e
W, degeon.com 33



ﬁ DEGSON®

M1 2 Series

M12 x 1 S EREZLRERE | AR |
H#0.5mSL.

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,With 0.5m wires.

2 Jia @ pE(% .

EiANIE Technlcal Data

R

M16"1.5/PGE /

Rk
e IEC 81078 di, . i PA
BH | Fik il
Ser M1Z, Male c il Copper Alloy, Gold-platad
Pirk ik Lo L]
ol K 03,04,05,06,08,10,12 Fin it Zinc Alloy with Nicks! Plated
e B
Raled Current SAm: Sl Siilcone
m 250V max, ﬁ“ﬂ Unshisided
g o
InGuislion realstance F100M0 i » 100 mating cydles
mwm L = =
et =13 — —
IP Cinsa IP53
03 Pin 04 Pin 05 Pin 08 Pin 08 Pin
Number of Pins
aw ACodad Aoded ACoded ACoded Atoded
Coded
el 8 4
" DS Y v g ? Yege? s o .,
Front View o ,(\‘ ® J- 2.
1 1 1 e (-8 p L ¥ 2
e
= A an 7Y 4A 7 A
WERE
Rated vollage v. 250¢ 2507 BOV v v
Wi 228WG 24WG ZAWE 24AWG 208WG
e 0:34mmt 0.34mm? 0.34mme 0.25mm? 0.25mm?
1WH
o 18BN 1WH 2BN
Wire/Cable 18N 28N 16N
il 2WH G 16N 4¥E
et 3.8U : aBu
Wiring st v E1: 1] 4XE sGY
L 4.5K Ak B.PK &PK
8oy 78U 78U
8.RD
i g s eag s ireas
Dessription OrderND . Oider NO .. Ordar NO , Order NO . Ordar NG .
—_— 05m SDNH2A DI SHEASI00AH SDMHZA 4PN SHIASD-004H SDM1ZADSPMM SHEAS0 00 ‘SOMIZA0P IV EHIAD00AH SOM1ZA AN SHRASDCON
S Customized e e e
0.6m SOMIZA-TF-W-BHEESC-I0AH SOMIZADIPMNHEHSESTHIOAH SD-M1ZA DS SHEEED 00 EDMI2A0GP IV SHERI00H SO12A-0F-MNSHEBRO00AH
MiE*1S
=m Al e | amwes L aemmes | arams

84 wow. degaon, com

ﬁ DEGSON"

M1 2 Series

M12 x 1 ST ERR SR | IpRE ,
H0.5mSL.

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,With 0.5m wires.

[ o]

HiRWIE Technlcal Data

Standard IEC 1070 Contact carters matarial o
ma‘ M12, Mele ﬂ?ﬁﬂm : GuopperAllay, Bold-plaled
:;I'I'IMI” of FIns 03,04,05.08,08,10,72 Pin m" " Inl'.rl.l‘l Zinc Alloy with Mickel Plated
W e
Rated Curment ke Saal Sillicons
gﬁ?ﬁw 250V mex. ﬁ.‘ Unshielded
g e
Insulation resistance #100mMa i ane > 100 mating cycles
mMEE — —
Contact resletance o
EFER g5~
Aniblent temparature it = =
WHPER == —
IF Class IP62
S 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
L ]
ol ACoded B-Coded B-Coded
oA L
T e 4 2
Coding EEE i .I r.. r/._;}e\ N
Front View oiZals )y e5e
1 2 — =
IR
il A 1.5A 154 4A A
an V. v v Bov 250%
5]
Wirey 26AWG 26AWT 22000 22AWG
ch‘:ii 0.14mm? 0.44mm? 0.34mm? 0.34mm?
1BN
18BN 201
26U 3WH
Lot awWH 4.GN 1BM
Wiow/ Cable 46N BPK i 18M
e 5PK &YW S 2WH
Wing llst EYW T.BK ) 38U
T.BK B.GY 4BK 48K
BGY 2.RD A6Y
BRD 0NT
10VT N.EYPK
12RD/BU
%3 TRes oReg s e
Descriplian Orer NG Order NG . Order NG . Order NO..
— 0.5m SDANZAAOP MM SHISO0MH ‘SDMIZA12P MMSHAAS0.004H SDM1ZE05P MMSHEASI00AH ‘SDMIZD P VM SHAS000AH
m mmm Oy L . T~ 1T
0.5m SDMZA 0P MMEHEBR000PH SN2 12PN B0 EOMEE- 05 MN-BHEBS00PH EO-MTZD- APV EHEBE0IAH
M16".5
m - e e e

Www. dagson.com 85



ﬁ DEGSON"

M 1 2 Series

M12 x 1 SN ERREEEE |, IER% .

#0.5m5 %,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting, With 0.5m wires.

q\

20.0 L{mm])

l I
e
e I
M1Z*1.0/

M|G‘1

Standard JELS Tawg Camtact carriars matarial B,
g’}“ M12, Female KEFHE N CopperAlloy, Gold-plated
FYRIMR ©3,04,05,08,08,10,12 Rin - Zing Alloy with Nickel Platsd
MER sAmax. gu- Sllicons
!Mﬁd% 250V max. F‘m Unshislded
i R =g hachanlcal lfa F100 mating oyolked
s _— o
Contact rasistancs “5ma
i tamperaturs =RE LT = ==
preR i - -
s 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
a8
E A-Codsd A-Coded A-Coded ACoded #Coded
RE o 5
3 4 A =
Coding —_— ¥o oy ’@ 080 i 452y
i ol
Fromt View \.DI R A Dy ngDJ 3o § o7
B o z 1 1 24
% A an 4A 47 za 8
ﬁzﬁm v 250V 250V 8OV v aov
i 22ANG z2ANG ZANG 24ANG 4ANG
Wire gauge
—y 0:34mm? 0.34mms 0.34mme 0.25mm? 0.25mm?
149H
AR inN 1H 2BN
Wire/Cable 1BN . 28N 36N
18N 2WH - i
it e am ZWH i AGN 4YE
Wiring llet P ABU 4¥E 5.GY
4.BK ) 6PK BPK
say 78U 78U
BRD
s iIRg ies iIws %8 g
Desoription Onier NO.. OrdlsrNO. OrderNO . Order NO.. OrderNO .
85m SDMIZACPFF-SFARI00AH SDMM2A GIRFF-SFEASO-00AH ‘SOMIZA QP FF-SFRARMIOAT SOHHH2A OEPFF-EFIASD-00AH SDM12A00P-FF-BFAAS0 00
PEa !m mmlud T ety ETTrTT . wranra
— 05m SDMI2A0IP-FF-SFEEE000AH SOMMZAOIPFF-SFEBE01H SOMMEAOFF-SFSEEIAR SOME2A-0EPFF-SFERO-00MH SDM12ACHP-FF-SFEE000M
Em mmlmu — B T ey B

86 WWW.d8q 80N, oM

ﬁ DEGSON®

M 1 2 Series

M12 x 1 L. ERREEE , ER% .
H#0.5mSk,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting, With 0.5m wires.

e

FiARWIE Technlcal Data

; 20.0 Lmm)

Mi6*1 5/PGS

e
e IEC 61076 o5 A PA
BA M12, Female HEFHE Y i Copper Allny, Gold-platad
it PO 03,04,05,08,08,10,12 Pin . Zing Alloy with Nicks! Plsted
MR 4 ]
Rated Cumant AT Seal Sllicons
m 250V max. ﬂm Unshielded
SigEaE ok
Ineulstion resletance il L Mochanical lif 100 mating mynten
b Gt . —
Contact resistance #5mo
BT =
Ambisnt tamparaturs = ==bMn = —
R S fd
1P Clags IFG6n
10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
1]
Satad B-Coded D-Coded
=12 : 4
EHE { =} & L J
Fromt View oy e
i Pgrs]
BRI
o A 158 1.58 4A 7y
o
V. s0v aov B0V 250V
aa
i 2ZBAVG ZBANG ZZANG 22ANG
cmﬁﬁl D.14mm? 0.14mm? 0.34mm? 0.34mm?
1BN
1.8 28U
28U aWH
Eeb e 3WH 46N 1.BM
Wire/Cable 46N 5PK S 18N
o 5.PK BYW 2WH
Wiring llat BYW 7.BK AR 38U
7.8K Bay 4Rk
3 4BK
s.GY 9.RD 8.6Y
5.RD 1aMT
10VT MEYPK
1ZROMBU
e TRs iIes s iIes
Description Orier NO . Order NO . Orier NO . Order NO..
05m ‘SDM12A10P-FF-SFBAS 00AH SD-M12A-12P-FF-SFAAS00AH M 12805 FF-SFBARD 00 SD-NTZD-4P F-SFEAR-J0AH
Pea
m mmhd Ty ey Ty s
S 0Em SOMI12A-10P-FF-SFEB5000AH SDH12A-12FF-EFABE000MH SO 1250 FF-SHEE000MH SD-H12DOIRFF-SFRR50-00AH
m wmmu — ——— L e o
W, degeon.com 37



ﬁ DEGSON

M1 2 Series

M12 x 1 FLUEREARIEEE |, IRATREE |,

H0.5mBL,

M12 x 1 Female Panel Mount Receptacle,
Front Mounting, With 0.5m wires.

« |48
=

hAl

BEAREIE Technical Data

TR

Standard

Bl

Series

Pinft#
Number of Pins
EEFI
Rated Current
HERE
Rated voltage
p:cie LN

Insulation resistance

AR pa

Contact

resistance

IETIRE

Ambient

t temperature

PR
IP Class

g

IEC 61076

M12, Female

03,04,05,06,08,10,12 Pin

4Amax.

250V max.

=100MQ

=5mQ

—25~ +80C

P68

AR

Contact carriers material

I FATE
Contact material
SmIRE

Metal of nut
B

Seal

R

Shielding
S
Mechanical life

‘ 200 Lmm)
|
|

M12*1.0
M16*1.5/PG9
PA

Copper Alloy, Gold-plated
Zinc Alloy with Nickel Plated
Silicone

Unshielded

> 100 mating cycles

ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER L IIEEE |, IRAIRE |,

w0.5mS4k,

M12 x 1 Female Panel Mount Receptacle,
Front Mounting, With 0.5m wires.

SALT SPRAY

Standard

3]

Series
Pintt#&
Number of Pins
HERR
Rated Current
HMEBE
Rated voltage
“EREEIE

Insulation resistance
#feeapE

Contact resistance
ETRE

Ambient temperature
BriP SR

IP Class

g

Number of Pins

=05 ]

EARERE Technical Data

IEC 61076

M12, Female
03,04,05,06,08,10,12 Pin
4A max.

250V max.

=100MQ

<5mQ

=25~ 180/C

IP68

} 20.0 Lmm)
I
I
I
M12°1.0,
w/
TR oA
Contact carriers material
ﬁ(iftz?:ﬁnateria Copper Alloy, Gold-plated
ﬁﬁﬁm Zinc Alloy with Nickel Plated
Seal Silicone
i%lding Unshielded
WAl

Mechanical life

> 100 mating cycles

Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
izl
Coding FaEE 3 4 8 O O \ 4o oy
Front View o 0 3\° o)7
1 2 1 ()
2 1
ERTR A. 4A 4A 4A 2A 2A
Rated current
HEEBE V. 250V 250V 60V 30V 30V
Rated voltage
. &l 22AWG 22AWG 22AWG 24AWG 24AWG
Wire gauge
ﬁaﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
1.WH
ER L/ 1.8N 1.WH 2BN
Wire/Cable 1.BN : 2BN 3.6N
1BN 2.WH ’ '
ek 2.WH 3.G6N 4.YE
T 3.BU 3.BU
Wiring list 3.BU 4.YE 5.6Y
4.BK 4.BK
4BK 6.PK 6.PK
e 7.8U 7.8U
8.RD
i T8s 1TSS 1TSS TS TES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PGO 0.5m SD-M12A-03P-FF-SHBA50-00AH SD-M12A-04P-FF-SHBA50-00AH SD-M12A-05P-FF-SH8A50-00AH SD-M12A-06P-FF-SHBA50-00AH SD-M12A-08P-FF-SHBA50-00AH
EHIH Customized T e e
M16".5 0.5m SD-M12A-03P-FF-SHB8B50-00AH SD-M12A-04P-FF-SHB8B50-00AH SD-M12A-05P-FF-SH8B50-00AH SD-M12A-06P-FF-SHB8B50-00AH SD-M12A-08P-FF-SHB8B50-00AH
) EHL Customized R e

88 www.degson.com

R A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 9
9 EEE OOO o O
Front View 050 O O
AU~ A=
ST A 150 1.5A 4A an
Rated current
HEFBE V. 30V 30V 60V 250V
Rated voltage
. LAl 26AWG 26AWG 22AWG 22AWG
Wire gauge
ﬁgﬁ. 0.14mm? 0.14mm? 0.34mm? 0.34mm2
Cross section
1.BN
1.BN 2.BU
2.BU 3.WH
FRL/FRLS 3.WH 4.GN 1BN
Wire/Cable 4.GN 5.PK : 1.BN
. . 2.WH
bisi5 3 5.PK 6.YW SE 2.WH
Wiring list 6.YW 7.BK . 3.BU
7.BK 8.GY QL 4BK
8.GY 9.RD S:GY
9.RD 10.VT
10.VT 11.GY/PK
12.RD/BU
i T8RS TS 1T8S TS
Description Order NO . Order NO . Order NO . Order NO .
PGO 0.5m SD-M12A-10P-FF-SHBA50-00AH SD-M12A-12P-FF-SHBA50-00AH SD-M12B-05P-FF-SHBAS0-00AH SD-M12D-04P-FF-SH8A50-00AH
EHH Customized S S
M16".5 0.5m SD-M12A-10P-FF-SHB8B50-00AH SD-M12A-12P-FF-SH8B50-00AH SD-M12B-05P-FF-SH8B50-00AH SD-M12D-04P-FF-SH8B50-00AH
) EHIL Customized R R

www.degson.com 8 9



ﬁ DEGSON

M1 2 Series

M12 x 1 Sl EREZIRIEE |, IRERE

w0.5mS4;,

M12 x 1 Male Panel Mount Receptacle,

Rear Mounting,With 0.5m wires.

EARZRE Technical Data

23.0 L(mm)

Tl ShF AR
Standard IS Contact carriers material PA
#3 BFE y
Series M12, Male oA CopperAlloy, Gold-plated
Pingt# i i SEEE ; N
Number of Pins 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
HERITR BRE -
Rated Current 1A mEr Seal Silicone
MEBE R )
Rated voltage CEIDY RS Shielding Unshielded
“EREEIE > WA i
Insulation resistance =100MQ Mechanical life > 100 mating cycles
| —smo _ _
Contact resistance
ETIRE R e
Ambient temperature 2~ T - -
BriPER — —
IP Class e
H
B 04 Pin
Number of Pins
B S-Coded T-Coded S-Coded T-Coded
Coded
Eoiz)
Codin,
o il
Front View
R A 12A 12A 12A 12A
Rated current
HUEEBE V. 630V 63V 630V 63V
Rated voltage
. LAl 16AWG 16AWG 16AWG 16AWG
Wire gauge
'iEZE. 1.5mm? 1.6mm? 1.5mm? 1.6mm?
Cross section
FRL/EB Y
Wire/Cable 1.BK1 1.BN
. 1.BK1 1.BN AT AL
e 3.BK3 3.BU ’ )
Wiring list 3.BK3 3.BU
4.YE/GN 4.BK
4.YE/GN 4.BK
fitig iT8s T8RS J8s T8RS
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12S-03P-MM-SF8A50-00AH SD-M12T-03P-MM-SF8A50-00AH SD-M12S-04P-MM-SF8A50-00AH SD-M12T-04P-MM-SF8A50-00AH
EHI Customized e e R
M161.5 0.5m SD-M12S-03P-MM-SF8B50-00AH SD-M12T-03P-MM-SF8B50-00AH SD-M12S-04P-MM-SF8B50-00AH SD-M12T-04P-MM-SF8B50-00AH
) EFI Customized S e e

90 www.degson.com

ﬁ DEGSON’

M1 2 Series

M12 x 1 SHUER S RIEEE |, IRAIREE

w0.5mBL,

M12 x 1 Male Panel Mount Receptacle,

Front Mounting,With 0.5m wires.

« |48
=

5 i

BEAREIE Technical Data

M16*1.5/PG9

L B
Standard EEE Contact carriers material PA
ES]) IFE "
Series M12, Male A Copper Alloy, Gold-plated
Pinft# ; SRIRE i -
Number of Pins 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
L e -
Rated Current e eee Seal Silicone
HERE TR .
Rated voltage S30Mmac Shielding Unshielded
BRI > S i
Insulation resistance =l Mechanical life > 100 mating cycles
AR R < — —
Contact resistance S
BTIRE —25 ~ K
Ambient temperature 45~ #E0¢ - -
PERER — —
IP Class 17613
BE 04 Pin
Number of Pins
R S-Coded T-Coded S-Coded T-Coded
Coded
izl
Codin
¢ il
Front View
HEFB A 12A 12A 12A 12A
Rated current
HEFBE V. 630V 63V 630V 63V
Rated voltage
. i 16AWG 16AWG 16AWG 16AWG
Wire gauge
HEE " 1.6mm? 1.5mm? 1.6mm? 1.5mm?
Cross section
FRLR/ERY
Wire/Cable 1.BK1 1.BN
N 1.BK1 1.BN A A
s 3.BK3 38U } )
Wiring list 3.BK3 3.BU
4.YEIGN 4.BK
4.YE/GN 4.BK
i T8RS T8s iT8s RS
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12S-03P-MM-SH8A50-00AH SD-M12T-03P-MM-SHBA50-00AH SD-M12S-04P-MM-SH8A50-00AH SD-M12T-04P-MM-SH8A50-00AH
EHIL Customized [ e R e
M16*1.5 0.5m SD-M12S-03P-MM-SH8B50-00AH SD-M12T-03P-MM-SH8B50-00AH SD-M12S-04P-MM-SH8B50-00AH SD-M12T-04P-MM-SH8B50-00AH
) EHME Customized | e e e

www.degson.com 9 1




ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER S RIEEE |, IREREE

w0.5mSL,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting, With 0.5m wires.

BEAREIE Technical Data

i

20.0 L(mm)

M12*1.0/

it IR
Standard IS Contact carriers material PA
ES) IF R H
Series M12, Female o CopperAlloy, Gold-plated
PingtEg it ; SRIRE i N
Number of Pins 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
L o -
Rated Current 1A mEr Seal Silicone
HERE R .
Rated voltage CEIDY RS Shielding Unshielded
HBERIE > A i
Insulation resistance e Mechanical life >100 mating cycles
AR R < — —
Contact resistance n®
BTIRE —25 ~ ”
Ambient temperature 2~ T - -
PSR — —
IP Class e
L
& 03 Pi '
. in 04 Pin
Number of Pins
B S-Coded T-Coded S-Coded T-Coded
Coded
Eoiz)
Codin,
o il
Front View
R A 12A 12A 12A 12A
Rated current
HUEEBE V. 630V 63V 630V 63V
Rated voltage
. LAl 16AWG 16AWG 16AWG 16AWG
Wire gauge
‘iEZE. 1.5mm? 1.6mm? 1.5mm? 1.6mm?
Cross section
FRL/EB Y
Wire/Cable 1.BK1 1.BN
. 1.BK1 1.BN AT AL
e 3.BK3 3.BU ) )
Wiring list 3.BK3 3.BU
4.YE/GN 4.BK
4.YE/GN 4.BK
fitig iT8s T8RS J8s T8RS
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12S-03P-FF-SF8A50-00AH SD-M12T-03P-FF-SF8A50-00AH SD-M12S-04P-FF-SF8A50-00AH SD-M12T-04P-FF-SF8A50-00AH
EHI Customized R e
M161.5 0.5m SD-M128-03P-FF-SF8B50-00AH SD-M12T-03P-FF-SF8B50-00AH SD-M12S-04P-FF-SF8B50-00AH SD-M12T-04P-FF-SF8B50-00AH
) EFI Customized R s s e

9 1 www.degson.com

ﬁ DEGSON’

M1 2 Series

= v Hiized 20.0 L(mm)
M12 x 1 FLUER L IIBEEE |, IRAIRE | |
F== ==
I
M12 x 1 Female Panel Mount Receptacle, —
Front Mounting, With 0.5m wires.
M12*1.0,
M16*1.5/PG9
FiAR#E Technical Data
L3 IHFEARAR
Standard g Contact carriers material PA
3] iEFE H
Series M12, Female e Copper Alloy, Gold-plated
Pingt#g i ; SEEE ) -
Number of Pins 03,04 Pin Metal of nut Zinc Alloy with Nickel Plated
EERT RE -
Rated Current 2mee Seal Silicone
MEBE FiR .
Rated voltage 630Mma.c Shielding Unshielded
%R IE NS i
Insulation resistance ZEe® Mechanical life > 100 mating cycles
#fteR e — —
Contact resistance S
ETIRE o ;
Ambient temperature 29~ #E0e - -
BriPER — —
IP Class 1763
G . 03 Pin 04 Pin
Number of Pins
R S-Coded T-Coded S-Coded T-Coded
Coded
ot O
Codin A
¢ il
Front View @ Q
AERR A 12A 12A 12A 12A
Rated current
HEFBE V. 630V 63V 630V 63V
Rated voltage
. i 16AWG 16AWG 16AWG 16AWG
Wire gauge
HEE " 1.6mm? 1.5mm? 1.6mm? 1.5mm?
Cross section
FRLR/ERY
Wire/Cable 1.BK1 1.BN
N 1.BK1 1.BN AT o
W)%éﬂ%ﬁ 3.BK3 38U ) )
iring|ist 3.BK3 3.BU
4.YEIGN 4.BK
4.YE/GN 4.BK
R T8RS T8s iT8s RS
Description Order NO . Order NO . Order NO . Order NO .
PGY 0.5m SD-M12S-03P-FF-SH8A50-00AH SD-M12T-03P-FF-SHBA50-00AH SD-M12S-04P-FF-SH8A50-00AH SD-M12T-04P-FF-SHBA50-00AH
EFI Customized | e T e e
M16*1.5 0.5m SD-M12S-03P-FF-SH8B50-00AH SD-M12T-03P-FF-SH8B50-00AH SD-M12S-04P-FF-SH8B50-00AH SD-M12T-04P-FF-SH8B50-00AH
) EHI Customized | e e e

www.degson.com 9 3



ﬁ DEGSON

M1 2 Series

M12 x 1 SHUERERIEEE | IRERE

IFRK . PCBIRER.

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,PCB Soldering.

e, m
U
=

hAl

BEAREIE Technical Data

M12*1.0

TR I FERTR
Standard IS Contact carriers material PA
EY]) R H
Series M12, Male S | Copper Alloy, Gold-plated
Pinft# ; SmIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
SRR BB »
Rated Current o Seal Silicone
BB E S ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
%iﬁ%_llﬁ . =100MQ — —
Insulation resistance
FftERfE — —
Contact resistance e
BTIRE —40 ~ g
Ambient temperature 4= SrFe - -
B3R
IP Class e - -
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
s A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
5
cﬁﬁi?]g 4 3 4 3 4 3 5 "
EEE
Front View
1 1 2 1 2 7 3
= = 1"
EERIR A A 4A 4A 2A 2A
Rated current
R HEFE V. 250V 250V 60V 30V 30V
ated voltage
R T8RS L L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-MM-SF8001-00AH SP-M12A-04P-MM-SF8001-00AH SP-M12A-05P-MM-SF8001-00AH SP-M12A-06P-MM-SF8001-00AH SP-M12A-08P-MM-SF8001-00AH
=8I Customized | e | e —
M16*1.5 SP-M12A-03P-MM-SF8002-00AH SP-M12A-04P-MM-SF8002-00AH SP-M12A-05P-MM-SF8002-00AH SP-M12A-06P-MM-SF8002-00AH SP-M12A-08P-MM-SF8002-00AH
EHIME Customized | e L
R<JE DimensionFigure
1365
_ -} 45°
%ﬁ\
< o
/ al o
,g o| o
PG9
250 0D1:615.440.1
M16*1.5
0OD2:%16.1£+0.1
%k
PCB PCB Hfh PCB PCB PCB RERT
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

94 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 I EIRZEERE |, RETEE |
EFik , PCBIEHz,

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,PCB Soldering.

SALT SPRAY

S A

EARERE Technical Data

23.0 6.0

M12*1.0

|
[ —
—
[ —

L3 IhFEARA R
Standard ISSEIHE Contact carriers material PA
g HFIR H
Sories M12, Male e Copper Alloy, Gold-plated
Pinft#@ 03,04,05,06,08,10,12 Pin Zinc Alloy with Nickel Plated
Number of Pins
HERR i
Rated Current AAmERS Silicone
HMEBE :
Rated voltage 250V max. e i > 100 mating cycles
BEEE =100MQ — —
Insulation resistance
AR e < _ —
Contact resistance S
ETIRE )~ c
Ambient temperature A0 = DT - -
BriP SR
IP Class 17e - -
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
R A-Coded A-Coded B-Coded D-Coded
Coded
6
RS 7 5 4 3 4 3
Coding o)
EEE 8 4
Front View 9
1 2
1 2 L~ T2
BRI A 15A 1.5A 4A 4A
Rated current
HEBE V. 30V 30V 60V 250V
Rated voltage
R PR L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-10P-MM-SF8001-00AH SP-M12A-12P-MM-SF8001-00AH SP-M12B-05P-MM-SF8001-00AH SP-M12D-04P-MM-SF8001-00AH
%L Customized —a—_—_e—_
M16*1.5 SP-M12A-10P-MM-SF8002-00AH SP-M12A-12P-MM-SF8002-00AH SP-M12B-05P-MM-SF8002-00AH SP-M12D-04P-MM-SF8002-00AH
=5/, Customized _——_—_e—_
R<JE DimensionFigure
295 13.619"
& ‘ 12-00.8
&V
©
?,:\.

§ 2 a8
| - ° O O
_] B @ .
S 3 &/@ B }—/@ PGY
S #58 a 58 5.0 ﬁ?;i?_;5'4i0‘1
0OD2:%16.1+0.1
PCB PCB PCB ftfn PCB Hfn RERYT
PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degson.com 9 5



ﬁ DEGSON" M12 seiee ﬁ DEGSON"

M1 2 Series

M12 x 1§t EIRZAEHERE | RATZ%E . . M12 x 1§t EIRZRAEHERE | IRATZEE
JEEEHK , PCBIRHE, . N JEFEHK , PCBIRIE,

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,Unshielded,PCB Soldering.

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,Unshielded,PCB Soldering.

M12*1.0

M16*1.5/PG9

SALTSPRAY

SALTSPRAY

=40

AR Technical Data

Al

¥ ARZE Technical Data

e

PR R L3 PR R
Standard IS Contact carriers material PA Standard IS Contact carriers material PA
£l IEFAE H £l I FAAE H
Series M12, Male oA Copper Alloy, Gold-plated Series M12, Male A Copper Alloy, Gold-plated
Pingt#E . SRZE ! th NG Pinft¥ ) SRIZE ) NG
Number of Pins 03,04,05,06,08,10,12 Pin e Zinc Alloy with Nickel Plated Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R KE i EERBT KE i
Rated Current Gtk Seal Sz Rated Current Lotk Seal SlizEme
MEBE S ; HERE S ;
Rated voltage 250V max. Mechanical life B I e el Rated voltage DY e Mechanical life >100 mating cycles
QBQEE.BH . =100MQ — — %%%BH . =100M Q — —
Insulation resistance Insulation resistance
R < _ _ izparafE <s5me = —
Contact resistance Contact resistance
ETIRE o~ o ETIRE e o
Ambient temperature 4= SrFe - - Ambient temperature 40 = ST - -
PEiPSER BEHRER
IP Class e - - IP Class I7E - -
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded R A-Coded A-Coded B-Coded D-Coded
Coded Coded
5
cotng Yo o Yo o % o caing D Yo o Ve o
EEE EEE 8 4
Front View Front View
1 1 2 7 3 s N2 "2
~ 1) 1 2
R A m m m 2A 2A HERR A 1.5A 150 A 4A
Rated current Rated current
BUErE V. 250V 250V 60V 30V 30V HEBE V. 30V 30V 60V 250V
Rated voltage Rated voltage
Fi:% PIEES DL DL P PIEES R PR L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-MM-SH8001-00AH SP-M12A-04P-MM-SH8001-00AH SP-M12A-05P-MM-SH8001-00AH SP-M12A-06P-MM-SH8001-00AH SP-M12A-08P-MM-SH8001-00AH PG9 SP-M12A-10P-MM-SH8001-00AH SP-M12A-12P-MM-SH8001-00AH SP-M12B-05P-MM-SH8001-00AH SP-M12D-04P-MM-SH8001-00AH
EHI Customized R e e I Customized e e e e
M16*1.5 SP-M12A-03P-MM-SH8002-00AH SP-M12A-04P-MM-SH8002-00AH SP-M12A-05P-MM-SH8002-00AH SP-M12A-06P-MM-SH8002-00AH SP-M12A-08P-MM-SH8002-00AH M16*1.5 SP-M12A-10P-MM-SH8002-00AH SP-M12A-12P-MM-SH8002-00AH SP-M12B-05P-MM-SH8002-00AH SP-M12D-04P-MM-SH8002-00AH
EHME Customized o r | e c— &K, Customized —— Y
R~E DimensionFigure R<JE DimensionFigure
13.675" 9.5 13.675"
45" - 12-00.8
321, &
= &
w\ i
/ al 8 R 2 al 8
- o| o 1 S| o
% L@ - ﬁ‘% —_—
~ ~ - /@
PG9 N i &/@ PG9
250 OD1:®154+0.1 s < ses 5.0 0D1:3154+0.1
M16*1.5 ?5.38 - L M16+1.5
0OD2:%16.1£+0.1 0OD2:%16.1+0.1
%k A
PCB HEfa PCB Hfs PCB Hifs PCB Hfp PCB Hip TERY PCB Hifh PCB Hifp PCB s PCB s TERT
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

96 www.degson.com

www.degson.com 9 7




ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER L IRIEEE | IRERE

IFF#K , PCBIRHE.

M12 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

o fe

SALTSPRAY

AR Technical Data

e

Standard

£

Series

Pinft#

Number of Pins
HEERTR

Rated Current
B E

Rated voltage

ot Gl

Insulation resistance
FAEE

Contact resistance
ETIRE

Ambient temperature
BriPER

IP Class

g

Number of Pins

IEC 61076

M12, Female

03,04,05,06,08

4Amax.

250V max.

=100MQ

=5mQ

—40 ~ +105C

P68

,10,12 Pin

.

ShF AR

Contact carriers material
ShFRE

Contact material
SRIRE

Metal of nut

B

Seal

MUt

Mechanical life

20.0

M12%1.0

M16*1.5/PG9

PA

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

> 100 mating cycles

B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
W13
. 3 4 3 4 4/0 o\6
Codin,
o EEE © 0
Front View o0 3\° o)7
1 2 1 -2
2 1
EEFRTR A 4A aA aA 2A 2A
Rated current
BUErE V. 250V 250V 60V 30v 30v
Rated voltage
Fi:% PES PIEES PIEES PIEES PES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-FF-SF8001-00AH SP-M12A-04P-FF-SF8001-00AH SP-M12A-05P-FF-SF8001-00AH SP-M12A-06P-FF-SF8001-00AH SP-M12A-08P-FF-SF8001-00AH
S#{ Customized | e —
M16*1.5 SP-M12A-03P-FF-SF8002-00AH SP-M12A-04P-FF-SF8002-00AH SP-M12A-05P-FF-SF8002-00AH SP-M12A-06P-FF-SF8002-00AH SP-M12A-08P-FF-SF8002-00AH
EH# Customized | e R e

RYE

Dimension Figure

13.613"
58
PG9
OD1:415.4+0.1
M16*1.5
0OD2:%16.1£+0.1
PCB PCB Hfh PCB PCB PCB RERT
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

98 www.degson.com

ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER LRI |, IRERE

IFF#K , PCBIRHE.

M12 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

SALTSPRAY

o fe

b4

5]

¥ ARZE Technical Data

Q)

20.0 6.0

M12%1.0

M16*1.5/PG9

e SRR
Standard IS Contact carriers material PA
£ I FAAE "
Series M12, Female A Copper Alloy, Gold-plated
Pingt# 2 ’ SBIEE ‘ o
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERBT KE "
Rated Current AR Seal Silicone
EERBE RS ;
Rated voltage 250V max. Mechanical life g 00zatinglcycles
QE%EE.BH . =100MQ — —
Insulation resistance
ZhdeapE _ _
Contact resistance e
ETIRE e c
Ambient temperature 40 = ST - -
BriPER
IP Class I7E - -
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
5B A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 9
9 fide 0.0 00
Front View 050 o 0
S~ PASU=d|
EEFRT A
Rated current - 1.5A 1.5A 4A a8
HEFBE V. 30V 30V 60V 250V
Rated voltage
R PR L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-10P-FF-SF8001-00AH SP-M12A-12P-FF-SF8001-00AH SP-M12B-05P-FF-SF8001-00AH SP-M12D-04P-FF-SF8001-00AH
%1t Customized —a—_—_e—_
M16*1.5 SP-M12A-10P-FF-SF8002-00AH SP-M12A-12P-FF-SF8002-00AH SP-M12B-05P-FF-SF8002-00AH SP-M12D-04P-FF-SF8002-00AH
=4, Customized _——_—_e—_
R<JE DimensionFigure
295 13.6°5"
S ‘ 12-00.8
&V
©
Y
LY
-
_ '3, 3 8
. o| 0
. . o /
< 0OD1:915.4 +0.
58 #5.8 #5.0 M16+1.5
0OD2:%16.1+0.1
A
PCB HEfa PCB HEf PCB HEfa PCB Hffa TERT
PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degson.com 99



ﬁ DEGSON ﬁ DEGSON

M1 2 Series M1 2 Series

M12 x 1 L EIRZEEIERE | IRATRE “ M12 x 1 AL EIR LIRS , HRATRE .
JEEE#R , PCBIR#E. IEEE#R , PCBIRHE.

M12 x 1 Female Panel Mount Receptacle, S E M12 x 1 Female Panel Mount Receptacle, i E
Front Mounting,Unshielded,PCB Soldering. = —— Front Mounting,Unshielded,PCB Soldering. = ——

M16*1.5/PG9 / M16*1.5/PG9 /

o fe

SALTSPRAY

o fe

SALTSPRAY

Al

BAREE Technical Data BAREE Technical Data

L3 PR R L3 PR R
Standard IS Contact carriers material PA Standard IS Contact carriers material PA
£l IEFAE H £l I FAAE H
Series M12, Female oA Copper Alloy, Gold-plated Series M12, Female A Copper Alloy, Gold-plated
Pingt#E . SRZE ! th NG Pinft¥ ) SRIZE ) NG
Number of Pins 03,04,05,06,08,10,12 Pin e Zinc Alloy with Nickel Plated Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R KE i EERBT KE i
Rated Current Gtk Seal Sz Rated Current Lotk Seal SlizEme
MEBE S ; HERE S ;
Rated voltage 250V max. Mechanical life B I e el Rated voltage DY e Mechanical life >100 mating cycles
BEBE >100MQ — = A =100MQ - -
Insulation resistance Insulation resistance
R < _ _ izparafE <s5me = —
Contact resistance Contact resistance
ETIRE o~ o ETIRE e o
Ambient temperature 4= SrFe - - Ambient temperature 40 = ST - -
PEiPSER BEHRER
IP Class e - - IP Class I7E - -
G . i G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded R A-Coded A-Coded B-Coded D-Coded
Coded Coded
=) RS 3 4
X 3 4 3 4 4/0 0o\6 . 3 4
Cod Cod Q
oding FEE o O oding EEE OOO o O
Front View 30 oJ7 Front View
o O 050 O O
1 2 1 O} 2 1 2 1
2 1 A\ L7 <\~
R A m m m 2A 2 HERR A 1.5A 150 A 4A
Rated current Rated current
BUErE V. 250V 250V 60V 30v 30v HEBE V. 30V 30V 60V 250V
Rated voltage Rated voltage
Fi:% PES PIEES PIEES PIEES PES R PIEES PSS PES PSS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO .
PG9 SP-M12A-03P-FF-SH8001-00AH SP-M12A-04P-FF-SH8001-00AH SP-M12A-05P-FF-SH8001-00AH SP-M12A-06P-FF-SH8001-00AH SP-M12A-08P-FF-SH8001-00AH PG9 SP-M12A-10P-FF-SH8001-00AH SP-M12A-12P-FF-SH8001-00AH SP-M12B-05P-FF-SH8001-00AH SP-M12D-04P-FF-SH8001-00AH
EHk Customized | e . =4I, Customized S e e
M16*1.5 SP-M12A-03P-FF-SH8002-00AH | SP-M12A-04P-FF-SH8002-00AH | SP-M12A-05P-FF-SH8002-00AH SP-M12A-06P-FF-SH8002-00AH | SP-M12A-08P-FF-SH8002-00AH M16*1.5 SP-M12A-10P-FF-SH8002-00AH SP-M12A-12P-FF-SH8002-00AH SP-M12B-05P-FF-SH8002-00AH SP-M12D-04P-FF-SH8002-00AH
EH# Customized | e L L P EH#IHt Customized e e e e
R~E DimensionFigure R<JE DimensionFigure
13.675" 295 13.675"
& 12-00.8
&V
©
S
&
-
al 8 4 e a| 8
o| o 1 ° o| o
¢ — I
N N
N o~ ~
PG9 < < PG9
OD1:%15.4+0.1 OD1:415.4+0.1
M161.5 #58 958 50 M16%1.5
0OD2:%16.1£+0.1 0OD2:%16.1+0.1
%k A
PCB HEfa PCB Hfs PCB Hifs PCB Hfp PCB Hip TERY PCB Hifh PCB Hifp PCB s PCB s RERY
PCB Layout PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out PCB Layout PCB Layout PCB Layout PCB Layout Panel Cut-Out

1 00 www.degson.com

www.degson.com 1 01




ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER L IRIEEE | IRERE
FFik , PCBIR#Z.

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Shielded,PCB Soldering.

@ CATS
o]

EAREE Technical Data

213.4
-

I [TI0IT

PG9

Tl IHF AR
Standard ISGIHE Contact carriers material PA
25 W .
Series M12, Male e Copper Alloy, Gold-plated
Pingt& i ; SEEE ) -
Number of Pins 08 Pin Metal of nut Zinc Alloy with Nickel Plated
MERT BRE »
Rated Current DEAmers Seal Silicone
L NHES .
Rated voltage S0VAC/BOVDC Mechanical life ggl00matinglcycles
SRR >100MQ — —
Insulation resistance
sEReeRA _ _ B
Contact resistance e
ETIRE o ;
Ambient temperature 20 ~ +105¢C - =
BriPER
IP Class P67 — =
ke i 08 Pin
Number of Pins
gt
X-
Coded Coded
4R
Codin
9 EEE
Front View
EERRT A
Rated current . 0.5A
b V. 50V AC/60V DC
Rated voltage
R iT8s
Description Order NO .
PG9 SPSH-M12X-08P-FF-SF7001-00AH
EHL Customized
M16*1.5 SPSH-M12X-08P-FF-SF7002-00AH
EHL Customized
RJE Dimension Figure
13.675"
10.0
5.6
28
-p1.0
(L ! ; /w ‘ = o
ol o
5 & 1 ‘ o| o
N L6 @
E R
o 1|8
© O ! 0.1 B
3*1.2 0o
ﬁé‘/ PGY M16*1.5
OD1:9$15.4+0.1 0D2:¢16.1+0.1

1 02 www.degson.com

PCB Hffn
PCB Layout

TERY
Panel Cut-Out

ﬁ DEGSON’

M1 2 Series

M12 x 1 fLNER IR | RE%RE
Rl , PCBIE#E,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Shielded,PCB Soldering.

B2 [ =
=

BEAREIE Technical Data

19.2

w
N

14.0

joiotr_ |

B

L B
Standard EEE Contact carriers material PA
ES]) IFE H
Series M12, Female A Copper Alloy, Gold-plated
Pinft# ; SRIRE 2 -
Number of Pins 08 Pin Metal of nut Zinc Alloy with Nickel Plated
TR B -
Rated Current Qe Seal Silicone
HEAE S .
Rated voltage S0VAC/60VDC Mechanical life glolimatingleycles
@ﬁ%ﬂﬂ . =100MQ — —
Insulation resistance
AR R _ _
Contact resistance S
BTIRE —20 ~ ~
Ambient temperature 20~ +105C - -
PSR
IP Class 17 - —
% H
= 08 Pin
Number of Pins
Eoit]
X-
Coded Coded
4RI
Codi
oding TEE
Front View
EERTR A
Rated current i oos
BUEFE V. 50VAC/60VDC
Rated voltage
R T8RS
Description Order NO .
M12*1.0 SPSH-M12X-08P-FF-SF7003-00AH
FHIME Customized | e
R<JE DimensionFigure
10.0 11.50+0.10
5.6
2.8
- 1.0
J) ||| |enro °
2] ¢ T
|6 of g + &
y 7’2 7%7GN 10| ~
o O 4 ‘ g O s
3 olo——!
é 31250
4
PCB HEf RERY
PCB Layout Panel Cut-Out

www.degson.com 1 O 3



ﬁ DEGSON

M 1 2 Series

M12 x 1 SHUERERIEEE | IRERE
IR BN,

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering

without wire.

hAl

BEAREIE Technical Data

25.7

M12*1.0

M16*1.5/PG9

e I FERTR
Standard ISGIHE Contact carriers material PA
EY]) IFE H
Series M12, Male S | Copper Alloy, Gold-plated
Pinft# ; SmIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
SRR BB »
Rated Current o Seal Silicone
HEAE S ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
%ﬁ%ﬂﬂ . =100MQ — —
Insulation resistance
FftERfE < — —
Contact resistance S
BTIRE —40 ~ g
Ambient temperature 4= SrFe - -
PR
IP Class e - -
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
s A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
5
Cﬁﬁi?]g 4 3 4 3 4 3 6 "
EEE
Front View
1 N2 NG 7 3
172
EEEB R A 4A 4A 4A 2A 2A
Rated current
R HEFE V. 250V 250V 60V 30V 30V
ated voltage
R T8RS L L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-MM-SF8001-00AH SD-M12A-04P-MM-SF8001-00AH SD-M12A-05P-MM-SF8001-00AH SD-M12A-06P-MM-SF8001-00AH SD-M12A-08P-MM-SF8001-00AH
=8I Customized | e | e —
M16*1.5 SD-M12A-03P-MM-SF8002-00AH SD-M12A-04P-MM-SF8002-00AH SD-M12A-05P-MM-SF8002-00AH SD-M12A-06P-MM-SF8002-00AH SD-M12A-08P-MM-SF8002-00AH
EHIME Customized | e L
R<JE DimensionFigure
13.675"
| |
ol o
‘ o| ©
PG9 M16*1.5
OD1:$15.4+0.1 0D2:$16.1+0.1

1 04 www.degson.com

TERY
Panel Cut-Out

ﬁ DEGSON

M1 2 Series

M12 x 1 Sl EREZIRIEE |, IRERE

IEFF .

I N5

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering
without wire.

“ m
RnHS)
SALT SPRAY

=05 ]

25.7

M12*1.0

M16*1.5/PG9

EAREIE Technical Data
L3 R F AR
Standard ISSEIHE Contact carriers material PA
3] iEFE H
Series M12, Male e Copper Alloy, Gold-plated
Pinfti i et A IV
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
ERT RE -
Rated Current AAmERS Seal Silicone
HMEBE WUt ;
Rated voltage 250V max. e i > 100 mating cycles
QE%EE.BH . =100MQ — —
Insulation resistance
AR e < _ _
Contact resistance S
ETIRE )~ c
Ambient temperature A0 = DT - -
BriP SR
IP Class aes - -
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
5B A-Coded A-Coded B-Coded D-Coded
Coded
6
S 7 5 4 3 4 3
Coding o)
EEE 8 4
Front View 9
1 2
1 2 L~ T2
EEFRR A
Rated current - 1.5A 1.5A 4A a8
HEFBE V. 30V 30V 60V 250V
Rated voltage
R PR L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-10P-MM-SF8001-00AH SD-M12A-12P-MM-SF8001-00AH SD-M12B-05P-MM-SF8001-00AH SD-M12D-04P-MM-SF8001-00AH
=4I, Customized —a—_—_e—_
M16*1.5 SD-M12A-10P-MM-SF8002-00AH SD-M12A-12P-MM-SF8002-00AH SD-M12B-05P-MM-SF8002-00AH SD-M12D-04P-MM-SF8002-00AH
=#4L, Customized _——_—_e—_
R<JE DimensionFigure
13.675"
| |
ol o
‘ o| ©
PG9 M16*1.5
OD1:$15.4+0.1 0D2:$16.1£0.1

TERY
Panel Cut-Out

www.degson.com 1 O 5




ﬁ DEGSON

M1 2 Series

M12 x 1 $UER L IRIEEE |, IRAIRE |
EFR  IERAT .

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,Unshielded,Soldering

without wire.

SALTSPRAY

AR Technical Data

e

Standard

£

Series
Pinft#
Number of Pins
b
Rated Current
MEBE
Rated voltage

ot Gl

Insulation resistance
FAEE

Contact resistance
ETIRE

Ambient temperature

BriPER
IP Class

g

Number of Pins

IEC 61076

M12, Male

03,04,05,06,08,10,12 Pin

4Amax.

250V max.

=100MQ

=5mQ

—40 ~ +105C

P68

ShF AR

Contact carriers material

ShFRE
Contact material
SRIRE

Metal of nut
L]

Seal

MUt

Mechanical life

25.7

M12*1.0

PA

Al
M16*1.5/PG9 /

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

> 100 mating cycles

1 06 www.degson.com

TRRY
Panel Cut-Out

B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
5
cﬁﬁ g 4 3 4 3 6 4
EEE
Front View
1 NG 7 3
172
EEFRTR A 4A 4A aA 2A 2A
Rated current
BUErE V. 250V 250V 60V 30V 30V
Rated voltage
Fi:% PIEES DL DL P PIEES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-MM-SH8001-00AH SD-M12A-04P-MM-SH8001-00AH SD-M12A-05P-MM-SH8001-00AH SD-M12A-06P-MM-SH8001-00AH SD-M12A-08P-MM-SH8001-00AH
EHIH Customized — —
M16*1.5 SD-M12A-03P-MM-SH8002-00AH SD-M12A-04P-MM-SH8002-00AH SD-M12A-05P-MM-SH8002-00AH SD-M12A-06P-MM-SH8002-00AH SD-M12A-08P-MM-SH8002-00AH
TEHML Customized | e L
Dimension Figure
13.675"
| f 5
ol a
‘ o| ©
PG9 M16*1.5

0OD1:9$15.4+0.1 0D2:316.1+0.1

ﬁ DEGSON

M1 2 Series

M12 x 1 SUEREZIRIEEE |, IRAIREE |
EFR BN,

M12 x 1 Male Panel Mount Receptacle,
Front Mounting,Unshielded,Soldering

without wire.

SALTSPRAY

b4

5]

¥ ARZE Technical Data

25.7

M12*1.0

M16*1. 5/PGQ

e SRR
Standard IS Contact carriers material PA
£ I FAAE "
Series M12, Male A Copper Alloy, Gold-plated
Pingt# 2 ’ SBIEE ‘ o
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERBT KE -
Rated Current AR Seal Silicone
EERBE S ;
Rated voltage 250V max. Mechanical life g 00zatinglcycles
%%%BH . =100MQ — —
Insulation resistance
ZhdeapE < _ _
Contact resistance e
ETIRE e c
Ambient temperature 40 = ST - -
BriPER
IP Class I7E - -
Number of Pins 10 Pin 12 Pin 05 Pin 04 Pin
5B A-Coded A-Coded B-Coded D-Coded
Coded
i3 7 5 4 3 4 3
Coding o)
EEE 8 4
Front View 9
1 2
1 2 L~ T2
ST A 150 1.5A 4A an
Rated current
HEFBE V. 30V 30V 60V 250V
Rated voltage
R PR L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-10P-MM-SH8001-00AH SD-M12A-12P-MM-SH8001-00AH SD-M12B-05P-MM-SH8001-00AH SD-M12D-04P-MM-SH8001-00AH
=4I, Customized —a—_—_e—_
M16*1.5 SD-M12A-10P-MM-SH8002-00AH SD-M12A-12P-MM-SH8002-00AH SD-M12B-05P-MM-SH8002-00AH SD-M12D-04P-MM-SH8002-00AH
=#4L, Customized _——_—_e—_
R<JE DimensionFigure
13.675"
| f 5
ol o
‘ o| ©
PG9 M16*1.5
0OD1:9$15.4+0.1 0D2:316.1+0.1
TERT

Panel Cut-Out

www.degson.com 1 O 7



ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER L IRIEEE | IRERE
EFR  IERAT .

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering

without wire.

AR Technical Data

g

22.7

M12*1.0

M16*1.5/PG9

e ShF AR
Standard ISGIHE Contact carriers material PA
=5 TR )
Series M12, Female oA Copper Alloy, Gold-plated
Pinft# ; SRIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R RE m
Rated Current o Seal Silicone
MEBE MUt ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
BB >100MQ — —
Insulation resistance
FAEE <5moa _ _
Contact resistance
ETIRE G~ .
Ambient temperature 4= SrFe - -
BriPER
IP Class e - -
T4
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
W13

. 3 4 3 4 4/0 o\6

Codin,

¢ EEE © 0
Front View o0 30 oJ7
1 2 1 -2
2 1
REET A 4A 4A 4A 2A 2A
Rated current
BUErE V. 250V 250V 60V 30v 30v
Rated voltage
Fi:% PES PIEES PIEES PIEES PES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-FF-SF8001-00AH SD-M12A-04P-FF-SF8001-00AH SD-M12A-05P-FF-SF8001-00AH SD-M12A-06P-FF-SF8001-00AH SD-M12A-08P-FF-SF8001-00AH
E4{t Customized | e — =
M16*1.5 SD-M12A-03P-FF-SF8002-00AH SD-M12A-04P-FF-SF8002-00AH SD-M12A-05P-FF-SF8002-00AH SD-M12A-06P-FF-SF8002-00AH SD-M12A-08P-FF-SF8002-00AH

EHML Customized | e B O PP

1 08 www.degson.com

Dimension Figure

13.623"
| o 5
Q| O
‘ o| o
PG9 M16*1.5
OD1:¢154+0.1  OD2:416.1+0.1

TERRY
Panel Cut-Out

ﬁ DEGSON

M1 2 Series

M12 x 1 FLZUER LRI |, IRERE
EFR BN,

M12 x 1 Female Panel Mount Receptacle,
Rear Mounting,Unshielded,Soldering

22.7

M12*1.0

without wire.

¥ ARZE Technical Data

g

o BRI
Standard IS Contact carriers material
20l M12, Female FHE
Series Contact material
Pinft# & ! SRIRE
Number of Pins RIS IS0, BN Metal of nut
EERBT KE

Rated Current Lotk Seal

HERE S

Rated voltage ALY e Mechanical life
BEEE >100MQ —

Insulation resistance

sEReln —sma _

Contact resistance

ETIRE —40 ~ g

Ambient temperature 40 = ST -

BriPER

IP Class I7E -

g

Number of Pins

M16*1.5/PG9

PA
Copper Alloy, Gold-plated
Zinc Alloy with Nickel Plated
Silicone

> 100 mating cycles

R A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 9
9 EEE OOO o O
Front View 050 O O
AU~ A=
EEFRR A
Rated current ) R hd R h
HEBE V. 30V 30V 60V 250V
Rated voltage
R PR TS PSS TS
Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-10P-FF-SF8001-00AH SD-M12A-12P-FF-SF8001-00AH SD-M12B-05P-FF-SF8001-00AH SD-M12D-04P-FF-SF8001-00AH
%1t Customized —a—_—_e—_
M16*1.5 SD-M12A-10P-FF-SF8002-00AH SD-M12A-12P-FF-SF8002-00AH SD-M12B-05P-FF-SF8002-00AH SD-M12D-04P-FF-SF8002-00AH
=4, Customized _——_—_e—_
Dimension Figure
13.670"
| f 5
ol a
‘ o| ©
PG9 M16*1.5
0OD1:$15.4+0.1 0D2:¢16.1+0.1

TRRY
Panel Cut-Out

www.degson.com 1 09



ﬁ DEGSON

M1 2 Series

M12 x 1 FLUER L IRIEEE |, IRAIRE |
EFR  IERAT .

M12 x 1 Female Panel Mount Receptacle,
Front Mounting,Unshielded,Soldering

without wire.

AR Technical Data

22.7

M12*1.0

NoseIa

M16*1.5/PG9 /

e ShF AR
Standard ISGIHE Contact carriers material PA
=5 TR )
Series M12, Female oA Copper Alloy, Gold-plated
Pinft# ; SRIRE i -
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
R RE m
Rated Current o Seal Silicone
MEBE MUt ;
Rated voltage 250V max. Mechanical life ggl00matinglcycles
BB >100MQ — —
Insulation resistance
FAEE <5moa _ _
Contact resistance
ETIRE G~ .
Ambient temperature 4= SrFe - -
BriPER
IP Class e - -
T4
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
W13

. 3 4 3 4 4/0 o\6

Codin,

¢ EEE © 0
Front View o0 30 oJ7
1 2 1 -2
2 1
REET A 4A 4A 4A 2A 2A
Rated current
BUErE V. 250V 250V 60V 30v 30v
Rated voltage
Fi:% PES PIEES PIEES PIEES PES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-03P-FF-SH8001-00AH SD-M12A-04P-FF-SH8001-00AH SD-M12A-05P-FF-SH8001-00AH SD-M12A-06P-FF-SH8001-00AH SD-M12A-08P-FF-SH8001-00AH
E4{t Customized | e — =
M16*1.5 SD-M12A-03P-FF-SH8002-00AH | SD-M12A-04P-FF-SH8002-00AH | SD-M12A-05P-FF-SH8002-00AH SD-M12A-06P-FF-SH8002-00AH | SD-M12A-08P-FF-SH8002-00AH

EHML Customized | e B O PP

RJE DimensionFigure

1 1 0 www.degson.com

13.673"
| o 5
Q| O
‘ o| 9
PG9 M16*1.5
OD1:$154+0.1  OD2:16.140.1

TRRY
Panel Cut-Out

ﬁ DEGSON

M1 2 Series

M12 x 1 FLEIR LEHERE |, IRATREE |
EE# , BN,
M12 x 1 Female Panel Mount Receptacle,

Front Mounting,Unshielded,Soldering
without wire.

¥ ARZE Technical Data

22.7

M12*1.0

NoseIa

M16*1.5/PG9

o BRI
Standard IS Contact carriers material PA
£ I FAAE "
Series M12, Female A Copper Alloy, Gold-plated
Pingt# 2 ’ SBIEE ‘ o
Number of Pins 03,04,05,06,08,10,12 Pin Metal of nut Zinc Alloy with Nickel Plated
EERBT KE "
Rated Current AR Seal Silicone
EERBE S ;
Rated voltage 250V max. Mechanical life g 00zatinglcycles
%?ﬁ%ﬂﬂ . =100MQ — —
Insulation resistance
FARER A <5mo _ _
Contact resistance
ETIRE —40 ~ g
Ambient temperature 40 = ST - -
BriPER
IP Class I7E - -
L
Number of Pins
5B A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 9
9 fide 0.0 o0 o
Front View 050 o 0
S~ PASU=d|
EEFRT A
Rated current - 1.5A 1.5A 4A a8
HEFBE V. 30V 30V 60V 250V
Rated voltage
R PR L PSS T8RS
Description Order NO . Order NO . Order NO . Order NO .
PG9 SD-M12A-10P-FF-SH8001-00AH SD-M12A-12P-FF-SH8001-00AH SD-M12B-05P-FF-SH8001-00AH SD-M12D-04P-FF-SH8001-00AH
=4I, Customized —a—_—_e—_
M16*1.5 SD-M12A-10P-FF-SH8002-00AH SD-M12A-12P-FF-SH8002-00AH SD-M12B-05P-FF-SH8002-00AH SD-M12D-04P-FF-SH8002-00AH
=#4L, Customized _——_—_e—_
Dimension Figure
13.675"
| f 5
ol o
‘ o| ©
PG9 M16*1.5

OD1:$15.4+0.1 0D2:316.140.1

RERY
Panel Cut-Out

www.degson.com 1 1 1




ﬁ DEGSON'

M1 2 Series

M12 x 1 Sl EREZIRIERE | IRERE
IFFRk , PCBIRHE.

M12 x 1 Male Panel Mount Receptacle,
Rear Mounting,Unshielded,PCB Soldering.

prei]~

AR Technical Data

R
Standard IEC 61076

’z’iﬂ M12, Male
Series

Pingt# & )
Number of Pins 03,04,05,06,08 Pin
HEERTR
Rated Current
ERE
Rated voltage
ot Gl

Insulation resistance
e E <5mo
Contact resistance
ETIRE

Ambient temperature
BriPER

IP Class

4Amax.
250V max.

=100MQ

—25~ +80C

P67

e

S EARARE

Contact carriers material

ShFRR
Contact material
SRIRE

Metal of nut
L]

Seal

WS

Mechanical life

PA

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

> 100 mating cycles

. 04 Pin 05 Pin 08 Pin
Number of Pins
B A-Coded D-Coded A-Coded B-Coded A-Coded
Coded
Eaz) 4 3 5
Coding 4 3 8 ¢
EEE
Front View
1 ~ 2 N =2 7 3
172
ERT A. 4A 4A 4A 4A 2A
Rated current
R BErE V. 250V 250V 60V 60V 30V
ated voltage
R iTES TS TS P PIEES
Description Order NO . Order NO . Order NO . Order NO . Order NO .
M12*1.0 SR-M12A-04P-MM-SF7003-00AH SR-M12D-04P-MM-SF7003-00AH SR-M12A-05P-MM-SF7003-00AH SR-M12B-05P-MM-SF7003-00AH SR-M12A-08P-MM-SF7003-00AH
E#IH Customized — —
R~E DimensionFigure
15 15
<« 11.50+0.10
75 75 | 3
3 y SR
2 1 i
8235 | %5 | o 9235 | 2{2} {131
2N o o
3 4 h I -
“' O iex —l
S e R - b o o o
928| P13 N K ‘ "@ g
RN
177 1+0.05 -(;01,05
FHR AL L
354 & (i) 354 (i)
PCB HFfa PCB HEfa PCB HEf RERY
PCB Layout PCB Layout PCB Layout Panel Cut-Out

1 1 2 www.degson.com

ﬁ DEGSON

M 1 2 Series

M12 x 1 fLZNERZIIEE |, IRERE |
JFRK . PCBIRER.

M12 x 1 Female Panel Mount Receptacle,
RearMounting,Unshielded,PCB Soldering.

AS

EAREIE Technical Data

27.9

M12*1.0

e IHFE AR
Standard S Contact carriers material PA
%] WM )
Series M12, Female e | CopperAlloy, Gold-plated
Pinft# R ; SRIRE q RTaNT
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
ERTR RE -
Rated élurrent mETS Seal Silicone
MEERE WU & ;
Rated voltage 250V max. Mechanical lfe gicomatinglcyclos
GEEE =100MQ = =
Insulation resistance
AR R _ _
Contact resistance S
IETIRE e
Ambi;t temperature =2 = T - -
[E i
IP Class ol - —
G . 04 Pin 05 Pin 08 Pin
Number of Pins
RS A-Coded D-Coded A-Coded B-Coded A-Coded
Coded
RE 3 4 5
: 3 4 3 4 o 6
Coding EEE o O O O e} OO
Front View o 0 lolNe) 050 3\o g 0J7
2 1 2 1 IS4
2 1
ERERT A. 4A 4A 4A 4A 2A
Rated current
R HEFaE V. 250V 250V 60V 60V 30V
ated voltage
bii%Y PSS T8RS T8RS PIEES PSS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
M12*1.0 SR-M12A-04P-FF-SF7003-00AH SR-M12D-04P-FF-SF7003-00AH SR-M12A-05P-FF-SF7003-00AH SR-M12B-05P-FF-SF7003-00AH SR-M12A-08P-FF-SF7003-00AH
E#IE Customized S O e
R<JE DimensionFigure
15 15
11.504+0.10
45° 7.5 45", 75
5 m 5 pd
$2.35 5 2 «© $2.35 5 2 «
it WV AN J _
© o
3 © b
4 3 41 4 4{ n 3
M N N o &
$28| 213 ?2.8 Mm.a "@ 3 o
T 545 | ©
177 q;o.os 177 +0.05
354 BRI . 1 mEPA,
i (73%) 3.5 % (i)
PCB PCB PCB Hifh RERYT
PCB Layout PCB Layout PCB Layout Panel Cut-Out

www.degson.com 1 1 3




ﬁ DEGSON'

M1 2 Series

M12 x 1 T IIBHELERL, EREm ,

BETiER B3k,

54.8(ref.)

. - |
M12 x 1 Male Field Assembly Plug, & ‘
\'M )
. . . '\_"&-\3\ LN o
Unshielded,Screw Connection,Straight. W & EEEY
o |
o [48.] ca e
@
FAR#E Technical Data
e S EARARE
Standard IS Contact carriers material PA
2 R _
Series M12, Male e Copper Alloy, Gold-plated
Pingt# 2 ’ SEEE _ o
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
HEERTR KRE -
Rated Current o Seal Silicone
ERE R ;
Rated voltage 250Mmaxc Shielding Unshielded
ot Gl > S i
Insulation resistance AL Mechanical life > 100 mating cycles
el N _ _
Contact resistance
ETIRE o .
Ambient temperature 257 Sl - -
BriPER — —
IP Class e
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
Cﬁ:gd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
ode!
A
C::iing 4 3 4 3 9 N y N
EEE
Front View 7 3
1 N2 N =2 AORCA
PEBR A aA 4A 4A 4A 4A 2A 2A
Rated current
EERE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wirfz;fu o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
EBLE/ERLg e
Wire/Cable R
- . 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
3% 1J8S iTES iTES 1T8S 1TES iTES RS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
— PB-M12A-03P-MM-SL7001-00AH | PB-M12A-04P-MM-SL7001-00AH | PB-M12D-04P-MM-SL7001-00AH | PB-M12A-05P-MM-SL7001-00AH | PB-M12B-05P-MM-SL7001-00AH | PB-M12A-06P-MM-SL7001-00AH | PB-M12A-08P-MM-SL7001-00AH

EHE

Component part drawing

stetimsk — ()

male insert

114 www.degson.com

=HE

seal

ﬁ DEGSON

M 1 2 Series

M12 x 1 AL IIGELERL, ERER

IRETER | B3k

M12 x 1 Female Field Assembly Plug,
Unshielded,Screw Connection,Straight.

Al

BEAREIE Technical Data

51.0(ref.)

©20.0

&
DpEGSON

TR I FEARTR
Standard IS Contact carriers material PA
ES]) IFE H
Series M12, Female e A Copper Alloy, Gold-plated
Pinft# ! SRIRE 1 T
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
EERI ] i
Rated Current o Seal Silicone
HERE R ;
Rated voltage 250Mmaxc Shielding Unshielded
BRI > S i
Insulation resistance SN Mechanical life > 100 mating cycles
AR R < — —
Contact resistance e
BTIRE —25 ~ g
Ambient temperature 257 e - -
PERER — —
IP Class o
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
Cﬁdﬁgd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
oae
RS 3 4
! 4
Coding — ¥ ¢ Yo oY 50 © SIS io 0P
Front View o0 o O OC5)O 3\° o7
! 2 ! A= AU~ 200 f
i A 4A 4A 4A 4A 4A 2A 2A
Rated current
HMEBE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?ﬂfu o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
s S
Wire/Cable R
N " 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
itk TS 1T8S iTES iTES iTES 1J8S iTES
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
— PB-M12A-03P-FF-SL7001-00AH | PB-M12A-04P-FF-SL7001-00AH | PB-M12D-04P-FF-SL7001-00AH | PB-M12A-05P-FF-SL7001-00AH | PB-M12B-05P-FF-SL7001-00AH | PB-M12A-06P-FF-SL7001-00AH | PB-M12A-08P-FF-SL7001-00AH
EF{4¥E Component part drawing
FiE
ERRY

pressing screw

LRk

female insert

pressing screw

www.degson.com 1 1 5



ﬁ DEGSON'

M1 2 Series

M12 x 1 T IIBHELERL, EREm ,
RETIERE , Bk,

43.7

o
o
. g DEGSON
M12 x 1 Male Field Assembly Plug, 2
. . 2 oy
Unshielded,Screw Connection,Angled. m N
o [48.] ca e
@
FAR#E Technical Data
e S EARARE
Standard IS Contact carriers material PA
=91 WEHE _
Series M12, Male e Copper Alloy, Gold-plated
Pingt# & ; SRIRE ] -
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
EERRT KRE L
Rated Current o Seal Silicone
ERE ik .
Rated voltage 250Mmaxc Shielding Unshielded
oGN] = S i
Insulation resistance AL Mechanical life > 100 mating cycles
fegitGeliz) <5mo — —
Contact resistance
ETIRE o .
Ambient temperature 257 Sl - -
BriPER — —
IP Class e
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
Cﬁ:gd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
ode!
4RI
C::iing 4 3 4 3 9 N y N
EEE
Front View 7 3
1 LN "2 =
EUER A. 4A 4A 4A 4A 4A 2A 2A
Rated current
EERE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?’f‘u o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
EBLE/ERLg e
Wire/Cable R
~ . 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
3% 1J8S iTES iTES 1T8S 1TES iTES RS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
— PB-M12A-03P-MM-SR7001-00AH | PB-M12A-04P-MM-SR7001-00AH | PB-M12D-04P-MM-SR7001-00AH| PB-M12A-05P-MM-SR7001-00AH | PB-M12B-05P-MM-SR7001-00AH| PB-M12A-06P-MM-SR7001-00AH | PB-M12A-08P-MM-SR7001-00AH

EHE

116 www.degson.com

Component part drawing

[ o —
male insert
EHE

seal

[

sleeve

-

pressing screw

ﬁ DEGSON

M 1 2 Series

M12 x 1 FL R IIAEZEEL, IFE
1RETER: |, Bk,

M12 x 1 Female Field Assembly Plug,
Unshielded,Screw Connection,Angled.

Eﬂ
=4 oy

Al

BEAREIE Technical Data

39.8

©20.0

DEGSON

37.5(ref.)

HN%MHHH\

- J |

TR I FEARTR
Standard IS Contact carriers material PA
ES]) IFE H
Series M12, Female e A Copper Alloy, Gold-plated
Pinft# ! SRIRE 1 T
Number of Pins 03,04,05,06,08 Pin Metal of nut Zinc Alloy with Nickel Plated
EERI ] i
Rated Current o Seal Silicone
HERE R ;
Rated voltage 250Mmaxc Shielding Unshielded
BRI > S > i
Insulation resistance SN Mechanical life 100 mating cycles
AR R < — —
Contact resistance e
BTIRE —25 ~ g
Ambient temperature 257 e - -
PERER — —
IP Class o
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
Cﬁdﬁgd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
oae
RS 3 4
N 4
Coding — ¥ ¢ Yo oY 50 © SIS io 0P
Front View o0 o O OC5)O 3\° o7
! 2 ! A= AU~ 200 f
i A 4A 4A 4A 4A 4A 2A 2A
Rated current
HMEBE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?ﬂg’u o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
HaLEY S
Wire/Cable R
N " 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
itk TS 1T8S iTES iTES iTES 1J8S iTES
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
— PB-M12A-03P-FF-SR7001-00AH | PB-M12A-04P-FF-SR7001-00AH | PB-M12D-04P-FF-SR7001-00AH | PB-M12A-05P-FF-SR7001-00AH | PB-M12B-05P-FF-SR7001-00AH | PB-M12A-06P-FF-SR7001-00AH | PB-M12A-08P-FF-SR7001-00AH

F{4#E Component partdrawing

FAmk —

female insert

pressing screw

www.degson.com 1 1 7



ﬁ DEGSON'

M1 2 Series

M12 x 1 TN IHELERRL | Ft ,

BETiER B3k,

M12 x 1 Male Field Assembly Plug,
Shielded,Screw Connection,Straight.

BECEAR

AR Technical Data

e

Standard

£

Series
Pingt# &
Number of Pins
e
Rated Current
MEBE
Rated voltage

ot Gl

Insulation resistance
e E

Contact resistance
ETIRE

Ambient temperature
BriPER

IP Class

e

Number of Pins

IEC

61076

M12, Male

03,04,05,06,08 Pin

4Amax.

250V max.

=100MQ

=5mQ

—25~ +105C

P67

S EARARE

Contact carriers material

ShFRR
Contact material
SRIRE

Metal of nut
i

Seal

R

Shielding
S
Mechanical life

68.7(ref

)

©20.0

PA

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

Shielded

> 100 mating cycles

Cﬁ:gd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
ode!
A 3
Coding 4 3 4 3 9 y N
EEE
Front View 7 3
1 1 N 2 "2 158"
R A 4A 4A 4A 4A 4A 2A 2A
Rated current
EERE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wirfz;fu o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
EBLE/ERLg o
Wire/Cable R
. 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
3% 1J8S iTES iTES 1T8S 1TES iTES RS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
$RAZBHE : 4.5-6.0mm
Cable OD : 4.5-6.0mm PBSH-M12A-03P-MM-SL7001-00AH) PBSH-M12A-04P-MM-SL7001-00AH PBSH-M12D-04P-MM-SL7001-00AH PBSH-M12A-05P-MM-SL7001-00AH| PBSH-M12B-05P-MM-SL7001-00AH| PBSH-M12A-06P-MM-SL7001-00AH|PBSH-M12A-08P-MM-SL7001-00AH
4258 : 6.0-7.5mm
Cable Od : 6.0-7.5mm PBSH-M12A-03P-MM-SL7002-00AH) PBSH-M12A-04P-MM-SL7002-00AH PBSH-M12D-04P-MM-SL7002-00AH PBSH-M12A-05P-MM-SL7002-00AH | PBSH-M12B-05P-MM-SL7002-00AH| PBSH-M12A-06P-MM-SL7002-00AH| PBSH-M12A-08P-MM-SL7002-00AH
EF{E Component part drawing
el
seal
=gy FBR | ;
ERERL
Sleeve Shieldingring EEER

1 1 8 www.degson.com

e —

male insert

pinch ring

pressing screw

ﬁ DEGSON

M 1 2 Series

M12 x 1 L IIpE S EL |, il

IRETER | B3k

M12 x 1 Female Field Assembly Plug,
Shielded,Screw Connection,Straight.

« |48
£9
= o=

eSS

BEAREIE Technical Data

TR
Standard
ES])

Series
Pinft#
Number of Pins
EERI
Rated Current
HERE
Rated voltage
BRI

Insulation resistance
AR R

Contact resistance
IEfTIRE

Ambient temperature

PSR
IP Class

g

IEC 61076

M12, Female
03,04,05,06,08 Pin
4Amax.

250V max.
=100MQ

=5mQ

=25~ -F105¢

P67

I FEARTR
Contact carriers material
AR
Contact material
SRIEE

Metal of nut

]

Seal

R

Shielding
S
Mechanical life

64.8(ref

f.)

?19.0

PA

@ DEGSON

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone
Shielded

> 100 mating cycles

Number of Pins

Cﬁdﬁgd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
oae
RS 3 4
N 4
Coding — 3 4 3O o4 50 o o o 4/0 0o\6
Front View o0 o O OC5)O 3\° o7
! 2 ! A= AU~ 200 f
i A 4A 4A 4A 4A 4A 2A 2A
Rated current
HMEBE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?ﬂfu o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
HaLEY S
Wire/Cable R
N " 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
itk TS 1T8S iTES iTES iTES 1J8S iTES
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
24256 - 4.5-6.0mm
Cable OD : 4.5-6.0mm PBSH-M12A-03P-FF-SL7001-00AH|PBSH-M12A-04P-FF-SL7001-00AH| PBSH-M12D-04P-FF-SL7001-00AH| PBSH-M12A-05P-FF-SL7001-00AH| PBSH-M12B-05P-FF-SL7001-00AH| PBSH-M12A-06P-FF-SL7001-00AH| PBSH-M12A-08P-FF-SL7001-00AH|
425 : 6.0-7.5mm
Cable Od : 6.0-7.5mm PBSH-M12A-03P-FF-SL.7002-00AH| PBSH-M12A-04P-FF-SL7002-00AH| PBSH-M12D-04P-FF-SL7002-00AH| PBSH-M12A-05P-FF-SL7002-00AH| PBSH-M12B-05P-FF-SL7002-00AH| PBSH-M12A-06P-FF-SL.7002-00AH| PBSH-M12A-08P-FF-SL7002-00AH
EF{4¥E Component part drawing
THE
seal
SRR \ .
=y shielding ring R
sleeve pressing screw

e —

male inse

rt

pinchring

www.degson.com 1 1 9



ﬁ DEGSON'

M1 2 Series

M12 x 1 TN IHELERRL | Ft ,
IRETIER: |, Bk,

M12 x 1 Male Field Assembly Plug,
Shielded,Screw Connection,Angled.

Al

AR Technical Data

e

Standard

75

Series

Pingt# &
Number of Pins

HERBT

Rated

Current

B E

Rated

voltage

ot Gl

Insulation resistance
e E

Contact resistance
ETIRE

Ambient temperature
BriPER

IP Class

!

Number of Pins

IEC

61076

M12, Male

03,04,05,06,08 Pin

4Amax.

250V max.

=100MQ

=5mQ

—25~ +105C

P67

S EARARE
Contact carriers material
ShFRR

Contact material

=R’

Metal of nut
B

Seal

R

Shielding
S
Mechanical life

PA

©19.0

43.7

Copper Alloy, Gold-plated

DEGSON

44 5(ref.)

ﬁ

Zinc Alloy with Nickel Plated

Silicone

Shie

Ided

> 100 mating cycles

Cﬁ:gd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
ode!
A 3
Coding 4 3 4 3 9 y N
EEE
Front View 7 3
1 1 N 2 "2 158"
R A 4A 4A 4A 4A 4A 2A 2A
Rated current
EERE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?’f‘u o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
EBLE/ERLg e
Wire/Cable R
. 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
3% 1J8S iTES iTES 1T8S 1TES iTES RS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
{58 © 6.0-7.5mm
Cable Od : 6.0-7.5mm IPBSH-M12A-03P-MM-SR7001-00AH PBSH-M12A-04P-MM-SR7001-00AHPBSH-M12D-04P-MM-SR7001-00AH PBSH-M12A-05P-MM-SR7001-00AH|PBSH-M12B-05P-MM-SR7001-00AHPBSH-M12A-06P-MM-SR7001-00AHPBSH-M12A-08P-MM-SR7001-00AH
LAZ5EHE © 6.0-7.5mm
Cable Od : 6.0-7.5mm IPBSH-M12A-03P-MM-SR7002-00AH PBSH-M12A-04P-MM-SR7002-00AHPBSH-M12D-04P-MM-SR7002-00AH PBSH-M12A-05P-MM-SR7002-00AH|PBSH-M12B-05P-MM-SR7002-00AHPBSH-M12A-06P-MM-SR7002-00AHPBSH-M12A-08P-MM-SR7002-00AH
EF{E Component part drawing
L o —
male insert

1 20 www.degson.com

mHE

seal

pressing screw

ﬁ DEGSON

M 1 2 Series

M12 x 1 L IIpE S EL |, il

IRETER | T3k,

M12 x 1 Female Field Assembly Plug,
Shielded,Screw Connection,Angled.

m
&)

Al

BEAREIE Technical Data

TR
Standard
ES])

Series
Pinft#
Number of Pins
EERI
Rated Current
HERE
Rated voltage
BRI

Insulation resistance
AR R

Contact resistance
IEfTIRE

Ambient temperature

PSR
IP Class

g

Number of Pins

IEC 61076

M12, Female
03,04,05,06,08 Pin
4Amax.

250V max.
=100MQ

=5mQ

=25~ -F105¢

P67

I FEARTR
Contact carriers material
AR

Contact material

SR

Metal of nut
e

Seal

R

Shielding
S
Mechanical life

$19.0

PA

Copper Alloy, Gold-plated

39.8
DEGSON
e
S
<
<
lated

Zinc Alloy with Nickel P!
Silicone
Shielded

> 100 mating cycles

Cﬁdﬁgd A-Coded A-Coded D-Coded A-Coded B-Coded A-Coded A-Coded
ode:
RS 3 4
Coding — 3 4 3O o4 50 O4 o o 4/0 o\6
Front View o0 o O OC5)O 3\ o)7
! 2 ! A= AU~ 200 f
i A 4A 4A 4A 4A 4A 2A 2A
Rated current
HEBE
Rated voltage V. 250V 250V 250V 60V 60V 30V 30V
Wir?ﬂfu o 22AWG 22AWG 22AWG 22AWG 22AWG 24AWG 24AWG
HaLEY S
Wire/Cable R
N " 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
itk TS 1T8S iTES iTES iTES 1J8S iTES
Description Order NO . Order NO . Order NO . Order NO . Order NO . Order NO . Order NO .
LZ5EHE @ 6.0-7.5mm
Cable O : 6.0-7.5mm PBSH-M12A-03P-FF-SR7001-00AH PBSH-M12A-04P-FF-SR7001-00AHPBSH-M12D-04P-FF-SR7001-00AHPBSH-W12A-05P-FF-SR7001-00AH PBSH-M12B-05P-FF-SR7001-00AHPBSH-M12A-06P-FF-SR7001-00AHPBSH-M12A-08P-FF-SR7001-00AH
Z4Z5BHE © 6.0-7.5mm
Cable Od : 6.0-7.5mm PBSH-M12A-03P-FF-SR7002-00AH PBSH-M12A-04P-FF-SR7002-00AHPBSH-M12D-04P-FF-SR7002-00AHPBSH-M12A-05P-FF-SR7002-00AH PBSH-M12B-05P-FF-SR7002-00AHPBSH-M12A-06P-FF-SR7002-00AHPBSH-M12A-08P-FF-SR7002-00AH

SHE

Component part drawing

L e —

male insert

/§ " shielding ring

RBOR

pressing screw

www.degson.com 1 21



ﬁ DEGSON'

M1 2 Series

M12 x 1 3tV IR ARk, IEFHR
\iz= , Bk,

M12 x 1 Male Field Assembly Plug,
Unshielded,SolderingConnection,

Straight.

ROHS m

HE0EAE

AR Technical Data

e
Standard
£

Series

Pingt# 2

Number of Pins

HEERTR

Rated Current

HMEBE

Rated voltage

ot Gl

Insulation resistance

e E

Contact resistance

BITRE

Ambient temperature

BriPER
IP Class

e

Number of Pins

IEC 61076

M12, Male

03,04,05,06,08

4Amax.

250V max.

=100MQ

=5mQ

—25~ +105C

P67

x@-
\

,10,12Pin

S EARARE

Contact carriers material

ShFRR
Contact material
SRIRE

Metal of nut
B

Seal

R

Shielding
S
Mechanical life

54.8(ref.)

i

[

©20.0
M12*1.0

PA

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

Silicone

Unshielded

> 100 mating cycles

s A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
5
Cﬁﬁiig 4 3 4 3 6, 4
EEE
Front View
1 N2 7 3
172
EEFRTR A 4A aA aA 2A 2A
Rated current
BErE V. 250V 250V 60V 30V 30V
Rated voltage
il 22AWG 22AWG 22AWG 24AWG 24AWG
5 Wire gauge
ERL/EB Y
Wire/Cable e
- E. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
Fi::1%Y DL PIESSS DL TS RS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
— PA-M12A-03P-MM-SL7001-00AH PA-M12A-04P-MM-SL7001-00AH PA-M12A-05P-MM-SL7001-00AH PA-M12A-06P-MM-SL7001-00AH PA-M12A-08P-MM-SL7001-00AH
EF{E Component part drawing
= BB
seal

1 22 www.degson.com

£ —

male insert

pressing screw

ﬁ DEGSON

M1 2 Series

M12 x 1 N Ip AR, FERFR

JS S

B3k,

54.8(ref.)

M12 x 1 Male Field Assembly Plug, . 5
; ; ; \W ' g
Unshielded,SolderingConnection, SN ©
. i i
Straight. 4
4
4 EEB P i) 574
FiAR#E Technical Data
Gl TR
Standard G Contact carriers material PA
g i AR H
Series M12, Male e Copper Alloy, Gold-plated
Pingt#g i ; SEEE ) N
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
R BB "
Rated é:rrent mETS Seal Silicone
HERE =20 )
Rated voltage 250Mmac Shielding Unshielded
HREa MR MRS i
Insulation resistance =100MQ Mechanical life > 100 mating cycles
e pE — —
Contact resistance S
ETIRE c
Ambi:nt temperature —25~ +105¢C - -
[k _ _
IP Class 17
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
5B A-Coded A-Coded B-Coded D-Coded
Coded
4R 6
Codin 7 N y N 4 3
9 EEE 8 4
Front View 9
2
g = N2
EEFRT
Rated current b 1.5A 1.5A 4A a8
N HEBE V. 30V 30V 60V 250V
ated voltage
Wi r?:gl'u ge 26AWG 26AWG 22AWG 22AWG
FRLR/ERY
Wire/Cable
c ﬁgﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
ross section
R PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO .
— PA-M12A-10P-MM-SL7001-00AH PA-M12A-12P-MM-SL7001-00AH PA-M12B-05P-MM-SL7001-00AH PA-M12D-04P-MM-SL7001-00AH
E{4¥E Component part drawing

L e —

male insert

pressing screw

www.degson.com 1 23




ﬁ DEGSON'

M1 2 Series

M12 x 1 FLXEAE SRS . FEF#K
1Bz, Bk,
M12 x 1 Female Field Assembly Plug,

Unshielded,Soldering Connection,
Straight.

+ 148,

SALTSPRAY

EAREE Technical Data

R

Standard IEC 61076
5@.'” M12, Female
Series

Pingt#E

Number of Pins 03,04,05,06,08
HERBTR

Rated Current 4A max.
MEBE

Rated voltage 250V max.
QE%EE'BH j =100MQ
Insulation resistance

#EfeeapE —sma

Contact resistance

ETRE e )
Ambient temperature 25 ~ +105C
BriPER

IP Class 1P67

e

Number of Pins

,10,12Pin

R F AR

Contact carriers material
HFAR

Contact material
SRIRE

Metal of nut

52

Seal

R

Shielding
A
Mechanical life

51.0(ref.)

©20.0

PA

Copper Alloy, Gold-plated
Zinc Alloy with Nickel Plated
Silicone

Unshielded

> 100 mating cycles

B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
4RI
i 3 4 3 4 4/0 o\6
Codin,
9 EEE © 0
Front View o0 3\° oj7
1 2 1 =2
2 1
PEBR A 4A aA 4A 2A 2A
Rated current
BErE V. 250V 250V 60V 30V 30V
Rated voltage
il 22AWG 22AWG 22AWG 24AWG 24AWG
5 Wire gauge
ERL/EB Y
Wire/Cable e
- E. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
Cross section
Fi::1%Y DL PIESSS DL TS RS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
— PA-M12A-03P-FF-SL7001-00AH PA-M12A-04P-FF-SL7001-00AH PA-M12A-05P-FF-SL7001-00AH PA-M12A-06P-FF-SL7001-00AH PA-M12A-08P-FF-SL7001-00AH
E{4$E Component part drawing
. w8
seal

= —

male insert

124 www.degson.com

pressing screw

ﬁ DEGSON

M1 2 Series

M12 x 1 AL IIBEERL, FERER
2, Bk,

M12x 1 Female Field Assembly Plug,
Unshielded,Soldering Connection,
Straight.

Al

EAREIE Technical Data

51.0(ref.)

$20.0

&
DEGSON

e IhF AR
Standard G Contact carriers material PA
B R H
Series M12, Female e | Copper Alloy, Gold-plated
PinftER ; SRIRE i AT I
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
R pre -
Rated Current RmETS Seal Silicone
HERE B )
Rated voltage 250Mmaxc Shielding Unshielded
HBEEEIE > WA a5 i
Insulation resistance e Mechanical life > 100 mating cycles
FftERfE = — —
Contact resistance S
BITIRE —25 ~ gy
Ambient temperature 49~ 3 ge - -
PR _ _
IP Class sl
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
5B A-Coded A-Coded B-Coded D-Coded
Coded
izl 4
Codin 4
9 EEE o O
Front View o 0
21
Eorh A
Rated current - 1.5A 1.5A 4A a8
R HEBE V. 30V 30V 60V 250V
ated voltage
Wir?ﬂfu o 26AWG 26AWG 22AWG 22AWG
HRL/EB Y i
Wire/Cable
c ﬁgﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
ross section
R PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO .
— PA-M12A-10P-FF-SL7001-00AH PA-M12A-12P-FF-SL7001-00AH PA-M12B-05P-FF-SL7001-00AH PA-M12D-04P-FF-SL7001-00AH
F{4E Component part drawing
5 THE
sleeve Serl

f3 2 i —

male insert

pressing screw

www.degson.com 1 25



ﬁ DEGSON® M1 2 Series ﬁ DEGSON® M1 2 Series

M12 x 1 STIBAEREEL, IFFRK ol M12 x 1 tNIp ARk, IERFR al

i=g==3 RN 1=k == P21
J\;F;itit ] %%o | #;ﬁiﬁ I %%o
ol o
I & @EE%@M S DEGSON
M12 x 1 Male Field Assembly Plug, S5 z M12 x 1 Male Field Assembly Plug, e =
Unshielded,Soldering Connection, . 2 Unshielded,Soldering Connection, ’ 2
Angled. JIIL mﬂlﬂ Angled. 1l
4 E3 F 2 o) [48 e D4
ROHS RoHS
EAREIE Technical Data EARHIE Technical Data
e S EARARE TRt S FEARAR
Standard IS Contact carriers material PA Standard G Contact carriers material PA
75 iEFAE H ] AR H
Series M12, Male e Copper Alloy, Gold-plated Series M12, Male e Copper Alloy, Gold-plated
Pingt#E ; 2RIZE : N PinftE ) SEIZE ) N
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
EERRT KRE i R BB m
Rated Current Gtk Seal SlEEme Rated Current SEAUEES Seal Slllzeie
ERE ik q EERE B )
Rated voltage ALY GRS Shielding Unslifelee) Rated voltage ALY GRS Shielding Uil
oGN] S i HREa MR MRS i
Insulation resistance A Mechanical life > 100 mating cycles Insulation resistance ZEN Mechanical life > 100 mating cycles
fegitGeliz) <5mo — — e pE <5mo — —
Contact resistance Contact resistance
ETIRE o - BITIRE R c
Ambient temperature 257 Sl - - Ambient temperature 49~ it - -
BriPER _ _ [3E e _ _
IP Class e IP Class sl
G . G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded R A-Coded A-Coded B-Coded D-Coded
Coded Coded
5
et Yo oV Yo o % o caing veeed e o\ Ve o
EEE EEE 8 4
Front View Front View
1 1 2 7 3 s 1 2 1 2
I\ =22 3 A L~ <\~
R A m m m 2A 2A HERR A 1.5A 150 A 4A
Rated current Rated current
BErE V. 250V 250V 60V 30V 30V HEBE V. 30V 30V 60V 250V
Rated voltage Rated voltage
Wirfz;fu 5 22AWG 22AWG 22AWG 24AWG 24AWG Wir?ﬂfu o 26AWG 26AWG 22AWG 22AWG
FB /Y S FBLEAY g
Wire/Cable Wire/Cable
ﬁaﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm? ﬁgﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
Cross section Cross section
Fi::1%Y DL PIESSS DL TS RS i PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO .
— PA-M12A-03P-MM-SR7001-00AH PA-M12A-04P-MM-SR7001-00AH PA-M12A-05P-MM-SR7001-00AH PA-M12A-06P-MM-SR7001-00AH PA-M12A-08P-MM-SR7001-00AH — PA-M12A-10P-MM-SR7001-00AH PA-M12A-12P-MM-SR7001-00AH PA-M12B-05P-MM-SR7001-00AH PA-M12D-04P-MM-SR7001-00AH
EF{E Component part drawing E{4$E Component part drawing
__E[ _Ef
sleeve sleeve

shatimsk e
male insert male insert

| EpEs

pressing screw

 EEs

pressing screw

1 26 www.degson.com www.degson.com 1 27



ﬁ DEGSON'

M1 2 Series

M12 x 1 FLRIIFBLEEL., FFREm .

39.8

1=k =>4 Z Q)
B, B2k,
1S)
8
. DEGSON
M12 x 1 Female Field Assembly Plug, © &
Unshielded,Soldering Connection, 2
Angled. HHWIWH Hﬂ]q]
|48
&)mw
FiAR#E Technical Data
Tl IHF AR
Standard IS Contact carriers material PA
g3 iEFE H
Series M12, Female e Copper Alloy, Gold-plated
Pinftig ; SRIRE 1 T
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
MERT BE B
Rated Current o Seal Silicone
MEBE R .
Rated voltage AV GRS Shielding Unshielded
“RERIE S i
Insulation resistance A Mechanical life > 100 mating cycles
AR e < — —
Contact resistance e
ETIRE o .
Ambient temperature 257 Sl - -
BriPER — —
IP Class e
G . 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
Eoiz) 3 4 4/0 o\é
Codi
oding EEE O O . Al
Front View 3
g o O ()
sl
HERR A 4A 4A 4A 2A 2A
Rated current
BUEFE V. 250V 250V 60V 30V 30V
Rated voltage
LAl 22AWG 22AWG 22AWG 24AWG 24AWG
o Wire gauge
FRL/FB YT
Wire/Cable
c tﬁﬁﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
ross section
i::1%Y PSS DL PSS LS LS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
— PA-M12A-03P-FF-SR7001-00AH PA-M12A-04P-FF-SR7001-00AH PA-M12A-05P-FF-SR7001-00AH PA-M12A-06P-FF-SR7001-00AH PA-M12A-08P-FF-SR7001-00AH

E{E Component partdrawing

1 28 www.degson.com

FleiEk —

female insert

THE

seal

| ‘@ EEgu

pressing screw

ﬁ DEGSON

M1 2 Series

M12 x 1 LR IIAEEEL, IFER ,

39.8

Bisz a5
Bz, B
o €
S & DEGSON
M12 x 1 Female Field Assembly Plug, S5 =
Unshielded,Soldering Connection, T <
Angled. L
ey
4 EEB P ) 574
Ilww =n
F AR Technical Data
Gl TR
Standard G Contact carriers material PA
EY]) R H
Series M12, Female e | Copper Alloy, Gold-plated
PinftER ; SRIRE ! -
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
R BRE »
Rated élurrent RmETS Seal Silicone
R E B a
Rated voltage 250Mmaxc Shielding Unshielded
Eab el MRS i
Insulation resistance =100M0 Mechanical life > 100 mating cycles
FftERfE — —
Contact resistance S
IETIRE c
Ambi;t temperature —25~ +105¢C - -
[E i . _
IP Class 17
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
5B A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Coding FEE OOO “0 O
Front View 050 o 0
S~ PASU=d|
EEFRR
Rated current b 1.5A 1.5A 4A a8
R HEFBE V. 30V 30V 60V 250V
ated voltage
Wirf—éﬂfu o 26AWG 26AWG 22AWG 22AWG
HRL/EB Y i
Wire/Cable
c ﬁgﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
ross section
R PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO .
— PA-M12A-10P-FF-SR7001-00AH PA-M12A-12P-FF-SR7001-00AH PA-M12B-05P-FF-SR7001-00AH PA-M12D-04P-FF-SR7001-00AH
E{4$E Component part drawing
fletiEsk FHE
female insert seal

pressing screw

www.degson.com 1 2 9



ﬁ DEGSON ﬁ DEGSON

M1 2 Series M1 2 Series

M12 x 1 St IR AR | il |,
Bz, B3k,
M12 x 1 Male Field Assembly Plug,

Shielded,Soldering Connection,
Straight.

M12 x 1 $tVIR ARk | i |
Bz, B2L.
M12 x 1 Male Field Assembly Plug,

Shielded,Soldering Connection,
Straight.

68.7(ref.)

68.7(ref.)

\‘\
\

|

\‘

©20.0

_i ;
|

)[48-

SALTSPRAY

BE0EAE

EAREIE Technical Data

EAREE Technical Data

R R F AR e IhF AR
Standard IS Contact carriers material PA Standard G Contact carriers material PA
g iEFE H B R H
Series M12, Male e Copper Alloy, Gold-plated Series M12, Male e | Copper Alloy, Gold-plated
Pingt#g @ ; SRIRE ] - Pingt# B ; SRIRE i —
Number of Pins 03,04,05,06,08,10,12Pin D Eleamn Zinc Alloy with Nickel Plated Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
MERT BRE i R BREE i
Rated Current Gtk Seal SlEEme Rated Current i Seal Sllkeeie
MEBE R i R E i f
Rated voltage DY GER Shielding Shielded Rated voltage DY WEES Shielding Shictded
“RERIE = S i Eab el = MRS i
Insulation resistance S Mechanical life > 100 mating cycles Insulation resistance A Mechanical life > 100 mating cycles
AR e < — — e pE = — —
Contact resistance e Contact resistance S
ETIRE o - BITIRE R c
Ambient temperature 257 Sl - - Ambient temperature 49~ 3 ge - -
BriPER _ . [E i _ _
IP Class e IP Class sl
L - - ] ] ] L : - - -
. 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded R A-Coded A-Coded B-Coded D-Coded
Coded Coded
5
coting Yo o Yo o % o caing veeed e o\ Ve o
EEE EEE 8| 4
Front View Front View 9
1 N2 7 3 N2 "2
1) 1 2
HERT A ” " A 2A 2A AERR A 1.5A 1.5A 4A 4A
Rated current Rated current
BUEFE V. 250V 250V 60V 30V 30V HEBE V. 30V 30V 60V 250V
Rated voltage Rated voltage
Wir?*?u o 22AWG 22AWG 22AWG 24AWG 24AWG Wir?ﬂfu o 26AWG 26AWG 22AWG 22AWG
FaL/FaY S FBLEAY g
Wire/Cable Wire/Cable
ﬁﬁﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm? ﬁﬁﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
Cross section Cross section
i::1%Y PSS DL PSS LS LS i PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO . Order NO . Description Order NO . Order NO . Order NO . Order NO .
BRI . o 0 2z L -
??;;E'E Z(()) 77?5:]’:\ PASH-M12A-03P-MM-SL7001-00AH | PASH-M12A-04P-MM-SL7001-00AH | PASH-M12A-05P-MM-SL7001-00AH | PASH-M12A-06P-MM-SL7001-00AH | PASH-M12A-08P-MM-SL7001-00AH i{;fg.i B Z% ;55:]2 PASH-M12A-10P-MM-SL7001-00AH PASH-M12A-12P-MM-SL7001-00AH PASH-M12B-05P-MM-SL7001-00AH PASH-M12D-04P-MM-SL7001-00AH
AZ5EE © 6.0-7.5mm ZAZEE © 6.0-7.5mm
Cable Od : 6.0-7 5mm PASH-M12A-03P-MM-SL7002-00AH | PASH-M12A-04P-MM-SL7002-00AH | PASH-M12A-05P-MM-SL7002-00AH | PASH-M12A-06P-MM-SL7002-00AH | PASH-M12A-08P-MM-SL7002-00AH Cable Od : 6.07.5mm PASH-M12A-10P-MM-SL7002-00AH PASH-M12A-12P-MM-SL7002-00AH PASH-M12B-05P-MM-SL7002-00AH PASH-M12D-04P-MM-SL7002-00AH
E{4$E Component part drawing E{4$E Component part drawing
=8
e ER seal _
shielding ring - shielding ring ‘ =
= R =) .
sleeve SR \2§ ERRY
pressing screw = pressing screw

1 30 www.degson.com

Ftalimsk —— ¢

male insert

pinchring

[ e —

male insert

REH

pinch ring

www.degson.com 1 31



ﬁ DEGSON'

M1 2 Series

M12 x 1 FLN IR BEEIEL |, il |

\iz= , B3k,

M12 x 1 Female Field Assembly Plug,
Shielded,Soldering Connection,

Straight.

SALTSPRAY

L)

EAREE Technical Data

64.8(ref.)

$19.0
M12*1.0

@ DEGSON

Tl IHF AR
Standard IS Contact carriers material PA
g HFAR H
Series M12, Female e Copper Alloy, Gold-plated
Pingt#g @ ; SRIRE ] -
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
HERBTR iz i
Rated Current o Seal Silicone
MEBE R .
Rated voltage DY GER Shielding Shielded
“BRFEIE > A i
Insulation resistance AL Mechanical life > 100 mating cycles
R N — _
Contact resistance
ETIRE o .
Ambient temperature 257 Sl - -
BriPER — —
IP Class e
L
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
Eoiz)
N 3 4 3 4 4/0 o\6
Codin,
¢ E@E © 0
Front View o0 3\° oJ7
1 2 1 -2
2 1
HERR A 4A 4A 4A 2A 2A
Rated current
BUEFE V. 250V 250V 60V 30V 30V
Rated voltage
LAl 22AWG 22AWG 22AWG 24AWG 24AWG
o Wire gauge
FRL/Fa A
Wire/Cable
c ﬁﬁﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
ross section
i::1%Y PSS DL PSS LS LS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
B1Z3GE © 6.0-
£Gf2TER] : 6.0-7.5mm PASH-M12A-03P-FF-SL7001-00AH PASH-M12A-04P-FF-SL7001-00AH PASH-M12A-05P-FF-SL7001-00AH PASH-M12A-06P-FF-SL7001-00AH PASH-M12A-08P-FF-SL7001-00AH
Cable Od : 6.0-7.5mm
IZIEE ¢ 6.0~
i{;fc?(lj 2% 77?:1:] PASH-M12A-03P-FF-SL7002-00AH PASH-M12A-04P-FF-SL7002-00AH PASH-M12A-05P-FF-SL7002-00AH PASH-M12A-06P-FF-SL7002-00AH PASH-M12A-08P-FF-SL7002-00AH
E{4$E Component part drawing
HHE
=k seal

1 32 www.degson.com

e —

male insert

shielding ring ‘

pinchring

ERRL

F pressing screw

ﬁ DEGSON

M1 2 Series

M12 x 1 FLNIHHEIEEL | B ,

gz, Bk

M12 x 1 Female Field Assembly Plug,
Shielded,Soldering Connection,

Straight.

«f m
%)
=4 o

Al

EAREIE Technical Data

64.8(ref.)

?19.0

@ DEGSON

e IhF AR
Standard G Contact carriers material PA
¥ W )
Series M12, Female e | Copper Alloy, Gold-plated
PinftER ; SRIRE i T
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
R RE -
Rated Current RmETS Seal Silicone
R E i .
Rated voltage 250Mmaxc Shielding Shielded
Eab el = MRS i
Insulation resistance e Mechanical life > 100 mating cycles
FftERfE = — —
Contact resistance S
BITIRE —25 ~ gy
Ambient temperature 49~ 3 ge - -
[E i _ _
IP Class sl
Number of Pins
5B A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 9
9 fide 0.0 o0 o
Front View 050 o 0
S~ PASU=d|
ST A 150 1.5A 4A an
Rated current
HEFBE V. 30V 30V 60V 250V
Rated voltage
Wir?ﬂfu o 26AWG 26AWG 22AWG 22AWG
HaL/E Y i
Wire/Cable
ﬁﬁﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
Cross section
R PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO .
sz L g
£LHZ5BE - 6.07.5mm PASH-M12A-10P-FF-SL7001-00AH PASH-M12A-12P-FF-SL7001-00AH PASH-M12B-05P-FF-SL7001-00AH PASH-M12D-04P-FF-SL7001-00AH
Cable Od : 6.0-7.5mm
ZZ56RE © 6.0-7.5mm
Cable Od : 6.0-7.5mm PASH-M12A-10P-FF-SL7002-00AH PASH-M12A-12P-FF-SL7002-00AH PASH-M12B-05P-FF-SL7002-00AH PASH-M12D-04P-FF-SL7002-00AH
E{4$E Component part drawing
EHE
R seal

=0 —

male insert

=y shielding ring ‘
sleeve

pinch ring

pressing screw

www.degson.com 1 3 3



ﬁ DEGSON

M1 2 Series

M12 x 1 TN HELERRL | R,

43.7

=k == N
B, 8k, °
g DEGSON
M12 x 1 Male Field Assembly Plug, : =)
Shielded,Soldering Connection, <
Straight.
|48,
)
FAEIRE Technical Data
Standard IS Contact carriers material PA
=9 HFHE _
Series M12, Male e Copper Alloy, Gold-plated
PinftEi i et 7 .
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
MERT BE B
Rated Current o Seal Silicone
MEBE R .
Rated voltage 250Mmaxc Shielding Shielded
“RERIE = S i
Insulation resistance =100MQ Mechanical life > 100 mating cycles
AR e < — —
Contact resistance e
ETIRE o .
Ambient temperature 2= arilEt - -
BriPER _ _
IP Class 1Rey
L . : . . .
. 03 Pin 04 Pin 05 Pin 06 Pin 08 Pin
Number of Pins
8 A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
5
Cﬁﬁg 4 3 4 3 6 4
EEE
Front View
1 N2 7 3
172
R A 4A 4A 4A 2A 2A
Rated current
BUEFE V. 250V 250V 60V 30V 30V
Rated voltage
. LAl 22AWG 22AWG 22AWG 24AWG 24AWG
o Wire gauge
FRL/FB YT
Wire/Cable
c ﬁﬁﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
ross section
i::1%Y PSS DL PSS LS LS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
B1Z3GE © 6.0-
é{;;zi Z% 772:]’:\ PASH-M12A-03P-MM-SR7001-00AH | PASH-M12A-04P-MM-SR7001-00AH | PASH-M12A-05P-MM-SR7001-00AH | PASH-M12A-06P-MM-SR7001-00AH | PASH-M12A-08P-MM-SR7001-00AH
JRISE) - 6.0~
i‘;f’g‘z {;% 772[’:: PASH-M12A-03P-MM-SR7002-00AH | PASH-M12A-04P-MM-SR7002-00AH | PASH-M12A-05P-MM-SR7002-00AH | PASH-M12A-06P-MM-SR7002-00AH | PASH-M12A-08P-MM-SR7002-00AH

E{E Component part drawing

1 34 www.degson.com

gL €

male insert

pressing screw

ﬁ DEGSON

M1 2 Series

M12 x 1 St IAEEIEL | Filk |,
|, Bk,

M12 x 1 Male Field Assembly Plug,
Shielded,Soldering Connection,
Straight.

Al

EAREIE Technical Data

43.7

$19.0

DEGSON

44 .5(ref.)

ﬁ

e IhF AR
Standard G Contact carriers material PA
EY]) R H
Series M12, Male e | Copper Alloy, Gold-plated
PinftEg i ; SRIRE i AT I
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
R BRE »
Rated Current RmETS Seal Silicone
R E i .
Rated voltage DY WEES Shielding Shictded
Eab el = MRS i
Insulation resistance A Mechanical life > 100 mating cycles
FftERfE = — —
Contact resistance S
BITIRE —25 ~ gy
Ambient temperature 49~ 3 ge - -
[E i — —
IP Class sl
G . 10 Pin 12 Pin 05 Pin 04 Pin
Number of Pins
R A-Coded A-Coded B-Coded D-Coded
Coded
6
RS 7 5 4 3 4 3
Coding o)
EEE 8 4
Front View 9
1 2
1 2 L~ T2
ST A 150 1.5A 4A an
Rated current
HEBE V. 30V 30V 60V 250V
Rated voltage
Wir?ﬂfu o 26AWG 26AWG 22AWG 22AWG
HaL/E Y i
Wire/Cable
ﬁﬁﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
Cross section
R PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO .
sz L g
i{;;ag.i B Z% ;55:]2 PASH-M12A-10P-MM-SR7001-00AH PASH-M12A-12P-MM-SR7001-00AH PASH-M12B-05P-MM-SR7001-00AH PASH-M12D-04P-MM-SR7001-00AH
iﬁfﬁ :. 2%’;@?::‘” PASH-M12A-10P-MM-SR7002-00AH PASH-M12A-12P-MM-SR7002-00AH PASH-M12B-05P-MM-SR7002-00AH PASH-M12D-04P-MM-SR7002-00AH
E{4$E Component part drawing
=R
sleeve
75 —
male insert

pressing screw

www.degson.com 1 3 5



ﬁ DEGSON'

M1 2 Series

M12 x 1 FLN IR BEEIEL |, il |

\iz= , B3k,

M12 x 1 Female Field Assembly Plug,
Shielded,Soldering Connection,

Straight.

Ovﬂ]

SALTSPRAY

EAREE Technical Data

$19.0
M12*1.0

39.8
DEGSON
e
=
<
<

Tl IHF AR
Standard ISGIHE Contact carriers material PA
5 R N
Series M12, Female e Copper Alloy, Gold-plated
PinftEi ; SRIRE h .
Number of Pins 03,04,05,06,08,10,12Pin Metal of nut Zinc Alloy with Nickel Plated
HERBTR BRE -
Rated Current o Seal Silicone
MEBE R .
Rated voltage 250Mmaxc Shielding Shielded
“BRFEIE > A i
Insulation resistance SOME Mechanical life >100 mating cycles
i GEl < — —
Contact resistance e
ETIRE o .
Ambient temperature 257 Sl - -
BriPER — —
IP Class PGy
L
Number of Pins
B A-Coded A-Coded A-Coded A-Coded A-Coded
Coded
Eoiz)
N 3 4 3 4 4/0 o\6
Codin,
o EEE © 0
Front View o0 3\0 o)7
1 2 1 -2
2 1
EERTR A 4A 4A aA 2A 2A
Rated current
BUEFE V. 250V 250V 60V 30V 30V
Rated voltage
i 22AWG 22AWG 22AWG 24AWG 24AWG
o Wire gauge
FRL/Fa A
Wire/Cable
c ﬁﬁﬁ. 0.34mm? 0.34mm? 0.34mm? 0.25mm? 0.25mm?
ross section
i::1%Y PSS DL PSS LS LS
Description Order NO . Order NO . Order NO . Order NO . Order NO .
1255 : 6.0-
??;;E'E Z% 77?5:]’:\ PASH-M12A-03P-FF-SR7001-00AH PASH-M12A-04P-FF-SR7001-00AH PASH-M12A-05P-FF-SR7001-00AH PASH-M12A-06P-FF-SR7001-00AH PASH-M12A-08P-FF-SR7001-00AH
(ﬁﬁzﬁi 22_;22: PASH-M12A-03P-FF-SR7002-00AH PASH-M12A-04P-FF-SR7002-00AH PASH-M12A-05P-FF-SR7002-00AH PASH-M12A-06P-FF-SR7002-00AH PASH-M12A-08P-FF-SR7002-00AH
ZF{E Component part drawing
7 —
male insert

1 36 www.degson.com

pressing screw

ﬁ DEGSON

M1 2 Series

M12 x 1 FLNIHHEIEEL | B ,

gz, Bk

M12 x 1 Female Field Assembly Plug,
Shielded,Soldering Connection,

Straight.

EAREIE Technical Data

Standard

EY])

Series
PingtEa
Number of Pins
EEFRI
Rated Current
HERE
Rated voltage

HBEEEIE

Insulation resistance
e pE

Contact resistance
IETIRE

Ambient temperature

PR
IP Class

g

Number of Pins

IEC 61076

M12, Female

03,04,05,06,08,10,12Pin

4Amax.

250V max.

=100MQ

=5mQ

—25~ +105C

P67

IhF AR
Contact carriers material
I FATE

Contact material

LM

Metal of nut

$19.0
M12*1.0

PA

39.8
DEGSON
E
S
<
<

Copper Alloy, Gold-plated

Zinc Alloy with Nickel Plated

e
Seal

R
Shielding
WA a5

Mechanical life

Silicone

Shielded

> 100 mating cycles

R A-Coded A-Coded B-Coded D-Coded
Coded
izl 3 4 4
Codin 9
9 EEE OOO o O
Front View 050 O O
AU~ 2 =1
EEFRT A
Rated current ) R hd R h
HEBE V. 30V 30V 60V 250V
Rated voltage
Wir?ﬂfu o 26AWG 26AWG 22AWG 22AWG
HaL/E Y i
Wire/Cable
ﬁgﬁ. 0.14mm? 0.14mm2 0.34mm? 0.34mm?
Cross section
R PSS RS DL RS
Description Order NO . Order NO . Order NO . Order NO .
sz L g
£LHZ5BE - 6.07.5mm PASH-M12A-10P-FF-SR7001-00AH PASH-M12A-12P-FF-SR7001-00AH PASH-M12B-05P-FF-SR7001-00AH PASH-M12D-04P-FF-SR7001-00AH
Cable Od : 6.0-7.5mm
i{ﬁzﬁi :' z%’;z:'r: PASH-M12A-10P-FF-SR7002-00AH PASH-M12A-12P-FF-SR7002-00AH PASH-M12B-05P-FF-SR7002-00AH PASH-M12D-04P-FF-SR7002-00AH
E{4$E Component part drawing
shRtiEL ,
male insert RR@
pinch ring HEIE
3|
seal EERR

pressing screw

www.degson.com 1 3 7



ﬁ DEGSON®

Distributorseries

B/ =

° HEMA  SEEH,
* PREE  REEE.
© (K | IP67/684.
® [CZRATIWEMT , fESEETL.

Advantages / Features

® Single-line input,multi-ine output.

» Cosl saving, easy installation.

@ Waterproof rating: IP67/684.

o Widely used in industrial automation, rail transit
and ather industries.

ﬁ DEGSON"

Distributorsecries

M12 TEISSEDRE , M12 A%RES f33LX1
M12 AZR S 22 3k/833kX1,

M12 T-type distributor,M12 A code FemaleX1

M12 A code Male/FemaleX1.

BTREHE

?
bt IEC 61076 s mataral PU
#5 Mi2 m : Copper Alloy, Gold-plated
::_:rbsz Pine 03,04, 058 Fin ﬂ'&‘m ZincAlloy with Nickel Plated
M12, M8 ERE” RIRMAMM The coding rule of M12,M,18 distributor mEad AAmax. o Siicone
HiEmE L3 =
250V max. Unghielded
Ratad voltage Shislding
BAEN -vEE - BENE -viN - BN -B-N-0 BN N o e - © 100 mating el
= e = S ES T 53] S = =T -1 n nce n
— 1 T mn i = -
SR spare stream oode —25~ 180T
0 —%4 0—Routine Ambient tsmperatura —_ e
— I cm? Lol - -
Colour
0 — R E(Black) . " T
AL Input HWType 4 /5 Fomale / Mslo 1 — &(Craen) Number of Pins 03 Pin 04 Pin 05 Pin 08 Pin
1284412 A Coding O F: Famals (@) 2= BEhduemay
AA-MB A Coding O F- Malo (£2) i pe
Pin# Number of Contacts REIE Type Coded #Codud Ao ALocd Lot
001 103,04,05,08, Pin(Finil) 0 — FEFAEA(NO mounting holes) 1) — T . ~ .
T, A T, s
T BREE With or without Shisided Pin Number of Contacts ;:m) Cading TEE 4 3 a/{f)_ a“ 4 3 3/ (}" o8 .|‘-|I 10 02\] f;‘z. L] .;I ?é 0 02 Da‘
(1 SH- Shisided (JTE) 1 [1 203,04,06,08, Pin(PIn¥) Front View | o (ol o, el i i
11 Unshisided (EEFFRE) HBA Tyre 1 \,\ﬂ/ 1 1 kf\q) 1 ol ol 2% L oW
10— PCBSL{PCS type)
1RSI Input 1 2 Type k=S Wirs Sdreing} Porepityi A A n
[ 12A-M12 A Coding 28 MR EIW Output 2 disinction code iR crTant
[ 8A-M8 A Coding O W BOSH2SMHE) HRRAE 1 1RRR RIERE R g Sai i
W : { NOoutput 2 ) / this coda only represents a1-to-1 situation Rated voltage ’
LR 12t
ik Shape Pin¥ Number of G The following is & 1-i0-2 situation it TS far 2 s
%42450n8 Input and two oulput 11 103,04,05,08, Pin(FIng) o 7SSk REmaen B BescnoR Sk ND > Cenl il Srdeniers
Lv-vgr:vg:q R . T : same type as output 1 and the same number of corse. — FTAHZASFM12ADINKG-0200 [ FT-MIZADF- 2N MG 200 FT-M2AISF MIZADSNERS-200 FHW2AGiF 120 0aNHKE-0200
O TTET type) Dummﬂ,{EMim
1,but it spacifical Wiz
It 150 e e L T L
o |- 1 21 typa) o F: Female () ! Not same type s the outpit 1,but It specificaly refers to the M8 ( maie) SMERT Size HBEEE Circuit schematic
0 L-L E(L type) 0 F- Male (£} K S1SSiirREmRsEn , ETidiv2at
1 Naot same fype as the cutput 1,bud it specifically refers to the M12 (female)
5: 51 SMHICFRERI , HEREMBBL P .
(1 Not same type as the oulput 1 but it specifically refers to the: M8 (female) 17— 1
HiE : RATEEW, T, EEAGEITLIEE 63.0 2> <2 2 3
il - Remark: if thers no W, Tin front,the number of cores at the back can be omitied 1 a7 a 2 1 3 3 2
1. FY-M12A-05M-M12A-06F-Q4-0100 i : IERBYVESEEE , WA : M12A-05M, o P =y = ==
1B : M12A-05F , 2EHRHHEENIE: M12A-D4M  D1AH: AISESAR R PCER A 2UI. FieRa, a5 T
BHAY2 : FY-M12A-04M-MBA-04F-T-1000  Zerw : JERRRERYELZHORR , SAGHDS 1 M12A-04M, 33 g
1SR : MBA-O4F , 2B HIRNItER: MBA-04F  10AH : AIEMERSRHE TRENL , BERE, 1 1249 1234
FT-MBA-D4M-MBA-03F-S4-0110(%#1 )  Fom : FFRETROEE , AN | MBA-04M,
165iHEE D | MBA-03F , 25 4iH AR MBA-04F 01BH : ABIERGR ) PCER RRET, , MR, P e Yio— ¥ 1
For example: 5% 3 Ll
1: FY-M12A-05M-M12A-05F-Q4-0100 1 4 2 # 2
Detail: unshielded Y-type distributor, inputis M12A-05M Input 1is M12A-05F, input 2 is M12A-04M 7 N e 9 4 4
01AH: internal connection : PCB type, witha mounting hole Color: black ; Z I - ; 15> 5 2
Regular2;FY-M12A-04M-M8A-04F-T-1000 ' LE &
Detail: unshielded Y-lype distributor, inputis M12A-04M  Qutiput 1 is MBA-04F, outpul 2 is MBA-04F L] T
10AH: internal connection: wire bonding . no mounting holes Color: black 12348 & L
Regular3: FT-MBA-04M-MBA-03F-S4-0110 i i
Detail: unshielded T-type distributorinput is M8A-04M  Input 1 is MBA-03F. input2is MBA-04F 1 5 8
01BH: internal connection : PCB type. single mounting hole Color : green.
138 Www.degson.com wWww.degson.com 139



ﬁ DEGSON*

Distributorseries

M12 TEUS ECE , M12 ASRIS 223kX1
M12 ARED BF3LX2

M12 T-type distributor,M12 A code MaleX1
M12 A code FemaleX2.

gfm IEC&1078
Eﬁﬂﬂ M12, Male
::lmbarofm 03,04,05,08 Pin
w‘gm 4A max.
%‘qu 250V max.
ﬁﬁﬂ resistance =100Ma
e <oms
Ambient temperaturs —25~ +B80C
I Gise. s

Number of Pins

PU

CopperAlloy, Gold-plated
ZincAlloy with Micksl Plated
Silicons

Unshieldecd

> 100 maling cycles

o FavE g
Coding o 4 N Tl/o 0 ;‘ 4 3 o oY o 0oz r5°.ﬂ.;.‘f fﬂ;osnog'
Front View | | | B | ]
1 A 1 2 S 9/ Lol L ¥ el 2 osY
TR
Reled current & “E =S
SRR
Reed voltage V. 250V oV 30V
ek TR THE THs
Description Order NO . Order ND | Ordar NO
R Size HEEE Circuit schematic
41— 1 S Ea T
— 2 2 2
1 cs 2 1 5 3 2
4 4
1213 12 3 4
11
e 1 2 <2
2 o . c 2
3 {3
1 3 3 2 4 ¢
L 4°- 4 1 s g
LM12*1.0 | 5 L [ 6
25 | 7 7
12 3468 8 8
1
12 4 8

1 40 wwnw,.degson.com

ﬁ DEGSON*

Distributorsecries

M12 YEISECRE , M12 AGRES 83kX1 ,
M12 ASRTS 2A3LX2

M12 T-type distributor,M12 Acode FemaleX1
M12 A code MaleX2.

Lo SO IECE1078
g“ M12

m e 03,04,05,08 Pin
mgm 4Amax.
w&w 250V max.
m mra—— =100M &
m'?-l:hm =6ma
mm“ —25 ~ +80T
g 1PE8

s L

mmu CopperAlloy, Gold-plated
fﬂ"hl’:ﬂl ZincAlioy with Nickel Plated
m Silicone

g‘m Unshielded

il T =100 maling eycies

L i s T
Coding - 4 ¥ ’E/ oo | ¢ ¥ | ¥o oY 28 @ Ao oz, -'2‘.*'.% (;sﬂ'mt:,
I ¢ 8
Front View | )
: \ %A | 0 o) | e | W | e | el
B
Rated current 5 " - =
W
i Voo V. 250V ooV E
g iTms iTiRe e
Desaripfion Order NO . Order NO ., Order NO .
= T i S e syt S
R Size E@ Circuit schematic
11 17— ¢
44.1 23— 2 2 ¢ 2
1 5o TIPSR SINNE (JF © s 2
4 4
123 = 23 4
H ol .
ol T
s LR Sl 2 . 2
E_! | R - c 2 1 3
'E! . == | 1 i3 5 2 i :
3 / 4 4 P 5
Wil : : 1 ' 2
75 7
12346 8 8
|
5678

www.dagson.com 1 41



ﬁ DEGSO”® Distributorseries ﬁ DEGSO”® Distributorseries

M8 YRISHCES , M8 ARES 243LX1 ,
M8 AR ES f3LX2

M12 YRS ERRE , M12 A%RAS 2A3kX1 ,
M12 ASRES £F3LX2

M12 Y-type distributor,M12 A code MaleX1
M12 A code FemaleX2.

M8 Y-type distributor,M8 A code MaleX1
M8 A code FemaleX2.

B AREIE Technical Data

k IECE1076 i i MO PU < IEC 61076 PU
R M12, Male ST GopperAlloy, Gold-plated 5 M8 il Copper Alloy, Gold-plated
Nurber of s i e E i ZincAlloy with Nicke! Plated B 03,04 Pin ey Copper Alloy with Nicks! Plated
bt g i ] P e
Risted Gurvert 4A max, Seal Silicons R c N Seal Silicone
e 250V max. . Unshisided B 60V i Unshislded
fiRERs = it 1 L
InGillBion resistonce =100Ma hanical lfie > {00 maling cycles \sukadlon resk =100M @ e =100 maling cycles
ateans B, = = e e = =
Ambient temperaturs S LR -~ = Kkideienpecshiie —25~ +80T — =
sree e - -~ srse var . -
03 Pin 04 Pin 05 Pin Pin . 03 Pin Pin 03, 04 Pin
Number of Pins 08 Number of Pins ot
1] A-Coded A-Coded A-Cod A-Coded (=12 A-Goded
Coxied . Coded froin A
ﬂiﬁ T s T - ﬂn 4 4
Coding — 4 3 o oM $ 3 o o 20 o1 00z 28 .1‘\7‘3 [';c'?_mog Coding f— : 5 ¥o o¥ z N
50 | [ | o® el 1 3
Front View ) L ! J / Frant View 3 1 3 1
1 L2 | Ao 84| Ao ok | We | % | Tl | T ' o o | 9 ‘e o,
B B
Rafed current A e A 2 st i A 3 3 EN
fiEeE flER S
Rated voltage V. 250V [0 30V Rated volt A" BOV B0V a0
ik iTiaE ng iTes ok s Tps s
Description Order NO . Order NO . Ordar NO . Description Ordar NO . Ordar NO' . Ordar NO |,
| —— FY12A-03F M1 2A-03WH-0-0100 | FY2A-05F-h 240500100 P 12A-08N-M 12A-08P-0-0100 — Fr-BA-03HMBADEF-T-0100 FrdA-04 M-MBA-D4F-T-0100 Fr-higA-04vM-MBA-0GF-T-0100
SR Size HBHE Circuitschematic YMERT Size HiBEE Circuit schematic
11— 1 T
44.1 2 - ¢ 2 5 i 2 1r—e——< 1> —e————< 1
L 1 30— s 2 1 ,. ; TN . 12 2 2 2
| | 47 T <4 =i 3 * < 3 1 3 3 2
“ | k| 4 4
JI=m g |
i 5 . = 3 123 1 34 i 1 2 3 4
= | A | e
03308 1 2 )
| E 5 = [ [ — o= “1 =] T r——1
- M = = =1 2 2 - ]
-] [ | 2 2 = 1 2 2
& { o= 1 s iy 2 2 g 2 3
L T I|| -] 3 43 ;4 3
S 1EE . r<t 1 s 2 I
‘--D—I:—[L 5 5 [ [ i
| T <7
12348 2 o
1
123 4 ]
N I
142 www. degson.com www.degson.com 143



ﬁ DEGSO”® Junction boX series

B/ =

*» SESFRRNGPSE,

» REMISIEOTERELINE F L R Blcablek.
o EORFSIEC 81076,

* BETASRS , IORSIARS.

o SSEEEDNLER,

Advantages / Features

o The splitter box has a high IP rating.

@ Integrate scattered electronic lines on the site into
the cable line.

# Interface conforms to IEC 61076.

© Power light is green,|O status light is yellow.

# Easy to check and maintain.

B EERBMES RS REMBEMN The coding rule of M8 connector junction box

JB—MB—DD—Q—DDD—DF

0BG Speclal coding

0035085} 00-Standards

01 ~99-FEEREL

01 ~88-Extended producis

SHERRC{TEY the number of distribution port
1 04— AT 04— ddight
Ol 06— GRS 06 - Baigh
O 08— Bfiraeiif 08 - Boight
O 10— 1044R8E 10— 10digit

H2%F Serlal Number

With Cabla

X

[ A-PVC UL2617 Black Cable
0 B-PUR UL20548 Black Cable

X0 -1M~
X98-99M
{E8®@AGR signal input method
o P-PNPEE ( EFETRAA ) Without Cable
£ N-NPNE ( TERTA ) Xl

il
1. JB-M8-04-P-00

FF 1 M8 MU SR TMI2RREN SRFEA
2. JB-M8-10-P-AD1-00

3% 1 M8 10U ERRE WIHPVCHRERE RTE@A
B : MBS R TR KR o PET

For example:
1. JB-M8-D4-P-00 exprassion: M8 4-position junction box with M12 standard interface (high level input).
2. JB-M8-10-P-A01-00 expression: M8 10-position junction box with 1 meter pve external cable{high level input).

M8 junction box all spacifications waterproof rating defaults to IPB7.

1 44 www.degson .com

ﬁ DEGSO”® Junction box series

M8 DEE 40 , THM121EHRRS , B
S ELEDMNEB LIFRETA.

M8 junction box 4 digits, with M12 connector,
self-containedGreen LED and yellow work
indicator.

% % JB-M8-04-P-00

BABIE
@R Performance parameters HHEBIE Matorial data
Ruftﬂ?mww LIS mmiul PBT
'raog‘ie u;‘i-ugant current A m& material Copper alloy
ﬁﬁ = m:nﬂm i
ﬁm&u ThtotTach M8 Female Acade 3P |EC 61076-2-104 m"hr PA
m‘a o M12 Male Acode BP |EC 61078-2-101 m“ a7 mﬂm il Copper alloy
lyl:ﬁnrzcue?m'nﬁﬁna lorque DANm1.7iLE-{n) it e e A ia matdl Copper alloy
mm T 0.4Nm(3.54Lb-In) m S Ni
mm,.m. _25-+80°C -25~+80°C mm .25-+80°C “25-+80C

“mE Productfigure

M12 22 SLABRED 8tk M8 B 3LARE 3tk
M12 Male Acode 8P M8 Female Acode 3P
M12 6,8Pin Blank

ERYT Size ERE Circuitschematic
86.6(rel.) 1 2 3 4 5
MI2PIN _ — '
R P e [ 1)
| 4 o o !
] : . . g - !
S - ‘ g | O L[| ua
= s L-_t s |la !
] oy (B (8% i
o s g gD ST MR | 3 ov
|| )| ; . . 5 i D |
| : 4 Signal
M12°1,0ﬂ\_ ] S
| = T
] ] M8 Female Acode 3P
o -
1 |
Www.degson.com 1 45



ﬁ DEGSON®

Junction boX series

M8 k& 4fu , TTEZEM , B
SELEDMEGIIFERT.

M8 junction box 4 digits, cable is optional,
self-containedGreen LED and yellow work

indicator.

BEiRMIE Technical Data

HESE Performance parameters
HEEREE
Rated CurrentVoliage

Total constant current

[ ]
1P Class

sty

Sonsor executive interface

EERmED

Main cable conngctinon
HiTEOTRES
Interface lightening torque

EERE O RS
Main cable interface tightening torque

TesRouiRE
Ambient Temperature -25~+80°C

=mB Productfigure

£ lalabee

2AI24VDC
4A

P67

MB Femala Acode 3P IEC 61076-2-104
M42Male Acode 8P IEC 61076-2-101
0.2Nm{1.77Lb-In}

0.4Nm{3.54Lb-In)

-26=+80°C

ﬁ DEGSON"

Junction box series

M8 sk & 6l , HM12iE%=. , B
SELEDMRBIIFRETRT.

npel

|21 neson

MERST Size
B6.6(ref.) L{mm)
& ;|
g L0
r;:1
T e l |l> "

1 46 wwnw,.degson.com

JB-M8-04-P-XXX-00

HHBE Material data

bt
Shell material PET
o d ItaEd
Contact material Copperalloy
St Au
Contast surface
Contact carrier A
RSO
Main cabls iifoh ‘el Coppar alloy
SBATRCE
Sansor exacutive inlerface matarial Earpmoaloy
L sveimET s o Ni
Threaded inesface surface material
THeFRs
Ambient Temperaturs -25-+80°C 2580
i N
) L)
) a LI,
{ e = oz 5
M8 S3LARED 3

M8 Female Acode 3P

HEE Circuitschematic

v +24V
Blue While Gresn Yallow Grloy Brown

1 Uy

3 ov

4 Signal

M8 SSLARED it
M8 Female Acode 3P

M8 junction box 6 digits, with M12 connector,
self-containedGreen LED and yellow work

indicator.

BREIE Technical Data

S| Performance parameters

R
Rated Current/Voltage

R
Total constant currant

DRSS
1P Class

e ED

Sensor execulive interface

TEED

Main cable connectingn
HiTWOTREE
Interface tightening lorgue

EMED S RENE
Main cable interface tightening torue

TeFiRN
Ambient Temperature -25~+80°C

“mBE Productfigure

AR

2A/24YDC

AA

P67

M8 Female Acade 3P IEC 61076-2-104
M12 Mals Acade 8P IEC 81076-2-101
0.2Nm{4.77Lb-In)

0.4Nm({3.54Lb-In)

-25~+80°C

MERS  Size

30.8(rsf )

!

JB-M8-06-P-00

WHEMIE Material data

Eea il

Shell material PBT
BERE

Contact material Sopper el
BwEm o

Contact surface

Ei 2 At PA

Contact carrier

EESMEECINE

Maln cabile connectinon material EoEmmalay
: e " Copper alloy
Threaded interface surface maleral L
TierrRm

Ambient Temperature -25~+30°C 2580

fo~ & .~
[ ) L)
.._\. 3 . i ;.J
E N
M12 23 ARID &% M8 8 3.A4850 3
M12 Male Acode BP M8 Female Acode 3P

HEIE Circuitschematic

M12-PIN ?[_-} 1 2 .3 4 & 8 5(+)

]

o ot 1 Un
2 Ja U facTx L |
(s B lll @ QB "yw_ '-'§l:ul i o
B di g S di i :
127 37 47 5T 8 | | 4| signal

M8 SE3LASEES 34
M8 Female Acode 3P

www.degsan.com 1 47



ﬁ DEGSO”® Junction boX series ﬁ DEGSO”® Junction box series

M8 SE&m 8fu , HEM12EHR=. , B
RELEDMRG LIFRETRT.

M8 o EkE 6fl , FHEY . B
SELEDMREGLIERET.

M8 junction box 8 digits, with M12 connector,
self-containedGreen LED and yellow work

M8 junction box 6 digits, cable is optional,
self-containedGreen LED and yellow work

indicator.

ACE=E

FBAMIE Technical Data

JB-M8-06-P-XXX-00

indicator.

2B

EA#IE Technical Data

JB-M8-08-P-00

8@ Performance parameters HEEE Waterial data @M Performance parameters HEBIE Material data
IR R e ERREE P
Rated Current™oliage LA Shell material PBT Rated CurrentVoltage Ll Rl Shell material PBT
L e BERIEAE BN
Total constant current b Contact material Copperalioy Total constant current 154 Contact material Cepperalioy
BhiiF e EMEE B BRE
IP Class 128y Contact surface S IP Class JE8Y: Caontact surface L
fERETED - ERAEES ERBLEED o g SEE At
S o live B M8 Female Acode 3PIEC 61076-2-104 Coniaat oiie PA icngiter S M8 Female Acode 3P |EC 61078-2-104 ol st oairiur PA
ot dm] oo m ) RO CEERSETIE
e el M12Mals Acode 8P IEC 61076-2-101 A e Copper alloy R e arr M12 Male Acode BP IEC 61076-2-101 e il Copper alloy
HTEOFRRE | SfrEOEE IO RRE
Interface tightening torque Ll A ARLE Sansor exaculive intarface material Eopparaloy Interface tightening lorque D3Rk AeLE ) Sensor execulive inferface matarial Soppealay
SRR T SRS i R MO RIS
ek " 0.4Nm(3.54Lb-In) i h Ni s e e 0.4Nm(3.54Lb-In) Ni
I IAERERE Iesrisimm
Ambient Temperatura -25~+80°C -26~+80°C Ambient Temperaturs -25~+80°C 2380 Ambiant Temperature -25~+80°C -25~+80°C Ambient Temperature -25—+80°C “25-+80C
“mE Productfigure “mE Productfigure
20N /~
L 1. . 3 s '-\\'u /
i ': ) Lo |I |
Y g i~ / - K
E / = X
M8 LA 3 M12 23 3LAB 815 M8 B LA 3tk
M8 Female Acode 3P M12 Male Acode B8P M8 Female Acode 3P

M12 11,12Pin Blank

WERT Size EEEE Circuitschematic ERYT Size ERE Circuitschematic
106.6(ref.) L{mm)
. 128.8(ref.)
i 6|:MB mwt‘ = ' g|v White Grean Yellow Gray Pink R I:I;rzuiv
":J_. (L . 1 " _n- — ug te Green ray nl Cl n o = { .
e L] L, (&) ﬁJ © | A O SO . = B =0« A mzenZ)3 4 2 8 8 8 7 PO
loce | Hid414 | [ ; oropnp @ <1 [
OSSN0 o L9 =
- \ = |__4 in PRI 4 [l4 L =" | © |
) 6™y 6 [ [ F S 3 oV Lo g
) € 68 6 & ¢ 3) €5 3 I & || 2
_ 1 i J 7 5 B 4 Signal ) i‘j a 8 4 Signal
2 L) o | 18 it
| H M8 B SLAISES 33 L M8 B:LARED 3
M8& Female Acode 3P M8 Female Acode 3P
148 Www.degson.com ww,degson.com149



ﬁ DEGSON*

Junction boX series

M8 k& 8fu , TTEZEM , B
SELEDMEGIIFERT.

M8 junction box 8 digits, cable is optional,
self-containedGreen LED and yellow work

indicator.

HiREIE Technical Data

HR@E Performance parameters

R R
Rated Current/Voltage

R
Total constant current

HP S
IP Class

femarthiTiEn

Sensor executive inlerface

TEMED

Maln cable connectingn
CHTRIEE

Interface tightening torque

e mi

Main cable interface fightening torue

Iieer R

Ambient Temperature -25~+80°C

RE Productfigure

AT O

2A/24VDC
4A

IPBT

M8 Female Acods 3P IEC 61076-2-104
M12 Mals Acade 8P |EC 81078-2-101
0.2Nm{1.77Lb-In)

0.4Nm({3.54Lb-In)

-25=+B0°C

JB-M8-08-P-XXX-00

HEBIE Material data

srFesie

Shell material

e

Contact material

EhtEE

Contact surface

Contact carrier

EAHECHE

Main cable connectinon material
HUTHOIAE

Sensor execulive inlertaca matarial
el

Threaded interface surface matedal

TEFSRRE
Ambient Temperature -25~+80°C

SMERST  Size

126.8(rel) L{mm)

B-MB"1.0-,

30.6{ref.)

18.0

1 50 wwnw,.degson.com

PET
Copper alloy
Au
PA
Copper alloy
Copper alloy
MNi
«25-+80T
'/’. { _“| b
4 ot
[~ & —
OS]
'-.‘\‘—’3 T~
.-‘F.
MB BLALH 3
M8 Fermale Acode 3P

EEEE Circuit schematic

+z24v

ov
Blue White Green Yellow Grey Pinl\ Rod Black Violet Brown

LT i

1
Hé l J: . ‘o Il%ﬂ:l 9" IHq ié_vi o

31 -|\

T

o
-

Signal

MB 8 SLASD 3t
M8 Female Acode 3P

ﬁ DEGSON"

Junction box scries

M8 o ® 10fi , THM12ERe] , B
SELEDMRBIIFRETRT.

M8 junction box 10 digits, with M12 connector,

self-containedGreen LED and yellow work

indicator.

BEREIE Technical Data

13668 Performance parameters

R
Rated CurreniMVoltage

AR

Total constant current
Gy

1P Class

(e a0

Sensor execulive interface

Ea-t i)

Main cable oonnooﬂnan
HITEOTRAE
lnlarracetiohlonina lorgus

SEERMNIED SRS
Main cabls interface tightening tonue

TR
Ambient Temperature -25~+80"C

FmBE Productfigure

AR

1.5A26VDC

154

IPBT

M8 Female Acade 3P IEC 61076-2-104
M12 Male Acode 8P IEC B1078-2-101
0.2Nm(1.77Lb-In}

0.4Nm(3.54Lb-In)

-25=+80°C

WMERS  Size

146.6(rof.)

30.6(ref.)

JB-M8-10-P-

WHEHMIE Material data

SFHE

Shell material

R

Contact material

S

Cantact surface

Contact carrier
EERNEECIME

Main cable connectinon material
bt (m s

Sensor exaculive inlarface material

00

PBT

Copper alloy
Au

PA

Copper alloy
Copper alloy
Ni

-25~+B80C

/ -
okle)
\ g ]
M12 £x3LASIES 8T M8 BEELASE 3
M12 Male Acode 8P M8 Female Acode 3P
rcuit schematic
HEIE Circuitsch i
mz-_Pm_ZII'J's 4 6 8 5 8 T 10 1 121
e s i e P
i 1 4 EEER
| }4 ﬂa a Tl _.4'_14 Ta lla Ta || 3] ov
DG e G R G B B |
s el ik ) Cione i e i I
||esararso1ui45‘.ignal
M8 8 LA 3
M8 Female Acode 3P

www.degsan.com 1 51



ﬁ DEGSON"

Junction boX series

M8 o= 10fu , Miwedl , B
SELEDMREGLIERET.

M8 junction box 10 digits, cable is optional,
self-containedGreen LED and yellow work
indicator.

£ [48- 5 Pl |

FBAMIE Technical Data

8 #E Performance parameters

TR e wasitige 18A724VDC

Total constant current it

m P87

gﬂm‘ﬂ“ A ME Female Acode 3P IEC 61076-2-104
m E e M12 Mals Acode 8P IEC 61076-2-101
maﬁgﬁﬁnn ey 0.2Nm{1.77Lb-1n)
meﬁmwm o 0.4Nm(3.54Lb-1n)

IfespEmE

Ambient Temperature -25~+80°C

~26~+80°C

@B Productfigure

JB-M8-10-P-XXX-00

HEEE Material data

Rz FA o ik

DEGSON Ef 2 BTHEA. TUBm. BoPRE. G, NExE. BiNeE. iR
ERSENEEEN. JENESERNREP.

FIELD OF APPLICATION

DEGSON connectors are widely used in robot, industrial automation, CNC equipment, textile machinery,
rail transit, monitor and control unit, energy, communicate and so on various equipments requiring

electrical, date and signal connection.

ZiERA

Bz

Transportation CNC equipment

technology

MBRYT Size
146.6(ref.) L{mm)
10MB1.0-
” JeleloUelo |
z Lo B 5o om 2oe B e
letereneneny o
o ]_]4

1 5 2 WWW.degson.com

Elatad
Shell material PET
M
Contact material Copparalcy
SMEE Au
Contact surface
SRR PA
Contact carrier
e L A Gosperater
HfEOTE
Sensor executive inlarface matarial Copparaloy
IR R Ni
Threaded inferface surface material
TfFEREmeE
Ambient Temperaturs -25~+80°C 25~+80T
I_Ir {{ S ki
—A .\'». o -
||_':‘,. | I
5 M8 LA 3
M8 Female Acode 3P

HBEE Circuitschematic

o +24V
Blue While Green Yellow Grey Pink FRed Black Violel GreyPin RatBua Brown

a4 a4 &4 & e i
i ‘[r i 'f ‘f ;
: e Qe Hs Hao He Ha R |3 OV
§2 @3 €5 €8 @8 Go €8 |
41 ol el - I:] 91 ml : 4 Signal
PR J

1 Uy

M8 £ LA 3tk
M8 Female Acode 3P

HhiE3zE

Rail transit

BEIR
Energy

WS

Monitor and
control unit

TirEaME

Industrial automation

A
Robot




DEGSON’ \REIRINFHARNEEY , FRHINADNSNRNYE , BRBES>
RESBRIIMRIBHR , ALFRAIFIREL AR RS

1, BEEF®K  EFEFNANER. SUNEEMRER.
2, REFRPHLFTRERRN—IVEL , BRRE, SENHMREERR.

3, By WEAWER  AOBRETRAR. £7. MREANEADLESEESATLRE
FRARNER  REELARERNTERSR.

4, ZHERY| , 2ERASROFRRFRR  SIRRERERNXIR AR AR,
5. E#ETRE , XMARORSFIR.

6. ASFARMESFENRBRIPBLTER. WEOS "AERE—1TH#R" .

7. FTEIE  FTREME. FEA . BIETORRMR™ MR,

ENVIRONMENTAL POLICY

DEGSON realizes system regulation without lead in 2005 and has been granted ISO14001 in

2006. All the products conform to the European ROHS requirement.

DEGSON realizes the importance to protect environment resources, selfconsciously

meets environment protection requirements for products and regardsit as the responsibility.

Thus, we have made the following environment strategic policy :

1. To meet customers‘demands and obey the national and local laws and regulations
as well as other environmental protection requirements.

2, Take environmental protection as one criterion for continuing development of our
company. Insist on fully development of quality, benefit and environ mental protection.

3, Fully considering the factors which will influence the environment in the processes of
product development, manufacturing, material usage and waste processing, establish
management system of waste in order to improve the environment of our company.

4. To increase the employees’ consciousness of environmental protection through
training and to realize the continuing improvement of environment management system
and the ability of environmental protection.

5. To make full use of resources and to decrease consumption of material in order to save
energy.

6. To promise to our partners and society that we will make contribution to environment
protection. There is only one Earth for our humanity.

7. To strive for making conservation-oriented and environment-friendly products
through continuous innovation and developing new materials and technology.

COMPLIANT

X




	M12
	圆形M12详细中文2019_页面_01
	圆形M12详细中文2019_页面_02
	圆形M12详细中文2019_页面_03
	圆形M12详细中文2019_页面_04
	圆形M12详细中文2019_页面_05
	圆形M12详细中文2019_页面_06
	圆形M12详细中文2019_页面_08
	圆形M12详细中文2019_页面_09
	圆形M12详细中文2019_页面_10
	圆形M12详细中文2019_页面_11
	圆形M12详细中文2019_页面_12
	圆形M12详细中文2019_页面_14
	圆形M12详细中文2019_页面_15
	圆形M12详细中文2019_页面_16
	圆形M12详细中文2019_页面_17
	圆形M12详细中文2019_页面_19
	圆形M12详细中文2019_页面_20
	圆形M12详细中文2019_页面_21
	圆形M12详细中文2019_页面_22
	圆形M12详细中文2019_页面_23
	圆形M12详细中文2019_页面_24
	圆形M12详细中文2019_页面_25
	圆形M12详细中文2019_页面_26
	圆形M12详细中文2019_页面_27
	圆形M12详细中文2019_页面_28
	圆形M12详细中文2019_页面_29
	圆形M12详细中文2019_页面_30
	圆形M12详细中文2019_页面_31
	圆形M12详细中文2019_页面_32
	圆形M12详细中文2019_页面_33
	圆形M12详细中文2019_页面_34
	圆形M12详细中文2019_页面_35
	圆形M12详细中文2019_页面_36
	圆形M12详细中文2019_页面_37
	圆形M12详细中文2019_页面_38
	圆形M12详细中文2019_页面_39
	圆形M12详细中文2019_页面_40
	圆形M12详细中文2019_页面_41
	圆形M12详细中文2019_页面_42

	M5
	圆形M5详细中文目录2019_页面_01
	圆形M5详细中文目录2019_页面_02
	圆形M5详细中文目录2019_页面_03
	圆形M5详细中文目录2019_页面_04
	圆形M5详细中文目录2019_页面_05
	圆形M5详细中文目录2019_页面_06
	圆形M5详细中文目录2019_页面_07
	圆形M5详细中文目录2019_页面_08
	圆形M5详细中文目录2019_页面_09
	圆形M5详细中文目录2019_页面_10

	M8
	圆形M8详细中文目录2019_页面_01
	圆形M8详细中文目录2019_页面_02
	圆形M8详细中文目录2019_页面_03
	圆形M8详细中文目录2019_页面_04
	圆形M8详细中文目录2019_页面_05
	圆形M8详细中文目录2019_页面_06
	圆形M8详细中文目录2019_页面_07
	圆形M8详细中文目录2019_页面_08
	圆形M8详细中文目录2019_页面_09
	圆形M8详细中文目录2019_页面_10
	圆形M8详细中文目录2019_页面_11
	圆形M8详细中文目录2019_页面_12
	圆形M8详细中文目录2019_页面_13
	圆形M8详细中文目录2019_页面_14
	圆形M8详细中文目录2019_页面_15
	圆形M8详细中文目录2019_页面_16
	圆形M8详细中文目录2019_页面_17
	圆形M8详细中文目录2019_页面_18
	圆形M8详细中文目录2019_页面_19

	圆形分线盒+分配器2019
	圆形分线盒+分配器2019_页面_1
	圆形分线盒+分配器2019_页面_2
	圆形分线盒+分配器2019_页面_3
	圆形分线盒+分配器2019_页面_4
	圆形分线盒+分配器2019_页面_5
	圆形分线盒+分配器2019_页面_6
	圆形分线盒+分配器2019_页面_7
	圆形分线盒+分配器2019_页面_8
	圆形分线盒+分配器2019_页面_9

	圆形
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42

	66-67.pdf
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42

	78-79.pdf
	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42


